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The New York City Department of Education
2022 Specialized High School Admissions Test

GENERAL DIRECTIONS

Student Name:

Identifying Information
Turn to Side 1 of the answer sheet.

Notify the proctor immediately if you are ill or should not be taking this test. Do not sign the
statement or begin the test. Return your answer sheet to the proctor.

Line 1: Read the statement and sign your name in the space following the word “signature.” Do not print your
name.

Line 2: Print today’s date, using the numbers of the month, the day, and the year.

Line 3: Print your birth date with the number of the month first, then the number of the day, then the last
two digits of the year. For example, a birth date of March 1, 2005, would be 3-1-05.

Grid 4: Print the letters of your first name, or as many as will fit, in_the boxes. Write your name exactly as you
did on the application. If you have a middle initial, print it in the box labeled "ML.” Then print the letters of your
last name, or as much.as will fit, in the boxes provided. Below each box, fill in the circle that contains the.same
letter as the box. If there is a space or a hyphen in your name, fill in the circle under the appropriate blank or
hyphen.

Make dark marks that completely fill the circles. If you change a mark, be sure to erase the first mark
completely.

Grid 5:
17 Print the name of the school where you are now enrolled in the space at the top of the grid.

2. In the boxes marked "SCHOOL CODE,” print the six-digit code that identifies your. school and fill in the circle
under the corresponding number or letter for each digit of the school code. (You-can find your school code on
your Test Ticket. If it is not there, tell'the proctor, and the proctor will get the school code for you.)

3. If you attend a private or parochial school, fill in the circle marked “P.”

Grid 6: Complete the grid with your date of birth. Print the first three letters of the month in the first box, the
number of the day in the next box, and the year in the last box. Then fill in the corresponding circles.

Grid 7: Print your student ID number in Grid 7. You can find your student ID number on your Test Ticket. In the
boxes, print your nine-digit student ID number. Below each box, fill in the circle containing the same number as
in the box.

Grid 8: In most cases, Grid 8 is already filled in for you. If it is not, copy the letter and numbers shown in the
upper-right corner of your test booklet into the boxes. Below each box, fill in the circle containing the same letter
or number as the box.

Now review Side 1 to make sure you have completed all lines and grids correctly. Review each column to see that
the filled-in circles correspond to the letters or numbers in the boxes above them.

Turn your answer sheet to Side 2. Print your test booklet letter and numbers, and your name, first name first, in
the spaces provided.

DO NOT OPEN THIS BOOKLET
UNTIL YOU ARE TOLD TO DO SO.

TURN YOUR BOOKLET OVER TO THE BACK COVER.

START SHSAT PREP
FORM B 736 CONTINUE ON TO THE NEXT PAGE »



https://forms.gle/LCqeV3kU5Soktn9D9



GENERAL DIRECTIONS, continued

Marking Your Answers

Mark each of your answers on the answer sheet in the row of circles corresponding to the question number printed
in the test booklet. Use only a Number 2 pencil. If you change an answer, be sure to erase it completely. Be
careful to avoid making any stray pencil marks on your answer sheet. Each question has only one correct answer.
If you mark more than one circle in any answer row, that question will be scored as incorrect.

SAMPLE ANSWER MARKS
® © @ RIGHT
8 WRONG
® X WRONG
® WRONG
® ® O wronNG

You can use your test booklet or the provided scrap paper to take notes or solve questions; however, your answers
must be recorded on the answer sheet in order to be counted. You will not be able to mark your answers on
the answer sheet after time is up, and answers left in the test booklet will not be scored.

DO NOT MAKE ANY MARKS ON YOUR ANSWER SHEET OTHER THAN FILLING IN YOUR ANSWER CHOICES.

00O
CRCRC)

Planning Your Time

You have 180 minutes to complete the entire test. How you allot the time between the English Language
Arts and Mathematics sections is up to you. If you begin with the English Language Arts section, you may. go
on to the Mathematics section as soon as you are ready. Likewise, if you begin with the Mathematics section, you
may go on to the English Language Arts section as soon as you are ready. If you complete the test before the
allotted time (180 minutes) is over, you may go back to review questions in either section.

Be sure to read the directions for each section carefully. Each question has only one correct answer. Choose the
best answer for each question. When you finish a question, go on to the next, until you have completed the last
question. Your score is determined by the number of questions you answer correctly. Answer every question,
even if you may not be certain which answer is correct. Don’t spend too much time on a difficult question.
Come back to it later if you have time. If time remains, you should check your answers.

Students must stay for the entire test session.
DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO
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PART 1 — ENGLISH LANGUAGE ARTS

57 QUESTIONS

REVISING/ EDITING
QUESTIONS 1-10 (PART A AND PART B)

REVISING/EDITING PART A

DIRECTIONS: Read and answer the following questions. You will be asked to recognize and correct
errors so that the sentences or short paragraphs follow the conventions of standard written English.
You may write in your test booklet as needed to take notes. You should reread relevant parts of the
sentences or paragraphs, while being mindful of time, before marking the best answer for each
question.

1. Read these sentences.

(1) Flyby missions near Jupiter have been happening since 1973.

(2) Flyby missions allow scientists to collect data about Jupiter and its moons.

What is the.best'way to combine the sentences to clarify the relationship between the ideas?
A. While flyby missions near Jupiter have been happening since 1973, scientists collect data
about the planet and its moons.

B. Although there have been flyby missions near Jupiter since 1973, they‘have allowed
scientists to collect data about the planet and its moons.

C. Flyby missions near Jupiter, which allow scientists to collect data about the planet and its
moons, have been happening since 1973.

D. Flyby missions have been happening near Jupiter, but scientists have been collecting data
about the planet and its moons since 1973.
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4. Which pair of revisions needs to be made in this paragraph?

(1) Both Italian gelato and American ice cream are delightful treats to have on a hot summer
day, but many people wonder: what is the difference between the two? (2) To start with, the
butterfat content is much higher in ice cream than it is in gelato, making the Italian treat a
wiser decision for people looking to make healthier choices. (3) Additionally, the mixing
process, which adds less air to the frozen treat, makes gelato denser than ice cream.

(4) Finally, gelato is served 10 to 15 degrees warmer than ice cream, which enhances the
texture and flavor of the gelato, and allow it to melt more quickly.

Sentence 1: Delete the colon after wonder AND change is to are.
Sentence 2: Delete the comma after with AND change it is to they are.

Sentence 3: Delete the comma after process AND change makes to make.

T omm

. Sentence 4: Delete the comma after gelato AND change allow to allows.
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REVISING/EDITING PART B

DIRECTIONS: Read the text below and answer the questions following it.. You will be asked to
improve the writing quality of the text and to correct errors so that the text follows the conventions of
standard written English. You should reread relevant parts of the text, while being mindful of time,
before marking the best answer for each question.

Martial Arts for the Mind and Body

(1) The martial arts blend a series of physical movements with strategic mental discipline so that
practitioners can defend themselves, physically defeat an opponent, or both. (2) Historians are
unsure of exactly when and where martial arts were first used. (3) Martial arts have been practiced
by several different societies for many centuries. (4) Martial arts such as karate, kung fu, tae kwon
do, and judo are still taught and practiced as methods of self-defense, but they offer students more
than that. (5) The study of martial arts can provide students with a way to enhance their mental
discipline as well as their physical fitness.

(6) Discipline, focus, and respect are important qualities for everyone to have. (7) However, for
most people these qualities are not innate; they must be learned and practiced. (8) The study of
martial arts can provide an-opportunity to develop these skills.. (9) Students are rewarded for their
dedication by passing tests and advancing to higher levels. (10) For example, in a typical tae kwon
do class, students learn discipline by diligently practicing moves, improve focus by listening
carefully, and demonstrate respect by bowing to the instructor and following directions.

(11) For teenagers, martial arts classes provide a safe and structured environment for gaining
physical skills, building confidence, and enjoying a sense of community. (12) A lot of teens go
through hard situations as they try to do wellin.school and in life. (13) A karate class can provide
teens with a physical outlet for stress while also challenging them mentally. (14) Participating in a
martial arts program also helps children and teens focus on self-improvement rather than on
competition. (15) Progressing through levels of achievement involves mastering more physically
demanding techniques. (16) It requires students to take responsibility and be accountable for
achieving set goals. (17) Students gain confidence and experience companionship with other
students who are progressing through the ranks.

(18) Adults who practice martial arts can experience many of the same benefits that younger people
do, but perhaps the greatest of these is health and fitness. (19) Adult martial arts students often
see changes in their body within weeks of beginning a program.

(20) For people interested in studying a martial art, there are many ways to learn and practice.
(21) In addition to private studios, community recreation centers often offer low-cost or free martial
arts classes. (22) There are even online videos that introduce students to the basic concepts.

(23) People should study martial arts.
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5. What is the best way to combine sentences 2 and 37

A. Historians, who are unsure of exactly when and where martial arts were first used, know that
martial arts have been practiced by several different societies for many centuries.

B. While historians are unsure of exactly when and where martial arts were first used, they do
know that martial arts have been practiced by several different societies for many centuries.

C. Because historians know that martial arts have been practiced by several different societies
for many centuries, they are unsure of exactly when and where martial arts were first used.

D. Martial arts have been practiced by several different societies for many centuries, and
historians are unsure of exactly when and where martial arts were first used.

6. Where should sentence 10 be moved to improve the organization of the second paragraph
(sentences 6-10)?

E. to the beginning of the paragraph (before sentence 6)

F. between sentences 6 and 7

G. between sentences'7 and 8
H

. between sentences 8 and 9

7. Which revision of sentence 12 best maintains the formal style established in the passage?

A. A lot of teens have to put up with difficult things while trying to do well in school and in life.

B: ‘Many teenagers deal with tough situations as they try to stay on top of their studies and do
well in life.

C. Many teenagers encounter challenges as they work to succeed both academically
and personally.

D. A lot of teens face problems as they work to keep up with their schoolwork and find
personal success.

8. Which transitional phrase should be added to the beginning of sentence 17?

Over time
In fact

Even so

I omm

For instance
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READING COMPREHENSION
QuUESTIONS 11-57

DIRECTIONS: Read each of the following six texts, and answer the related questions. You may write
in your test booklet as needed to take notes. You should reread relevant parts of each text, while
being mindful of time, before marking the best answer for each question. Base your answers only on
the content within the text.
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Wolves of the Sea

The cool and misty landscape of the Great Bear Rainforest can be found along the coast of British
Columbia, Canada, and its nearby islands, from Vancouver Island to the Alaskan border. Within
this protected area, wolves roam the forests, islands, and beaches. When biologist Chris Darimont
began to study these wolves, he wanted to confer with local First Nations groups, as aboriginal
Canadians are known, in order to learn what they knew about these wolves. He spoke with
Chester Starr, an elder of the Heiltsuk Nation that has occupied the Great Bear Rainforest for
thousands of years. What Starr had to say about the wolves changed Darimont’s perception of
the animals.

2 Starr asked Darimont which wolves he and his team were going to study—the timber wolves
(mainland wolves) or the coastal wolves on the islands. The question took Darimont by surprise.
Biologists had always believed that the wolves that are sometimes spotted swimming between
islands and eating salmon are the same wolves that live on the mainland. Darimont was intrigued
by Starr’s classification of the wolves as two different groups. At first, he was hesitant to accept
the idea. The distances between the mainland and the islands are small, less than a mile. Why
would the wolves on the islands be any different from the wolves on the mainland? To find out,
Darimont and his research team studied the wolves on the islands and in the densely forested
territory of the Great Bear Rainforest for ten years.

3 Throughout the study, Darimont recorded several significant, observable differences between the
“sea wolves,” as-they are nicknamed, and the mainland wolves. Compared with the mainland
wolves, the sea wolves are smaller in size and are strong swimmers. In 1996 sea wolves were
spotted on_ an island nearly eight miles from any other land formation. While mainland wolves
almost exclusively eat meat, such as deer and elk, and teach their young to hunt for land animals,
sea wolves get as much as 90 percent of their nutrition from the sea and teach their young to dig
for clams and to catch fish. Sea wolves regularly swim between islands and-have been known to
sneak up on a seal sunning itself on a rock and make a leaping attack from the water. Some
salmon-eating mainland wolves come and go from the islands with the fish-spawning season, but
the sea wolves are full-time island residents. Darimont suspects that some sea wolves live their
entire life on the islands.

4 The sea wolves displayed not only physical and behavioral differences but also genetic variations
from the mainland wolves. After collecting and analyzing the DNA in 800 samples of gray fur and
wolf waste, researchers could produce hard biological evidence that sea wolves had genetic
markers that made them distinct from the mainland wolves. A genetic marker is a variation in a
DNA sequence that can be used to identify individuals or a species because it is passed down to
offspring. Darimont hypothesizes that a change in habitat led to the eventual genetic differences
between sea wolves and mainland wolves. Many years ago, loss of habitat and food sources
forced some mainland wolves out to the islands. They learned to eat everything from kelp and fish
eggs to the remains of sea creatures that washed up on the beach. Wolves living on the islands
and mainland wolves became more isolated and rarely mated with each other. Over time the two
types of wolves became more distinct.

5 It turned out that Chester Starr was right all along. “It sounded totally bizarre at first,” admits
Darimont, “that there could be two versions of the species.” But he now realizes that this
skepticism “definitely reflected my ignorance of indigenous knowledge at the time.” Learning to
trust the wisdom of the Heiltsuk people opened Darimont up to knowledge accumulated over
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millennia and positioned him so that he.could gather new scientific evidence about one of British
Columbia’s most elusive species, the sea wolf.

11. The details in paragraph 1 contribute to a central idea of the passage by showing that Darimont

A.

believed the Great Bear Rainforest was an ideal location to study wolves in their natural
habitat because it is a protected area.

values different perspectives, because the information that Starr provided influenced the
focus of Darimont’s research.

thought the Great Bear Rainforest would provide opportunities to study different groups of
wolves because the area includes forests and islands.

. understands the importance of respecting local community members, because Darimont

sought permission from an elder of the Heiltsuk Nation before starting his research.

12. Why does the author include details about the conversation between Starr and Darimont in
paragraph 2?

to explain why Starr had closely observed the relationship between the two groups of wolves
Darimont wanted to study

to show that Darimont was hoping to work with Starr and to study both groups of wolves in
the area

to highlight that Darimont was unfamiliar with the area and expected Starr to help him find
wolves to study

.. to emphasize that the question asked by Starr caused Darimont to review his initial

assumption about the wolves

13. Read this sentence from paragraph 4.

After collecting and analyzing the DNA in 800 samples of gray fur and wolf waste,
researchers could produce hard biological evidence that sea wolves had genetic
markers that made them distinct from the mainland wolves.

The phrase “hard biological evidence” conveys that the goal of the research team was to

A.

develop a procedure in order to ensure their study yielded plentiful data about the wolves.

B. seek definitive scientific proof of the number of wolf species present in the area of the study.
C.
D. discover if the new data would provide information different from that of previous studies.

conduct a study to evaluate multiple theories about the diets of different wolf species.
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14. The author uses the word “admits” in paragraph 5 most likely to

note that Darimont’s genetic research verified a theory based solely on field observations.

imply that Darimont’s study was disappointing because the conclusion that he reached was
not original.

emphasize that Darimont’s study ultimately confirmed an idea that he had initially doubted.

. highlight that Darimont’s results led him to draw a conclusion from his research that his team

did not agree with.

15. Which sentence from the passage best supports the idea that sea wolves had successfully
adapted to living on the islands?

A.

“"While mainland wolves almost exclusively eat meat, such as deer and elk, and teach their
young to hunt for land animals, sea wolves get as much as 90 percent of their nutrition from
the sea and teach their young to dig for clams and to catch fish.” (paragraph 3)

. "Sea wolves regularly swim between islands and have been known to sneak up on a seal

sunning itself on a rock and make a leaping attack from the water.” (paragraph 3)

“Darimont suspects that some sea wolves live their entire life on the islands.” (paragraph 3)

. “Darimont hypothesizes that a change in habitat led to-the eventual genetic differences

between sea wolves and mainland wolves.” (paragraph 4)

16. How did a change in habitat most affect the wolf population of the Great Bear Rainforest

over time?

E. It caused some of the wolves to learn new hunting techniques in order to catch increasingly
scarce prey.

F. It caused the wolves to form smaller packs and eventually separate, establishing distinct
territories.

G. It caused some of the wolves to gradually become a new, genetically distinct species as they
adapted behaviorally.

H. It caused the wolves to adapt their diet as different food sources became available in

the area.
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In 1903 brothers Wilbur and Orville Wright conducted various experiments related to flying
machines. These experiments would-eventually lead to air travel becoming a reliable form of
transportation.

Excerpt from “"How We Made the First Flight”

by Orville Wright

1 During the night of December 16, 1903, a strong cold wind blew from the north. When we arose
on the morning of the 17th, the puddles of water, which had been standing about camp since the
recent rains, were covered with ice. The wind had a velocity of 10 to 12 meters per second (22 to
27 miles an hour). We thought it would die down before long, and so remained indoors the early
part of the morning. But when ten o’clock arrived, and the wind was as brisk as ever, we decided
that we had better get the machine out and attempt a flight. We hung out the signal for the men
of the Life Saving Station.! We thought that by facing the flyer into a strong wind, there ought to
be no trouble in launching it from the level ground about camp. We realized the difficulties of
flying in so high a wind, but estimated that the added dangers in flight would be partly
compensated for by the slower speed in landing.

Final Preparations

2 We laid the track on a smooth stretch of ground about one hundred feet north of the new building.
The biting cold wind made work difficult, and we had-to warm up frequently in our living room,
where we had-a good fire in an improvised stove made of a large carbide? can. By the:time all
was ready, J. T. Daniels, W. S. Dough and A. D. Etheridge, members of the Kill Devil® Life Saving
Station; W. C. Brinkley of Manteo, and Johnny Moore, a boy from Nags Head,? had arrived.

3 We had a “Richard” hand anemometer with which we measured the velocity of the wind.
Measurements made just before starting the first flight showed velocities of 11 to 12 meters per
second, or 24 to 27 miles per hour. . ..

Audacity—and Calculation

4 Wilbur having used his turn in the unsuccessful attempt on the 14th, the right to the first trial now
belonged to me. After running the motor a few minutes to heat it up, I released the wire that held
the machine to the track, and the machine started forward in the wind. Wilbur ran at the side of
the machine, holding the wing to balance it on the track. Unlike the start on the 14th, made in a
calm, the machine, facing a 27-mile wind, started very slowly. Wilbur was able to stay with it till it
lifted from the track after a forty-foot run. One of the Life Saving men snapped the camera for us,
taking a picture just as the machine had reached the end of the track and had risen to a height of
about two feet. The slow forward speed of the machine over the ground is clearly shown in the
picture by Wilbur’s attitude. He stayed along beside the machine without any effort.

1Life Saving Station: one of the rescue stations along the Atlantic coastline that provided
assistance to mariners in distress

2carbide: a very hard material composed of carbon and other heavy metals
3Kill Devil: the town of Kill Devil Hills in eastern North Carolina

4Nags Head: a town in easfermNorthCarotina
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Flight

5 The course of the flight up and down was exceedingly erratic, partly due to the irregularity of the
air, and partly to lack of experience in handling this machine. The control of the front rudder was
difficult on account of its being balanced too near the center. This gave it a tendency to turn itself
when started; so that it turned too far on one side and then too far on the other. As a result the
machine would rise suddenly to about ten feet, and then as suddenly dart for the ground. A
sudden dart when a little over a hundred feet from the end of the track, or a little over 120 feet
from the point at which it rose into the air, ended the flight. As the velocity of the wind was over
35 feet per second and the speed of the machine over the ground against this wind ten feet per
second, the speed of the machine relative to the air was over 45 feet per second, and the length
of the flight was equivalent to a flight of 540 feet made in calm air. This flight lasted only
12 seconds, but it was nevertheless the first in the history of the world in which a machine
carrying a man had raised itself by its own power into the air in full flight, had sailed forward
without reduction of speed and had finally landed at a point as high as that from which it started.

From “How We Made the First Flight” by Orville Wright—Public Domain/Federal Aviation
Administration

17. How does paragraph 1 introduce the idea that the Wright brothers knew that their flight attempt
was risky?

A. through the mention of a signal to notify lifesaving experts that the flight attempt was about
to begin

B. by providing specific details about the speed of the wind and the Wright brothers’ response to
the windy conditions

C. by suggesting that a slower landing would be necessary at the end of the flight in order to
maintain safety

D. through the indication that the Wright brothers waited indoors for most of the morning
because of the poor weather

START SHSAT PREP

FORM B 151 CONTINUE ON TO THE NEXT PAGE »


https://forms.gle/LCqeV3kU5Soktn9D9



18. Read this sentence from paragraph 4.

Wilbur having used his turn in the unsuccessful attempt on the 14th, the right to
the first trial now belonged to me.

The sentence contributes to the development of ideas in the excerpt by

E. demonstrating the challenge of the extreme winter conditions during the flight.

F. revealing how many tries it took for Wilbur Wright to finally get the machine to take flight.

G. demonstrating that both Orville and Wilbur Wright were eager to pilot what could potentially

be the first flight.

suggesting a sense that both brothers felt confident they would soon succeed in completing
the first flight.

19. The photograph mentioned in paragraph 4 is significant because it

A.
B. provides proof of the critical moment the machine took flight.

C.

D. provides proof that the pilot had to gradually increase the height of the plane in the air.

documents that the machine rose into the air as soon as the tethering wire was released.

documents that the wind reduced the speed of the plane at the start of the flight.

20. How do.the details in paragraph 5 about the uneven nature of the flight convey a central idea of
the excerpt?

E.

by explaining how the flawed design of the machine caused it to turn unpredictably in the air
and brought the first flight by a-person to an abrupt end

by indicating that the difficulty in controlling the flight was caused by the rudimentary
instruments of the machine and the inexperience of the pilot

by explaining how the pilot and the plane overcame adverse conditions in order to complete
the first piloted flight

. by indicating that the gradual change in wind velocity created an extreme environment in

which to maneuver the plane and maintain its flight
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21. Read this sentence from paragraph 5.

22,

23.

As the velocity of the wind was over 35 feet per second and the speed of the
machine over the ground against this wind ten feet per second, the speed of the
machine relative to the air was over 45 feet per second, and the length of the
flight was equivalent to a flight of 540 feet made in calm air.

How does the sentence help convey Orville Wright's perspective about this first flight?

oo @

It suggests that he was frustrated by the poor flying conditions on the day of the flight.
It emphasizes that he believed the flight was successful despite its short distance.

It provides a comparison between flight distances under calm and high wind conditions.

. It highlights the importance of such calculations in the success of future flights.

Read this sentence from paragraph 5.

A sudden dart when a little over a hundred feet from the end of the track, or a
little over 120 feet from the point at which it rose into the air, ended the flight.

How does the sentence contribute to the paragraph?

Iomm

It details the need for the pilot to have quick reflexes while flying the machine.
It presents the idea that the difficulty of operating the machine shortened the flight.

It describes the shift in wind speed that'made flying nearly impossible.

. It provides an overview of the flight's progression from takeoff to landing.

Read this sentence from paragraph 5.

This flight lasted only 12 seconds, but it was nevertheless the first in the history
of the world in which a machine carrying a man had raised itself by its own power
into the air in full flight, had sailed forward without reduction of speed and had
finally landed at a point as high as that from which it started.

The words “only,” “nevertheless,” and “finally” most clearly convey the idea that

A.

even a flight of such minor duration had taken a long time to achieve.

B. the short flight gave the Wright brothers hope for longer ones in the future.

C. the flight proved that the machine was, at last, capable of becoming airborne.

D.

although it was brief, the flight was a remarkable accomplishment.
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In this excerpt, published in 1914, author and professor Dallas Lore Sharp describes a summer
cattle roundup in Oregon. The heat-and dust had been relentless for three days. The cowboys
were exhausted, and the cattle were restless. The ranch boss, Wade, had led the drive to a
watering place, only to find it empty.

Excerpt from “The Spirit of the Herd”

by Dallas Lore Sharp

1 Along with the wagon had come the fresh horses—one of them being Peroxide Jim, a supple,
powerful, clean-limbed buckskin, a horse, I think, that had as fine and intelligent an animal-face
as any creature I ever saw. Wade had been saving this horse for emergency work. And why
should he not have been saved fresh for just such a need as this? Are there not superior horses as
well as superior men—a Peroxide Jim to complement a Wade?

2 The horse knew the cattle business and knew his rider perfectly; and though there was nothing
like sentiment about the boss of the P Ranch riders, his faith in Peroxide Jim was complete. . . .

3 The desert, where the herd was camped, was one of the highest of a series of tablelands,1 or
benches; it lay as level as a floor, immed by sheer rock, from which there was a drop to the
bench of sage below. The herd when overtaken by the dusk had been headed for a pass
descending to the next lower bench, but was now halted within a mile of the rim rock on the east,
where there was a perpendicular fall of about three hundred feet. . . .

4 In the taut silence of the stirless desert night, with the tension of the herd at the snapping-point,
any quick, unwonted sight or sound would stampede them. The sneezing of a horse, the flare of a
match, would be enough to send the whole four thousand headlong—blind, frenzied,
trampling—till spent and scattered over the plain.

5 And so, as he rode, Wade began to sing. The rider ahead of him took up the air and passed it on
until, above the stepping stir of the hoofs rose the faint voices of the men, and all the herd was
bound about by the slow plaintive measures of some old song. It was not to soothe their savage
breasts that the riders sang to the cattle, but rather to preempt the dreaded silence, to relieve the
tension, and so to prevent the shock of any sudden startling noise.

6 So they sang and rode and the night wore on to one o’clock, when Wade, coming up on the rim-
rock side, felt a cool breeze fan his face, and caught a breath of fresh, moist wind with the taste
of water in it.

7 He checked his horse instantly, listening as the wind swept past him over the cattle. But they
must already have smelled it, for they had ceased their milling, the whole herd standing
motionless, the indistinct forms close to him in the dark showing their bald faces lifted to drink the
sweet wet breath that came over the rim. Then they started on again, but faster, and with a
rumbling now from their hoarse throats that tightened Wade's grip on the reins.

8 The sound seemed to come out of the earth, a low, rumbling mumble, as dark as the night and as
wide as the plain, a thick, inarticulate bellow that stood every rider stiff in his stirrups. . . .

ltablelands: plateaus, flat areas of land sharply elevated from the surrounding area
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9 Then the breeze caught the dust and carried it back from the gray-coated, ghostly shapes, and
Wade saw that the animals were still moving in a circle. He must keep them going. He touched his
horse to ride on with them, when across the black sky flashed a vivid streak of lightning.

10 There was a snort from the steers, a quick clap of horns and hoofs from far within the herd, a
tremor of the plain, a roar, a surging mass—and Wade was riding the flank of a wild stampede.
Before him, behind him, beside him, pressing hard upon his horse, galloped the frenzied steers,
and beyond them a multitude borne on, and bearing him on, by the heave of the galloping herd.

11 Wade was riding for his life. He knew it. His horse knew it. He was riding to turn the herd, too,
back from the rim, as the horse also knew. The cattle were after water—water-mad—ready to go
over the precipice to get it, carrying horse and rider with them. Wade was the only rider between
the herd and the rim. It was black as death. He could see nothing in the sage, could scarcely
discern the pounding, panting shadows at his side. He knew that he was being borne toward the
rim, how fast he could not tell, but he knew by the swish of the brush against his tapaderos? and
the plunging of the horse that the ground was growing stonier, that they were nearing the rocks.

12 To outrun the herd was his only chance for life. If he could come up with the leaders he might not
only escape, but even stand a chance of heading them off upon the plain and saving the herd.
There were cattle still ahead of him; how many, what part of them all, he could not make out in
the dark. But the horse knew. The reins hung on his straight neck, where his rider had dropped
them, as, yelling and firing over the wild herd, he had given this horse the race to win, to lose.

13 They were riding the rim. Close on their left bore down the flank of the herd, and on their right,
under their very feet, was a precipice, so close that they felt its blackness—its three hundred feet
of falll . ..

14 ... Then Wade found himself racing neck and neck with a big white steer, which the horse, with
marvelous instinct, seemed to pick out from a bunch, and to cling to, forcing him gradually ahead,
till, cutting him free from the bunch entirely, he bore him off into the swishing sage.

15 The steers coming on close behind followed their leader, and in, after them, swung others. The
tide was turning from the rim. More and more were veering, and within a short time the whole
herd, bearing off from the cliffs, was pounding over the open plains.

16 Whose race was it? It was Peroxide Jim'’s, according to Wade, for not by word or by touch of hand
or knee had the horse been directed in the run. From the flash of the lightning the horse had
taken the bit, had covered an indescribably perilous path at top speed, had outrun the herd and
turned it from the edge of the rim rock, without a false step or a tremor of fear.

From “The Spirit of the Herd” by Dallas Lore Sharp—Public Domain

2tapaderos: leather covers for stirrups
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29.

30.

31.

How does paragraph 9 fit into the overall structure of the excerpt?

A. It hints at the change in the setting that caused Wade to suddenly become alert.

B. It creates a false sense of calm that shows how unprepared the men were for what was
about to happen.

C. It introduces the idea that Wade was a skillful leader in unpredictable circumstances.

D. It presents the incident that caused the main conflict Wade and Peroxide Jim addressed.

Read this sentence from paragraph 13.

Close on their left bore down the flank of the herd, and on their right, under their
very feet, was a precipice, so close that they felt its blackness—its three hundred
feet of fall!

The phrase “bore down the flank of the herd” conveys that Wade

E. struggled to see the front of the herd.

F. had to ride quickly to keep up with the herd.

G. was forced to ride between the edge of the cliff and the herd.
H. knew that the drop of the cliff would frighten the herd.

Read these sentences from the excerpt.

He was riding to turn the herd, too, back from the rim, as the horse also knew.
(paragraph 11)

It was Peroxide Jim’s, according to Wade, for not by word or by touch of hand or
knee had the horse been directed in the run. (paragraph 16)

How do these sentences develop a central idea in the excerpt?

A. They suggest that Wade would have been unable to save the herd without Peroxide Jim.
B. They imply that Wade spent many hours training Peroxide Jim to herd cattle.

C. They show that Peroxide Jim was able to understand a situation and take action.

D

. They indicate that Peroxide Jim was unafraid of the dangers presented by the stampede and
the cliff.
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A Miracle Mile

1+ In the 1950s people compared running one mile in four minutes to scaling Mount Everest and
nicknamed the feat a "dream mile.” Although such an accomplishment was considered humanly
impossible, several elite runners aimed to break that supposedly impenetrable barrier. One of
them was a twenty-five-year-old medical student named Roger Bannister.

2 Roger Bannister had tasted failure during the 1952 Olympics. There, he was favored to win the
1,500-meter competition, a distance slightly shorter than a mile, but he finished in a dismal fourth
place instead. Bannister’s performance was a disappointment for him and his country, Great
Britain. Determined to redeem himself, Bannister postponed his plans to retire from racing and
focused on the ultimate prize—breaking the four-minute-mile barrier.

3 Bannister attacked the elusive milestone with a positive attitude and logical planning. The
amateur athlete decided to use intensive interval training to develop endurance and speed. For
these workouts, Bannister ran an interval of ten consecutive laps on a quarter-mile track, aiming
for sixty seconds each lap. In between intervals, he let his body recover for two minutes.

4 By early 1954, Bannister had succeeded in lowering his quarter-mile pace to sixty-one seconds,
but he had to shave off at least one more second in order to reach his target. Frustrated by the
plateau he had reached, Bannister took a break from training and went mountain climbing for
three days. The rest from running permitted his muscles to recuperate and left him feeling
refreshed. When-Bannister returned to the track, he completed ten quarter-mile-long intervals at
fifty-nine seconds each. He finally felt prepared to attempt to break the world record.

5 As a member of the Amateur Athletic Association (AAA), Bannister joined the AAA team for a
track meet against Oxford University. The event took place on a cinder track in Oxford on May 6,
1954. Bannister and his two AAA teammates, Chris Chataway and Chris Brasher, were close
friends and frequent running partners. Chataway and Brasher agreed to help Bannister accomplish
his goal by being his “rabbits.”

6 In track and field, rabbits are runners who enter the race solely to pace a teammate for a
segment of the course. Typically, a runner settles in behind the rabbit and allows the rabbit to set
an appropriate tempo. Additionally, by running behind the rabbit, the runner conserves about
15 percent of his or her effort. When the starting pistol fired, Brasher pounced into the lead, and
Bannister followed behind his first rabbit.

7 Propelled by the excitement, Bannister lost his instinctive feel for his pace and shouted “Faster!”
at Brasher. Brasher, however, remained composed and maintained his current steady but grueling
pace, completing the first two laps in a desirable one minute and fifty-eight seconds. Then
Chataway surged forward, leading Bannister at this same punishing rate for another lap and a
half. At the beginning of the back straightaway of the track, Bannister bolted past Chataway.
Bannister said, "I felt that the moment of a lifetime had come. There was no pain, only a great
unity of movement and aim.” Bannister crossed the finish line in 3 minutes 59.4 seconds. The
ecstatic crowd erupted the moment the timekeeper announced the word “three.”

8 Soon after Bannister’s achievement, four other athletes matched his performance. A new mindset
had taken root among runners. Over the years, the record continued to fall. However, the current
record, 3 minutes 43.13 seconds, has stood unbroken since 1999. Some question whether this
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record represents the limits of human ability. But perhaps there is another Bannister, an athlete
who, with willpower and dedication, will'accomplish the miraculous.

34. The words “feat,” “humanly impossible,” and “impenetrable barrier” in paragraph 1 affect the
tone of the paragraph because they

E. highlight the idea that only the most skilled runners would be able to run a four-minute mile.

F. emphasize the idea that running a mile in less than four minutes was a seemingly
unattainable goal.

G. convey the competitiveness among elite runners to consistently set and break speed records.

H. show the intensity of the training programs athletes endure in order to achieve their goals.

35. Which sentence best supports the idea that Bannister needed an alternative to “logical
planning” (paragraph 3) in order to accomplish his goal?

A. "Bannister’s performance was a disappointment for him and his country, Great Britain.”
(paragraph 2)

B. “"The amateur athlete decided to use intensive interval training to develop endurance and
speed.” (paragraph 3)

C. “For these workouts, Bannister ran an interval.of ten consecutive laps on a quarter-mile
track, aiming for sixty seconds each lap.” (paragraph 3)

D. “Frustrated by the plateau he had reached, Bannister took a break from training and went
mountain climbing for three days.” (paragraph 4)

36. Read these sentences from paragraph 7.

Bannister said, "I felt that the moment of a lifetime had come. There was no pain,
only a great unity of movement and aim.”

The sentences contribute to the development of ideas in the passage by showing that Bannister

E. knew that he was about to achieve the goal he had worked toward.
was no longer experiencing personal disappointment from his past failure in the Olympics.

felt grateful to his teammates for helping him take the lead.

T om

. was satisfied that his training had helped him perfect his running technique.
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37. The phrase “a new mindset had taken root” in paragraph 8 conveys the idea that

A. runners recognized that running a mile in under four minutes was-physically possible.

B. breaking the four-minute-mile barrier was no longer considered an impressive feat for
elite runners.

C. runners understood how hard they would have to train in order to run a mile in under
four minutes.

D. elite runners entered races in an attempt to break the four-minute-mile barrier.

38. Which sentence from the passage indicates that Bannister nearly made a mistake that would
have cost him the world record?

E. "By early 1954, Bannister had succeeded in lowering his quarter-mile pace to sixty-one
seconds, but he had to shave off at least one more second in order to reach his target.”
(paragraph 4)

F. “"When the starting pistol fired, Brasher pounced into the lead, and Bannister followed behind
his first rabbit.” (paragraph 6)

G. “"Propelled by the excitement, Bannister lost his instinctive feel for his pace and shouted
‘Faster!” at Brasher.” (paragraph 7)

H. “At the beginning of the back straightaway of the track, Bannister bolted past Chataway.”
(paragraph 7)

39. Bannister’s loss in the 1952 Olympics influenced his decision to pursue breaking the four-minute-
mile.barrier by

A. allowing him to recognize his weaknesses and improve his running ability.
B. prompting him to take a different approach to his regular training.

C. motivating him to prove to himself that he could set and achieve a goal.
D

. giving him the opportunity to reach a goal no runner had ever accomplished.
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The Great Serpent Mound, located in Adams County, Ohio, is a human-made mound of earth that
researchers believe was created between 300 s.c. and A.p. 1100 by an indigenous culture.

Serpent Mound
Ohio, 1846

Brush Creek stood low when the museum men came
with their measuring tapes and sketchbooks.
It was winter. Fringed with ice,
the creek doubled back on itself
as if it had forgotten something.
Pa was in Cincinnati, or else on his way home,
so Ma told me to lead the men
into the marshy low grounds. It being winter,
there was little underbrush to speak of—
in the summer there would have been
briars, poison ivy, biting flies. I listened
for the swish of a beaver’s heavy tail,
the chitter of a chickadee, or the cry of a hawk,
but the winter silence of the creek pressed
down on all of us like a weight.
The humps in the ground were all but
invisible until.you ‘were right up on them. The figure
was even less obvious: the sinuous body,
the tail coiled three times around,
and at the other end, the mouth wide open.
In the summer the creek bottom.was crowded
with so much life that you could trip over
the ridges of earth before you saw
anything at all. In winter you could climb
a tree and get some idea of the whole thing:
the serpent’s body undulating, slithering
silently across the ancient
earth. At the mouth end, there was an oval mound
as if the snake were about to swallow an egg—
as snakes sometimes did in our rickety
henhouse—my Pa always said, or
as if swallowing the sun, one of the museum
men suggested, taking notes with his quill pen,
an old-style inkhorn slung at his side.
I liked that: swallowing the sun,
just the sort of thing a snake might do,
might want to do. When, later, I told my sister Ruth,
she disagreed. It is singing to the sun,
she insisted. That is why its mouth
is wide open. She said, "Sometimes I think
I hear it on summer nights. Not swallowing, singing.”
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42. How does the poem’s form contribute to the poem’s meaning?

E. The use of one continuous stanza and the pattern of the lines mimic the long and winding

shape of the mound.

F. The uneven line lengths emphasize the variety of ways people interpret the meaning of

the mound.

G. The dashes throughout the poem highlight the speaker’s changing thoughts about the

significance of the mound.

H. The lack of a regular rhyme scheme and meter convey that the speaker struggles to
comprehend the vastness of the mound.

43. Which lines reveal how the setting affects the speaker and the men from the museum?

A. "It being winter, / there was little underbrush to speak of—" (lines 8-9)

B. “but the winter silence of the creek pressed / down on all of us like a weight.” (lines 14-15)

C. “"The humps in the ground were all but / invisible until you were right up on them.”

(lines 16-17)

D. “In the summer the creek bottom was crowded / with.so much life that you could trip”

(lines 21-22)

44. Lines 1-2 contribute to the development of ideas in the poem by

E. suggesting that the men are too busy with their work to talk to the speaker.

0 m

45. Read line 28 from the poem.

At the mouth end, there was an oval mound

helping establish the reason for the men’s visit and purposeful behavior.
hinting that the men have hidden motives for studying the mound.

indicating why the speaker is fascinated by the men and wants to help them.

How does the line contribute to the development of ideas in the poem?

A. It describes a feature of the mound that the men from the museum need to document.

B. It introduces a comparison of the body of the mound with the head of the mound.

C. It introduces a feature of the mound that has a different meaning to different people.

D. It describes a part of the mound that is difficult to see from far away.
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A Memory Revolution

1 A high school senior logs on to a computer at the library to double-check the application due date
listed on a college admissions website. Nearby, a librarian helps a group of biology students use a
database to search for recent studies about mammals. In the past few decades, the Internet has
become an integral component of daily life for many people. The seemingly limitless power of
search engines made the Internet search extremely common, and today people increasingly rely
on the Internet’s vast accumulation of sources to access all types of information. Scientists are
beginning to examine how this reliance is modifying the strategies people use to store and
prioritize information in their mind.

A Dependable and Valuable Asset

2 Psychologist Benjamin Storm from the University of California, Santa Cruz, and researchers Sean
Stone and Aaron Benjamin devised an experiment to study students’ tendency to depend on the
Internet for facts. To begin, the scientists divided sixty participants into multiple groups, including
an “Internet” group and a “memory” group, and placed them in front of computers. The Internet
group was required to use the search engine Google to answer eight challenging trivia questions.
In contrast, participants in the memory group were permitted to use only their personal
knowledge to answer the questions. In the second round, the researchers administered notably
easier questions. This time, they allowed each group the option of using Google as they answered.
Their results showed that 83 percent of the Internet group continued to consult Google in the
second round, while only 63 percent of the memory group chose to do so.

3 People’s growing inclination to rely on the Internet in order to retrieve information, particularly
facts and figures, is called cognitive offloading. Canadian researcher Evan F. Risko and British
researcher Sam Gilbert, who have written extensively about the topic, say a similar process has
been taking place for centuries. In the past, people used resources like encyclopedias to assist
their memories; however, today the Internet, serving as a vast extended memory, allows people
to digitally access and retrieve much larger volumes of information. Consequently, people’s minds
are free for other cognitive feats, such as connecting data, learning new information, or solving
problems.

Filing Information Away

4 The use of the Internet also appears to be modifying the strategies people use to store
information in their mind. Researchers Betsy Sparrow from Columbia University, Jenny Liu from
the University of Wisconsin-Madison, and Daniel Wegner from Harvard University conducted
several studies to discover how people efficiently manage their information intake.

5 To begin, the researchers examined how people evaluate which information deserves their effort
to remember. For this experiment, participants read forty trivia facts, such as “An ostrich’s eye is
bigger than its brain,” and typed the statements into a computer file. Half the participants had
been previously told the file would be saved, while half believed it would be erased. Next, the
participants wrote down every fact they could recall. Those who believed the information would be
erased and no longer available could recall 40 percent more facts than those who thought the
information would be saved.
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6 In another experiment, the same researchers tested the ability of study participants to remember
where to access information. For this trial, participants read and typed trivia statements, which
they saved in folders with generic names such as “Facts” and “Items.” After spending ten minutes
writing down all the facts they could recall from memory, participants were asked which folder
contained a particular fact based on a keyword. For example, “*Which folder has the fact about
ostriches?” Overall, participants recalled the information’s location more often than the content
itself, correctly identifying 49 percent of the folders for specific facts while remembering only
23 percent of the actual trivia. The researchers concluded that our memory is adapting to the
Internet age by prioritizing where to locate information even when the specific details are
forgotten. According to Sparrow, the Internet has become an important form of transactive
memory, an external source of the recollections and associative networks that constitute memory.

7 As the Internet’s resources continue to expand our “external” memory, some question whether
the process may cause people to depend too heavily on technology. However, Steven Pinker, a
professor of psychology at Harvard University, says, "Knowledge is increasing exponentially;
human brainpower and waking hours are not. Fortunately, the Internet and information
technologies are helping us manage, search and retrieve our collective intellectual output at
different scales, from Twitter and previews to e-books and online encyclopedias. Far from making
us stupid, these technologies are the only things that will keep us smart.”

HOW MEMORY WORKS

Information is
maintained through

repetition.
Rehearsal
New Information\ Sensory Attention R Short-Term Storage 4 Long-Term
g Memory ” Memory ” Memory
l Retrieval l
Unrehearsed Some information
information is may be forgotten
forgotten. over time.

50. The details in paragraph 3 about cognitive offloading convey a central idea of the passage by

E. suggesting that reliance on the Internet for information is inevitable.
demonstrating how the methods used to store and find information have changed over time.

explaining how encyclopedias and the Internet are similar sources of information.

Tom

implying that more information can be understood now than ever before.
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51. How do the details about the experiment described in paragraph 5 convey a central idea of
the passage?

A. They suggest that the act of repeating information by typing it on a keyboard may improve a
person’s memory.

B. They explain that a person will forget information faster if the information is considered
unimportant.

C. They indicate that a person may start to forget details when the amount of information
becomes overwhelming.

D. They suggest that memory is affected by whether a person expects to have access to the
information in the future.

52. Read this sentence from paragraph 7.

As the Internet’s resources continue to expand our “external” memory, some
question whether the process may cause people to depend too heavily on
technology.

How does the sentence contribute to the structure and development of ideas in the passage?

E. It presents a.claim about the risks of relying on the Internet that prompted the research
described-in paragraphs 2 and 6.

F. It contrasts a disadvantage of relying on the Internet with the benefits of Internet use that
are described in paragraphs 2 and 6.

G. It signals a shift from a neutral viewpoint'in paragraphs 2 and 6 to a presentation of an
argument and a counterargument.

H. It introduces a counterargument and marks a transition from an optimistic tone in
paragraphs 2 and 6 to a cautious tone as the counterargument is developed.

53. The study described in paragraph 6 influenced researchers’ ideas about memory in the digital
age by
A. highlighting instances when organizing detailed information made it easier to remember.

B. confirming that keywords can be remembered more easily than large amounts of
information.

C. identifying a shift in focus from remembering specific information to knowing where to find it.

D. emphasizing that remembering a basic idea is more important than storing detailed
information.
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54. How does the diagram provide additional support for the topic presented in the passage?

E. It reveals why human brains must adapt to obtaining information from the Internet as
opposed to other sources.

F. It indicates how people can use the Internet to help improve their long-term recollection of
information.

G. It shows how study participants’ brains distinguished between important and
unimportant details.

H. It depicts the idea that repetition and rehearsal are necessary to recall information when
tools such as search engines are unavailable.

55. Which evidence from the passage is most relevant to the claim in paragraph 7 that ™ ‘far from
making us stupid, these technologies are the only things that will keep us smart’ ”?

A. the revelation that most people opted to use the Internet to answer relatively easy trivia
questions rather than relying on their own brainpower (paragraph 2)

B. the assertion that the storage of information on the Internet frees people to focus on higher-
order tasks such as problem solving (paragraph 3)

C. the connection between how people organize information in their mind and their ability to
recall that information (paragraph 5)

D. the description of transactive memory as an expansive external source that people can use to
store information (paragraph 6)

START SHSAT PREP

FORM B 173 CONTINUE ON TO THE NEXT PAGE »


https://forms.gle/LCqeV3kU5Soktn9D9



TAPTO GET FULL SHSAT
MATERIALS & PREP

FFFFF


https://forms.gle/LCqeV3kU5Soktn9D9

TAPTO GET FULL SHSAT
MATERIALS & PREP

FFFFF


https://forms.gle/LCqeV3kU5Soktn9D9

PART 2 — MATHEMATICS

57 QUESTIONS

IMPORTANT NOTES
(1) Formulas and definitions of mathematical terms and symbols are not provided.

(2) Diagrams other than graphs are not necessarily drawn to scale. Do not assume any relationship in
a diagram unless it is specifically stated or can be determined from the information given.

(3) Assume that a diagram is in one plane unless the question specifically states that it is not.

(4) Graphs are drawn to scale. Unless stated otherwise, you can assume relationships according to
appearance. For example, lines on a graph that appear to be parallel can be assumed to be
parallel. This is also true for concurrent lines, straight lines, collinear points, right angles, etc.

(5) Reduce (simplify) all fractions to lowest terms.

GRID-IN QUESTION NOTES
(1) For each grid-in question, write your answer at the top of the grid.
(2) Begin recording your answer in the columns on the far left.

(3) Fill in the circle under the box that matches the number or symbol you wrote. Leave the negative
sign bubble blank.if your answer is positive.

(Answer: —1.5) (Answer: 3.2)
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GRID-IN QUESTIONS
QuUESTIONS 58-62

DIRECTIONS: Solve each problem. On the answer sheet, write your answer in the boxes at the top
of the grid. Start on the left side of each grid. Print only one number or symbol in each box. Under
each box, fill in the circle that matches the number or symbol you wrote above.

e Do not fill in a circle under an unused box.

e Do not leave a box blank in the middle of an answer.

58. How many 5-digit numbers can be created 60. ‘(—6) B (_5) . 4_2‘ B ‘3 B 9.6‘ _
using the digits 2, 3, 5, 7, and 8 without
repeating any digits within that 5-digit

number?

59. 147 - x _ 12
12

What is the value of x in the equation

shown above?
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MULTIPLE CHOICE QUESTIONS
QUuUEsTIONS 63-114

DIRECTIONS: Solve each problem. Select the best answer from the choices given. Mark the letter
of your answer on the answer sheet. When you are solving problems, you can write in the test
booklet or on the scrap paper given to you.

. If x= = -7, what is th I f
63 x=9andy , What is the value o 65. M=3N=£=Q+5=5>0
x(x = 2y)? 4 7
A. 18
Based on the statement above, which
B. 45
variable has the greatest value?
C. 144
D. 207 A. M
B. N
C. P
D. R
64.
Q R
50°
70°
P T S
In the figure above, PQRS is a
parallelogram. The measure of ZPQT is
50°, and the measure of ZPTQ is 70°.
What is the measure of ZQRS?
E. 60°
F. 70°
G. 80°
H. 120°
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66. 68. At 1:00 p.m. one day, the temperature
was 8 degrees above zero. During the rest
DESSERT CHOICES of the day, the temperature fell 3 degrees
Dessert Numgs;::ezlimes per hour. What was the temperature at
Cookies 22 7:00 p.m. that day?
Pie 23 E. -13°
Cake 47
Ice Cream 48 F. -10°
G. —7°
The table above shows the number of H. 5°
times that different desserts were ordered
at a restaurant. Based on this information,
what is the probability of a customer
ordering ice cream as a dessert?
E. 25% 69. A bag contains 75 marbles that are red,
F. 30% blue, or green. The ratio of red to blue
G. 40% marbles is 15:7, and the ratio of blue to
H. 48% green marbles is 7:3. If 2 blue marbles
are removed and replaced-with 2 green
marbles, what will be the new ratio of red
to green marbles?
A. 3:1
67. To make party invitations, Macie could buy B. 5:1
a package of paper for $10.50, or she C. 15:3
could buy x individual sheets of the same D. 45:11
paper for $0.15 each. What is the largest
value of x that would make buying the
individual sheets less expensive than
buying the package?
A. 60
B. 65
C. 69
D. 70
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70. . Aroofing contractor uses shingles at a 73. A cooler contains three types of
rate of 3 bundles for every 96 square feet beverages:
of roof covered. At this rate, how many 5 bottles of apple juice, 3 bottles of
bundles of shingles will he need in order grape juice, and 6 bottles of orange juice.
to cover a roof that is 416 square feet? What is the probability that a bottle
E. 5 chosen at random from this cooler is not
F. 12 apple juice?
G. 13
H. 14 A. %
B. %
c. 2
14
p. 2
71. What is the least common multiple of 24, 3
6, and 18?
A. 36
B. 48
c. 72 74. A large circular dinner plate has a radius
D. 1€ of 20 centimeters. A smaller circular plate
with a circumference of 20n centimeters
is placed in the center of the larger dinner
plate. What is the area of the part of the
larger dinner plate that is not covered by
72. One day, the Early Bird Restaurant used the smaller plate?
15 dozen eggs for 200 breakfast
customers. At this rate, approximately E. 20n sq cm
how many dozen eggs are needed for 300 F. 100m sq cm
breakfast customers? G. 200m sq cm
E. 20 H. 300% sq cm
F. 23
G. 25
H. 30
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79. Bryana bought 1% yards of cloth at $8.00 81. A United States presidential coin is made

per yard. If there was an 8% sales tax,

what was the total cost of the cloth?

A. $12.96
B. $14.08
C. $15.12
D. $16.08

from an alloy-of four metals—copper, zinc,

manganese, and nickel—with weights in

the ratio of 177:12:7:4, respectively. The

coin weighs a total of 8 grams. What is

the weight of the zinc in this coin?

A.

0.28 g

B. 0.48 g
C.
D. 48 g

0.96 g

80.
< d d >
D T T ” 82. Jack scored a mean of 15 points per game
in-his first 3 basketball games. In his
4th game, he scored 27 points. What is
_ 5 his mean score for the first 4 games?
On the number line above, MN = SE .
What is the position of point M? E. 15
F. 17
G. 18
E. 71
6 H. 21
F. 41
2
G. 4L
2
H 71
6
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86. If w —1 is an odd.integer, which one of
the following must be an even integer?
E. w+1
F. 2w -1
G. 2w -2
H. 2w +1

87. Three students stand at the starting line

of a running track and begin running laps
at the same time. Ann completes 1 lap
every. 2 minutes, Jack completes 1 lap
every 3 minutes, and Lee completes.1 lap
every 4 minutes. How many laps does
Ann complete before all three runners
are once again at the starting line at the

same time?

A. 4
B. 6
C. 12
D. 20

START SHSAT PREP

83. A cylindrical oil drum can hold 4,320 liters
when it is completely full. Currently, the
drum is % full of oil. How many kiloliters
of oil need to be added in order to fill the
drum completely?

A. 1.44
B. 2.88
C. 4.32
D. 14.10

84. Nicole's age now is three times Carmen’s
age. If Carmen will be 17 in two years,
how old was Nicole 5 years ago?

E. 38 yr
F. 40 yr
G. 45vyr
H. 50 yr

85. A chemical decays in such a way that the
amount left at the end of each week is
20% less than the amount at the
beginning of that same week. What
percent of the original amount is left after
two weeks?

A. 40%
B. 60%
C. 64%
D. 80%
FORM B

184

CONTINUE ON TO THE NEXT PAGE »


https://forms.gle/LCqeV3kU5Soktn9D9



88. Simplify this expression: 90. A large container is partially filled with n
liters of water. Ito adds 10 liters of water
4(7 -3x) - (5 -
( X) ( X) to the container, making it 60% full. If
Ignacio adds 6 more liters of water, the
E. 23-4x
container will be 75% full. What is the
F. 23 -11x
value of n?
G. 28 -4x E. 14
H. 28 -12x F. 15
G. 26
H. 30
89.
PET SURVEY
1
91. 5x3+3x +9+ 25
Number of x?2
Number of Pets Students
12
(1) T If x =10, what is the value of the
i ?
> Z expression abover:
3.0or more 5 A. 2,539.01
B. 5,039.01
Amy surveyed students at her.school C. 5,039.1
about the number of pets they have. D. 5,139
What is the probability that a student
who participated in the survey has at
least 2 pets?
A L
40
B. L
12
c. L
8
D. 3
10
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96.

A wooden box has a square base. The
height of this box is 3 times the-length of
one side of the base. If one side of the
base is 3 feet long, what is the volume of

this box?

E. 9cuft

F. 27 cu ft
G. 36 cu ft
H. 81 cu ft

99. There are 1,000 cubic centimeters in
1 liter, and 1,000 cubic millimeters in
1 milliliter. How many cubic millimeters
are there in 1,000 cubic centimeters?
A. 1,000
B. 10,000
C. 100,000
D. 1,000,000
100.

.

Iy

Y > 2—>]

Iy

In the quarter circle above, what is y in

terms of x?

97. On a bike trip, Rajiv traveled 65
kilometers in 5 hours, while Shaina
traveled 72 kilometers in 4 hours. How
much less was Rajiv’s mean speed, in
kilometers per hour (kph), than Shaina’s?
A. 1
B.. 5
C. 7
D. 9

98. Points P, Q, R, and S represent —3, -1, 0,
and 2, respectively, on a number line.
How many units is the midpoint of If)
from the midpoint of RS ?

E. 1
F. 2
G. 3
H. 4
FORM B
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2
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101. 103.

M R T y
< : I I : I : Ly A
< * T T t T ? >
1 )
4 8

The hash marks on the number line above

are evenly spaced. What is the coordinate

of point R?
A L
40
B. 2
40 What is the area of the shaded triangle
c. 11 shown above?
40
D. 21 A. m+n
40
B. n—-m
C. 2(n-m)
D. 4(n-m)

102. Phan chose an Internet service that
charges $18.00 per month plus $0.024

per minute. Deion chose an Internet

service that charges $30.00 per month for

unlimited usage. At the end of the month, 104. The decimal 0.06 can be written as the

. % .
Phan’s and Deion’s charges were identical. fraction S0 What is the value of x?

For how many minutes did Phan use the E. 3
Internet service that month? F. 6
E. 50 G. 12
F. 60 H. 30
G. 100
H. 500
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105. In a sample of 50 cars at a local
dealership, there are 12 red cars.and 10
cars with backup cameras. Of the 12 red
cars, 4 have backup cameras. If a car is
selected at random from the given
sample, what is the probability that both
of the following are true: the car is not

red and does not have a backup camera?

FORM B

106.

ANIMAL CARDS

Number of Cards | Picture on Card

cat

dog

bird

fish

=AUl O| 0

horse

The cards in the table above are mixed in
a box. Which animal pictured on a card
has exactly a 1 in 4 chance of being

picked at random from the box?

E. cat
F. ‘dog
G. fish
H

. horse

107. Which number line below shows the
solution set for 2x -2 <y <4x + 10
when y =17

€ mpm——
A3 -2 -1 0 1 2 3
e R e
B. 3 2 -4 0 1 2 3
€t
C.. 3 =2 -1 0 1 2 3
<] e e e A R
D3 -2 -4 0 1 2 3
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108.

14 _p
21 7

In the equation above, what is the value

110. At North High School, a survey asked two

questions, Question A and Question B. For
each question, students could answer
either “yes” or “"no.” Of the 800 students

of p? who responded to the survey, 720
answered “yes” to Question A, and 640
E. % answered “yes” to Question B. What is the
E. 3 least possible number of these students
who could have answered “yes” to both
G. % questions?
H. 14 E. 80
F. 160
G. 560
H. 640
109. A ball is selected at random from a box
that contains 7 black balls, 14 green balls,
and 21 red balls. What is the probability
that the ball selected is black?
A L
6
B. %
c. 1
3
D. 2
6
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	The New York City Department of Education
	2022Specialized High School Admissions Test
	GENERALDIRECTIONS
	Student Name:______________________________________
	Identifying Information
	Turn to Side 1 of the answer sheet.
	Notify the proctor immediately if you are ill or should not be taking this test. Do not sign thestatement or begin the test. Return your answer sheet to the proctor.
	Line 1:Read the statement and sign your name in the space following the word “signature.” Do not print yourname. 
	Line 2:Print today’s date, using the numbers of the month, the day, and the year. 
	Line 3:Print your birth date with the number of the month first, then the number of the day, then the last two digits of the year. For example, a birth date of March 1, 2005, would be 3-1-05.
	Grid 4:Print the letters of your first name, or as many as will fit, in the boxes. Write your name exactly as youdid on the application. If you have a middle initial, print it in the box labeled “MI.” Then print the letters of yourlast name, or as much as will fit, in the boxes provided. Below each box, fill in the circle that contains the sameletter as the box. If there is a space or a hyphen in your name, fill in the circle under the appropriate blank orhyphen.
	Make dark marks that completely fill the circles.If you change a mark, be sure to erase the first markcompletely.
	Grid 5:
	1.Print the name of the school where you are now enrolled in the space at the top of the grid.
	1.Print the name of the school where you are now enrolled in the space at the top of the grid.
	1.Print the name of the school where you are now enrolled in the space at the top of the grid.

	2.In the boxes marked “SCHOOL CODE,” print the six-digit code that identifies your school and fill in the circleunder the corresponding number or letter for each digit of the school code. (You can find your school code onyour Test Ticket. If it is not there, tell the proctor, and the proctor will get the school code for you.)
	2.In the boxes marked “SCHOOL CODE,” print the six-digit code that identifies your school and fill in the circleunder the corresponding number or letter for each digit of the school code. (You can find your school code onyour Test Ticket. If it is not there, tell the proctor, and the proctor will get the school code for you.)

	3.If you attend a private or parochial school, fill in the circle marked “P.”
	3.If you attend a private or parochial school, fill in the circle marked “P.”


	Grid 6:Complete the grid with your date of birth. Print the first three letters of the month in the first box, thenumber of the day in the next box, and the year in the last box. Then fill in the corresponding circles.
	Grid 7:Print your student ID number in Grid 7. You can find your student ID number on your Test Ticket. In theboxes, print your nine-digit student ID number. Below each box, fill in the circle containing the same number asin the box.
	Grid 8:In most cases, Grid 8 is already filled in for you. If it is not, copy the letter and numbers shown in theupper-right corner of your test booklet into the boxes. Below each box, fill in the circle containing the same letteror number as the box.
	Now review Side 1 to make sure you have completed all lines and grids correctly. Review each column to see thatthe filled-in circles correspond to the letters or numbers in the boxes above them.
	Turn your answer sheet to Side 2. Print your test booklet letter and numbers, and your name, first name first, inthe spaces provided.
	DO NOT OPEN THIS BOOKLETUNTIL YOU ARE TOLD TO DO SO.TURN YOUR BOOKLET OVER TO THE BACK COVER.
	GENERALDIRECTIONS,continued
	Marking Your Answers
	Mark each of your answers on the answer sheet in the row of circles corresponding to the question number printedin the test booklet. Use only a Number 2 pencil. If you change an answer, be sure to erase it completely. Becareful to avoid making any stray pencil marks on your answer sheet. Each question has only one correct answer.If you mark more than one circle in any answer row, that question will be scored as incorrect.
	SAMPLE ANSWER MARKSWRONGWRONGWRONGWRONGABCDABCDABCDABCDABCDRIGHT
	You can use your test booklet or the provided scrap paper to take notes or solve questions; however, your answersmust be recorded on the answer sheet in order to be counted. You will not be able to mark your answers onthe answer sheet after time is up, and answers left in the test booklet will not be scored.
	DO NOT MAKE ANY MARKS ON YOUR ANSWER SHEET OTHER THAN FILLING IN YOUR ANSWER CHOICES.
	Planning Your Time
	You have 180 minutes to complete the entire test. How you allot the time between the English LanguageArts and Mathematics sections is up to you.If you begin with the English Language Arts section, you may goon to the Mathematics section as soon as you are ready. Likewise, if you begin with the Mathematics section, youmay go on to the English Language Arts section as soon as you are ready. If you complete the test before theallotted time (180 minutes) is over, you may go back to review questions in either se
	Be sure to read the directions for each section carefully. Each question has only one correct answer. Choose thebest answer for each question. When you finish a question, go on to the next, until you have completed the lastquestion. Your score is determined by the number of questions you answer correctly. Answer every question,even if you may not be certain which answer is correct.Don’t spend too much time on a difficult question.Come back to it later if you have time. If time remains, you should check your
	Students must stay for the entire test session.
	DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO
	Figure
	Copyright © 2022 Pearson. All rightsreserved. No part of this document maybe copied, reproduced, modified, ortransmitted by any means, electronic ormechanical.
	B
	PaRt1 — EnglishlanguagEaRts
	57 QUESTIONS
	REVISING/EDITING
	QUESTIONS 1-10 (PART A AND PART B)
	REVISING/EDITING PART A
	DIRECTIONS:Read and answer the following questions. You will be asked to recognize and correcterrors so that the sentences or short paragraphs follow the conventions of standard written English.You may write in your test booklet as needed to take notes. You should reread relevant parts of thesentences or paragraphs, while being mindful of time, before marking the best answer for eachquestion.
	1.Read these sentences.
	(1) Flyby missions near Jupiter have been happening since 1973.(2) Flyby missions allow scientists to collect data about Jupiter and its moons.
	What is the best way to combine the sentences to clarify the relationship between the ideas?
	A.While flyby missions near Jupiter have been happening since 1973, scientists collect dataabout the planet and its moons.B.Although there have been flyby missions near Jupiter since 1973, they have allowedscientists to collect data about the planet and its moons.C.Flyby missions near Jupiter, which allow scientists to collect data about the planet and itsmoons, have been happening since 1973.D.Flyby missions have been happening near Jupiter, but scientists have been collecting dataabout the planet and its 
	2.Which sentence contains an error in its construction and should be revised?
	(1) In 1976, the National Basketball Association (NBA) absorbed several teams of theAmerican Basketball Association (ABA), including the New York Nets, who played in the LongIsland area at the time. (2) Theowner of the Nets decided to take the team to New Jerseyafter the team had financial troubles, where the team played for thirty-five seasons. (3) TheNew Jersey Nets had sixteen playoff appearances, including two appearances in the NBAfinals. (4) In2012, the team changed ownership and returned to New York,
	E.sentence 1F.sentence 2G.sentence 3H.sentence 4
	3.How should the paragraph be revised?
	(1) Danielle spentseveral hours preparing for an upcoming audition for a playat thecommunity theater. (2) Firstshe didvocal exercises to practice her diction and projectionsothat her words would carry clearly throughout the large auditorium. (3) Thenshe studiesthetext of the monologue to better understand the emotions,and motivations of the charactershe plans to portray. (4) Finallyshe recitedher monologue in front of a mirror many times,making slight adjustments and improvements to her performance each tim
	A.Sentence 1: Change spentto had spent, AND insert a comma after play.B.Sentence 2: Change didto does, AND insert a comma after projection.C.Sentence 3: Change studiesto studied, AND delete the comma after emotions.D.Sentence 4: Change recitedto recites, AND delete the comma after times.
	4.Which pair of revisions needs to be made in this paragraph?
	(1) Both Italian gelato and American ice cream are delightful treats to have on a hot summerday, but many people wonder:what isthe difference between the two? (2) Tostart with,thebutterfat content is much higher in ice cream than it isin gelato, making the Italian treat awiser decision for people looking to make healthier choices. (3) Additionally,the mixingprocess,which adds less air to the frozen treat, makesgelato denser than ice cream.(4) Finally,gelato is served 10 to 15 degrees warmer than ice cream, 
	E.Sentence 1: Delete the colon after wonder AND change isto are.F.Sentence 2: Delete the comma after withAND change it isto they are.G.Sentence 3: Delete the comma after processAND change makesto make.H.Sentence 4: Delete the comma after gelatoAND change allowto allows.
	CONTINUE TO THE NEXT PAGE  c
	REVISING/EDITING PART B
	DIRECTIONS:Read the text below and answer the questions following it. You will be asked toimprove the writing quality of the text and to correct errors so that the text follows the conventions ofstandard written English. You should reread relevant parts of the text, while being mindful of time,before marking the best answer for each question.
	Martial Arts for the Mind and Body
	(1) The martial arts blend a series of physical movements with strategic mental discipline so thatpractitioners can defend themselves, physically defeat an opponent, or both.  (2) Historiansareunsure of exactly when and where martial arts were first used.  (3) Martialarts have been practicedby several different societies for many centuries.  (4) Martialarts such as karate, kung fu, tae kwondo, and judo are still taught and practiced as methods of self-defense, but they offer students morethan that.  (5) The
	(6) Discipline, focus, and respect are important qualities for everyone to have.  (7) However,formost people these qualities are not innate; they must be learned and practiced.  (8) Thestudy ofmartial arts can provide an opportunity to develop these skills.  (9) Studentsare rewarded for theirdedication by passing tests and advancing to higher levels.  (10) Forexample, in a typical tae kwondo class, students learn discipline by diligently practicing moves, improve focus by listeningcarefully, and demonstrate
	(11) For teenagers, martial arts classes provide a safe and structured environment for gainingphysical skills, building confidence, and enjoying a sense of community.  (12) Alot of teens gothrough hard situations as they try to do well in school and in life.  (13) Akarate class can provideteens with a physical outlet for stress while also challenging them mentally.  (14) Participatingin amartial arts program also helps children and teens focus on self-improvement rather than oncompetition.  (15) Progressing
	(18) Adults who practice martial arts can experience many of the same benefits that younger peopledo, but perhaps the greatest of these is health and fitness.  (19) Adultmartial arts students oftensee changes in their body within weeks of beginning a program.
	(20) For people interested in studying a martial art, there are many ways to learn and practice.(21) Inaddition to private studios, community recreation centers often offer low-cost or free martialarts classes.  (22) Thereare even online videos that introduce students to the basic concepts.(23) Peopleshould study martial arts.
	5.What is the best way to combine sentences 2and 3?
	A.Historians, who are unsure of exactly when and where martial arts were first used, know thatmartial arts have been practiced by several different societies for many centuries.B.While historians are unsure of exactly when and where martial arts were first used, they doknow that martial arts have been practiced by several different societies for many centuries.C.Because historians know that martial arts have been practiced by several different societiesfor many centuries, they are unsure of exactly when and
	6.Where should sentence 10 be moved to improve the organization of the second paragraph(sentences 6–10)?
	E.to the beginning of the paragraph (before sentence 6)F.between sentences 6 and 7G.between sentences 7 and 8H.between sentences 8 and 9
	7.Which revision of sentence 12 best maintains the formal style established in the passage?
	A.A lot of teens have to put up with difficult things while trying to do well in school and in life.B.Many teenagers deal with tough situations as they try to stay on top of their studies and dowell in life.C.Many teenagers encounter challenges as they work to succeed both academicallyand personally.D.A lot of teens face problems as they work to keep up with their schoolwork and findpersonal success.
	8.Which transitional phrase should be added to the beginning of sentence 17?
	E.Over timeF.In factG.Even soH.For instance
	9.Which sentence would best follow and support sentence 18?
	A.Adult students gain discipline, focus, self-control, and respect, which are qualities that helpthem advance in their careers.B.Many adults initially train in a martial art simply to get exercise without realizing that thetraining also helps develop other skills.C.The exercise involved in training helps people strengthen their heart, boost endurance,improve balance, and develop muscle tone.D.People who commit to training in the martial arts are usually concerned about improving theiroverall physical health
	10.Which concluding sentence should replace sentence 23to best support the topic presented inthe passage?
	E.With so many ways to begin studying martial arts, people can easily discover how the skillsneeded to progress in rank may help them in life.F.By taking advantage of opportunities to practice martial arts, people can experience thesatisfaction of achieving goals while also improving themselves.G.Because people are eager to reap the mental and physical benefits of studying martial arts,enrollment in martial arts courses has increased.H.While taking martial arts classes can improve health for both young peop
	REaDINgCOmpREhENSION
	QUESTIONS11–57
	DIRECTIONS:Read each of the following six texts, and answer the related questions. You may writein your test booklet as needed to take notes. You should reread relevant parts of each text, whilebeing mindful of time, before marking the best answer for each question. Base your answers only onthe content within the text.
	CONTINUE TO THE NEXT PAGE  c
	Wolves of the Sea
	1The cool and misty landscape of the Great Bear Rainforest can be found along the coast of BritishColumbia, Canada, and its nearby islands, from Vancouver Island to the Alaskan border. Withinthis protected area, wolves roam the forests, islands, and beaches. When biologist Chris Darimontbegan to study these wolves, he wanted to confer with local First Nations groups, as aboriginalCanadians are known, in order to learn what they knew about these wolves. He spoke withChester Starr, an elder of the Heiltsuk Na
	2Starr asked Darimont which wolves he and his team were going to study—the timber wolves(mainland wolves) or the coastal wolves on the islands. The question took Darimont by surprise.Biologists had always believed that the wolves that are sometimes spotted swimming betweenislands and eating salmon are the same wolves that live on the mainland. Darimont was intriguedby Starr’s classification of the wolves as two different groups. At first, he was hesitant to acceptthe idea. The distances between the mainland
	3Throughout the study, Darimont recorded several significant, observable differences between the“sea wolves,” as they are nicknamed, and the mainland wolves. Compared with the mainlandwolves, the sea wolves are smaller in size and are strong swimmers. In 1996 sea wolves werespotted on an island nearly eight miles from any other land formation. While mainland wolvesalmost exclusively eat meat, such as deer and elk, and teach their young to hunt for land animals,sea wolves get as much as 90 percentof their nu
	4The sea wolves displayed not only physical and behavioral differences but also genetic variationsfrom the mainland wolves. After collecting and analyzing the DNA in 800 samples of gray fur andwolf waste, researchers could produce hard biological evidence that sea wolves had geneticmarkers that made them distinct from the mainland wolves. A genetic marker is a variation in aDNA sequence that can be used to identify individuals or a species because it is passed down tooffspring. Darimont hypothesizes that a 
	5It turned out that Chester Starr was right all along. “It sounded totally bizarre at first,” admitsDarimont, “that there could be two versions of the species.” But he now realizes that thisskepticism “definitely reflected my ignorance of indigenous knowledge at the time.” Learning totrust the wisdom of the Heiltsuk people opened Darimont up to knowledge accumulated over
	millennia and positioned him so that he could gather new scientific evidence about one of BritishColumbia’s most elusive species, the sea wolf.
	11.The details in paragraph 1 contribute to a central idea of the passage by showing that Darimont
	A.believed the Great Bear Rainforest was an ideal location to study wolves in their naturalhabitat because it is a protected area.B.values different perspectives, because the information that Starr provided influenced thefocus of Darimont’s research.C.thought the Great Bear Rainforest would provide opportunities to study different groups ofwolves because the area includes forests and islands.D.understands the importance of respecting local community members, because Darimontsought permission from an elder o
	12.Why does the author include details about the conversation between Starr and Darimont inparagraph 2?
	E.to explain why Starr had closely observed the relationship between the two groups of wolvesDarimont wanted to studyF.to show that Darimont was hoping to work with Starr and to study both groups of wolves in the areaG.to highlight that Darimont was unfamiliar with the area and expected Starr to help him findwolves to studyH.to emphasize that the question asked by Starr caused Darimont to review his initialassumption about the wolves
	13.Read this sentence from paragraph 4.
	After collecting and analyzing the DNA in 800 samples of gray fur and wolf waste,researchers could produce hard biological evidence that sea wolves had geneticmarkers that made them distinct from the mainland wolves.
	The phrase “hard biological evidence” conveys that the goal of the research team was to
	A.develop a procedure in order to ensure their study yielded plentiful data about the wolves.B.seek definitive scientific proof of the number of wolf species present in the area of the study.C.conduct a study to evaluate multiple theories about the diets of different wolf species.D.discover if the new data would provide information different from that of previous studies.
	14.The author uses the word “admits” in paragraph 5most likely to
	E.note that Darimont’s genetic research verified a theory based solely on field observations.F.imply that Darimont’s study was disappointing because the conclusion that he reached was not original.G.emphasize that Darimont’s study ultimately confirmed an idea that he had initially doubted.H.highlight that Darimont’s results led him to draw a conclusion from his research that his teamdid not agree with.
	15.Which sentence from the passage best supports the idea that sea wolves had successfullyadapted to living on the islands?
	A.“While mainland wolves almost exclusively eat meat, such as deer and elk, and teach theiryoung to hunt for land animals, sea wolves get as much as 90 percentof their nutrition fromthe sea and teach their young to dig for clams and to catch fish.” (paragraph 3)B.“Sea wolves regularly swim between islands and have been known to sneak up on a sealsunning itself on a rock and make a leaping attack from the water.” (paragraph 3)C.“Darimont suspects that some sea wolves live their entire life on the islands.” (
	16.How did a change in habitat most affect the wolf population of the Great Bear Rainforestover time?
	E.It caused some of the wolves to learn new hunting techniques in order to catch increasinglyscarce prey.F.It caused the wolves to form smaller packs and eventually separate, establishing distinctterritories.G.It caused some of the wolves to gradually become a new, genetically distinct species as theyadapted behaviorally.H.It caused the wolves to adapt their diet as different food sources became available inthe area.
	CONTINUE TO THE NEXT PAGE  c
	In 1903 brothers Wilbur and Orville Wright conducted various experiments related to flyingmachines. These experiments would eventually lead to air travel becoming a reliable form oftransportation.
	Excerpt from “How We Made the First Flight”
	by Orville Wright
	1During the night of December 16, 1903, a strong cold wind blew from the north. When we aroseon the morning of the 17th, the puddles of water, which had been standing about camp since therecent rains, were covered with ice. The wind had a velocity of 10 to 12 metersper second (22 to27 milesan hour). We thought it would die down before long, and so remained indoors the earlypart of the morning. But when ten o’clock arrived, and the wind was as brisk as ever, we decidedthat we had better get the machine out a
	1Life Saving Station:one of the rescue stations along the Atlantic coastline that providedassistance to mariners in distress
	We thought that by facing the flyer into a strong wind, there ought tobe no trouble in launching it from the level ground about camp. We realized the difficulties offlying in so high a wind, but estimated that the added dangers in flight would be partlycompensated for by the slower speed in landing.
	Final Preparations
	2We laid the track on a smooth stretch of ground about one hundred feet north of the new building.The biting cold wind made work difficult, and we had to warm up frequently in our living room,where we had a good fire in an improvised stove made of a large carbide2
	2carbide:a very hard material composed of carbon and other heavy metals
	can. By the time allwas ready, J. T.Daniels, W. S.Dough and A. D.Etheridge, members of the Kill Devil3
	3Kill Devil:the town of Kill Devil Hills in eastern North Carolina
	Life SavingStation; W. C.Brinkley of Manteo, and Johnny Moore, a boy from Nags Head,4
	4Nags Head:a town in eastern North Carolina
	had arrived.
	3We had a “Richard” hand anemometer with which we measured the velocity of the wind.Measurements made just before starting the first flight showed velocities of 11 to 12 meterspersecond, or 24 to 27 milesper hour. . . .
	Audacity—and Calculation
	4Wilbur having used his turn in the unsuccessful attempt on the 14th, the right to the first trial nowbelonged to me. After running the motor a few minutes to heat it up, I released the wire that heldthe machine to the track, and the machine started forward in the wind. Wilbur ran at the side ofthe machine, holding the wing to balance it on the track. Unlike the start on the 14th, made in acalm, the machine, facing a 27-milewind, started very slowly. Wilbur was able to stay with it till itlifted from the tr
	Flight
	5The course of the flight up and down was exceedingly erratic, partly due to the irregularity of theair, and partly to lack of experience in handling this machine. The control of the front rudder wasdifficult on account of its being balanced too near the center. This gave it a tendency to turn itselfwhen started; so that it turned too far on one side and then too far on the other. As a result themachine would rise suddenly to about ten feet, and then as suddenly dart for the ground. Asudden dart when a litt
	From “How We Made the First Flight” by Orville Wright—Public Domain/Federal AviationAdministration
	17.How does paragraph 1 introduce the idea that the Wright brothers knew that their flight attemptwas risky?
	A.through the mention of a signal to notify lifesaving experts that the flight attempt was aboutto beginB.by providing specific details about the speed of the wind and the Wright brothers’ response tothe windy conditionsC.by suggesting that a slower landing would be necessary at the end of the flight in order tomaintain safetyD.through the indication that the Wright brothers waited indoors for most of the morningbecause of the poor weather
	18.Read this sentence from paragraph 4.
	Wilbur having used his turn in the unsuccessful attempt on the 14th, the right tothe first trial now belonged to me.
	The sentence contributes to the development of ideas in the excerpt by
	E.demonstrating the challenge of the extreme winter conditions during the flight.F.revealing how many tries it took for Wilbur Wright to finally get the machine to take flight.G.demonstrating that both Orville and Wilbur Wright were eager to pilot what could potentiallybe the first flight.H.suggesting a sense that both brothers felt confident they would soon succeed in completingthe first flight.
	19.The photograph mentioned in paragraph 4is significant because it
	A.documents that the machine rose into the air as soon as the tethering wire was released.B.provides proof of the critical moment the machine took flight.C.documents that the wind reduced the speed of the plane at the start of the flight.D.provides proof that the pilot had to gradually increase the height of the plane in the air.
	20.How do the details in paragraph 5 about the uneven nature of the flight convey a central idea ofthe excerpt?
	E.by explaining how the flawed design of the machine caused it to turn unpredictably in the airand brought the first flight by a person to an abrupt endF.by indicating that the difficulty in controlling the flight was caused by the rudimentaryinstruments of the machine and the inexperience of the pilotG.by explaining how the pilot and the plane overcame adverse conditions in order to completethe first piloted flightH.by indicating that the gradual change in wind velocity created an extreme environment inwhi
	21.Read this sentence from paragraph 5.
	As the velocity of the wind was over 35 feetper second and the speed of themachine over the ground against this wind ten feet per second, the speed of themachine relative to the air was over 45 feetper second, and the length of theflight was equivalent to a flight of 540 feetmade in calm air.
	How does the sentence help convey Orville Wright’s perspective about this first flight?
	A.It suggests that he was frustrated by the poor flying conditions on the day of the flight.B.It emphasizes that he believed the flight was successful despite its short distance.C.It provides a comparison between flight distances under calm and high wind conditions.D.It highlights the importance of such calculations in the success of future flights.
	22.Read this sentence from paragraph 5.
	A sudden dart when a little over a hundred feet from the end of the track, or alittle over 120 feetfrom the point at which it rose into the air, ended the flight.
	How does the sentence contribute to the paragraph?
	E.It details the need for the pilot to have quick reflexes while flying the machine.F.It presents the idea that the difficulty of operating the machine shortened the flight.G.It describes the shift in wind speed that made flying nearly impossible.H.It provides an overview of the flight’s progression from takeoff to landing.
	23.Read this sentence from paragraph 5.
	This flight lasted only 12 seconds,but it was nevertheless the first in the historyof the world in which a machine carrying a man had raised itself by its own powerinto the air in full flight, had sailed forward without reduction of speed and hadfinally landed at a point as high as that from which it started.
	The words “only,” “nevertheless,” and “finally” most clearly convey the idea that
	A.even a flight of such minor duration had taken a long time to achieve.B.the short flight gave the Wright brothers hope for longer ones in the future.C.the flight proved that the machine was, at last, capable of becoming airborne.D.although it was brief, the flight was a remarkable accomplishment.
	24.Which sentence from the excerpt best supports the idea that the Wright brothers had to adapttheir plans for the flight in order to accommodate the weather conditions?
	E.“When we arose on the morning of the 17th, the puddles of water, which had been standingabout camp since the recent rains, were covered with ice.” (paragraph 1)F.“We realized the difficulties of flying in so high a wind, but estimated that the added dangersin flight would be partly compensated for by the slower speed in landing.” (paragraph 1)G.“After running the motor a few minutes to heat it up, I released the wire that held themachine to the track, and the machine started forward in the wind.” (paragra
	25.The use of chronological structure contributes to the development of ideas in the excerpt by
	A.outlining the actions that the Wright brothers took to prepare for and successfully completethe first flight.B.identifying the primary factors that allowed the Wright brothers to overcome obstacles andachieve the first flight.C.showing how the Wright brothers applied lessons learned from their previous flight attemptsto accomplish the first flight.D.demonstrating how the Wright brothers analyzed the impact of wind velocity to identify theideal conditions for the first flight.
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	In this excerpt, published in 1914, author and professor Dallas Lore Sharp describes a summercattle roundup in Oregon. The heat and dust had been relentless for three days. The cowboyswere exhausted, and the cattle were restless. The ranch boss, Wade, had led the drive to awatering place, only to find it empty.
	Excerpt from “The Spirit of the Herd”
	by Dallas Lore Sharp
	1Along with the wagon had come the fresh horses—one of them being Peroxide Jim, a supple,powerful, clean-limbed buckskin, a horse, I think, that had as fine and intelligent an animal-faceas any creature I ever saw. Wade had been saving this horse for emergency work. And whyshould he not have been saved fresh for just such a need as this? Are there not superior horses aswell as superior men—a Peroxide Jim to complement a Wade?
	2The horse knew the cattle business and knew his rider perfectly; and though there was nothinglike sentiment about the boss of the P Ranchriders, his faith in Peroxide Jim was complete. . . .
	3
	The desert, where the herd was camped, was one of the highest of a series of tablelands,1
	1tablelands:plateaus, flat areas of land sharply elevated from the surrounding area
	orbenches; it lay as level as a floor, rimmed by sheer rock, from which there was a drop to thebench of sage below. The herd when overtaken by the dusk had been headed for a passdescending to the next lower bench, but was now halted within a mile of the rim rock on the east,where there was a perpendicular fall of about three hundredfeet. . . .
	4In the taut silence of the stirless desert night, with the tension of the herd at the snapping-point,any quick, unwonted sight or sound would stampede them. The sneezing of a horse, the flare of amatch, would be enough to send the whole four thousandheadlong—blind, frenzied,trampling—till spent and scattered over the plain.
	5And so, as he rode, Wade began to sing. The rider ahead of him took up the air and passed it onuntil, above the stepping stir of the hoofs rose the faint voices of the men, and all the herd wasbound about by the slow plaintive measures of some old song. It was not to soothe their savagebreasts that the riders sang to the cattle, but rather to preempt the dreaded silence, to relieve thetension, and so to prevent the shock of any sudden startling noise.
	6So they sang and rode and the night wore on to one o’clock,when Wade, coming up on the rim-rock side, felt a cool breeze fan his face, and caught a breath of fresh, moist wind with the tasteof water in it.
	7He checked his horse instantly, listening as the wind swept past him over the cattle. But theymust already have smelled it, for they had ceased their milling, the whole herd standingmotionless, the indistinct forms close to him in the dark showing their bald faces lifted to drink thesweet wet breath that came over the rim. Then they started on again, but faster, and with arumbling now from their hoarse throats that tightened Wade’s grip on the reins.
	8The sound seemed to come out of the earth, a low, rumbling mumble, as dark as the night and aswide as the plain, a thick, inarticulate bellow that stood every rider stiff in his stirrups. . . .
	9Then the breeze caught the dust and carried it back from the gray-coated, ghostly shapes, andWade saw that the animals were still moving in a circle. He must keep them going. He touched hishorse to ride on with them, when across the black sky flashed a vivid streak of lightning.
	10There was a snort from the steers, a quick clap of horns and hoofs from far within the herd, atremor of the plain, a roar, a surging mass—and Wade was riding the flank of a wild stampede.Before him, behind him, beside him, pressing hard upon his horse, galloped the frenzied steers,and beyond them a multitude borne on, and bearing him on, by the heave of the galloping herd.
	11
	Wade was riding for his life. He knew it. His horse knew it. He was riding to turn the herd, too,back from the rim, as the horse also knew. The cattle were after water—water-mad—ready to goover the precipice to get it, carrying horse and rider with them. Wade was the only rider betweenthe herd and the rim. It was black as death. He could see nothing in the sage, could scarcelydiscern the pounding, panting shadows at his side. He knew that he was being borne toward therim, how fast he could not tell, but he 
	2tapaderos:leather covers for stirrups
	andthe plunging of the horse that the ground was growing stonier, that they were nearing the rocks.
	12To outrun the herd was his only chance for life. If he could come up with the leaders he might notonly escape, but even stand a chance of heading them off upon the plain and saving the herd.There were cattle still ahead of him; how many, what part of them all, he could not make out inthe dark. But the horse knew. The reins hung on his straight neck, where his rider had droppedthem, as, yelling and firing over the wild herd, he had given this horse the race to win, to lose.
	13They were riding the rim. Close on their left bore down the flank of the herd, and on their right,under their very feet, was a precipice, so close that they felt its blackness—its three hundredfeetof fall! . . .
	14. . . Then Wade found himself racing neck and neck with a big white steer, which the horse, withmarvelous instinct, seemed to pick out from a bunch, and to cling to, forcing him gradually ahead,till, cutting him free from the bunch entirely, he bore him off into the swishing sage.
	15The steers coming on close behind followed their leader, and in, after them, swung others. Thetide was turning from the rim. More and more were veering, and within a short time the wholeherd, bearing off from the cliffs, was pounding over the open plains.
	16Whose race was it? It was Peroxide Jim’s, according to Wade, for not by word or by touch of handor knee had the horse been directed in the run. From the flash of the lightning the horse hadtaken the bit, had covered an indescribably perilous path at top speed, had outrun the herd andturned it from the edge of the rim rock, without a false step or a tremor of fear.
	From “The Spirit of the Herd” by Dallas Lore Sharp—Public Domain
	26.Which sentence from the excerpt best explains why Wade reserved Peroxide Jim for “emergencywork” (paragraph 1)?
	E.“Are there not superior horses as well as superior men—a Peroxide Jim to complement aWade?” (paragraph 1)F.“Before him, behind him, beside him, pressing hard upon his horse, galloped the frenziedsteers, and beyond them a multitude borne on, and bearing him on, by the heave of thegalloping herd.” (paragraph 10)G.“He knew that he was being borne toward the rim, how fast he could not tell, but he knew bythe swish of the brush against his tapaderos and the plunging of the horse that the groundwas growing ston
	27.Paragraphs 1–2 contribute to the development of the central idea of the excerpt by
	A.revealing the respect Wade had for his horse.B.emphasizing Wade’s high expectations of his horse and himself.C.indicating that Wade and his horse understood the cattle business.D.demonstrating Wade’s ability to gauge a horse’s competence.
	28.How does paragraph 3convey the effect of the setting on the cattle drive?
	E.It shows how the growing darkness created challenges for the riders in getting the herdto move.F.It describes how the changing elevation contributed to the dangerousness of theenvironment.G.It describes how the desert created an uncomfortable feeling of isolation for the riders andthe cattle.H.It shows how the steep terrain made it difficult for the cattle to keep moving forward.
	29.How does paragraph 9fit into the overall structure of the excerpt?
	A.It hints at the change in the setting that caused Wade to suddenly become alert.B.It creates a false sense of calm that shows how unprepared the men were for what wasabout to happen.C.It introduces the idea that Wade was a skillful leader in unpredictable circumstances.D.It presents the incident that caused the main conflict Wade and Peroxide Jim addressed.
	30.Read this sentence from paragraph 13.
	Close on their left bore down the flank of the herd, and on their right, under theirvery feet, was a precipice, so close that they felt its blackness—its three hundredfeet of fall!
	The phrase “bore down the flank of the herd” conveys that Wade
	E.struggled to see the front of the herd.F.had to ride quickly to keep up with the herd.G.was forced to ride between the edge of the cliff and the herd.H.knew that the drop of the cliff would frighten the herd.
	31.Read these sentences from the excerpt.
	He was riding to turn the herd, too, back from the rim, as the horse also knew.(paragraph 11)It was Peroxide Jim’s, according to Wade, for not by word or by touch of hand orknee had the horse been directed in the run. (paragraph 16)
	How do these sentences develop a central idea in the excerpt?
	A.They suggest that Wade would have been unable to save the herd without Peroxide Jim.B.They imply that Wade spent many hours training Peroxide Jim to herd cattle.C.They show that Peroxide Jim was able to understand a situation and take action.D.They indicate that Peroxide Jim was unafraid of the dangers presented by the stampede andthe cliff.
	32.How do the details in paragraphs 14–16help convey a central idea of the excerpt?
	E.They highlight Peroxide Jim’s natural ability to control the herd.F.They emphasize the danger of the situation from which Peroxide Jim rescued the herd.G.They show that Peroxide Jim’s physical strength allowed him to force the herd to turn.H.They indicate that Peroxide Jim anticipated the herd’s stampede before the men did.
	33.Which sentence from the excerpt best reveals the mood on the drive before the lightning struck?
	A.“The herd when overtaken by the dusk had been headed for a pass descending to the nextlower bench, but was now halted within a mile of the rim rock on the east, where there was aperpendicular fall of about three hundred feet.” (paragraph 3)B.“It was not to soothe their savage breasts that the riders sang to the cattle, but rather topreempt the dreaded silence, to relieve the tension, and so to prevent the shock of anysudden startling noise.” (paragraph 5)C.“He checked his horse instantly, listening as the
	CONTINUE TO THE NEXT PAGE  c
	A Miracle Mile
	1In the 1950s people compared running one mile in four minutes to scaling Mount Everest andnicknamed the feat a “dream mile.” Although such an accomplishment was considered humanlyimpossible, several elite runners aimed to break that supposedly impenetrable barrier. One ofthem was a twenty-five-year-old medical student named Roger Bannister.
	2Roger Bannister had tasted failure during the 1952 Olympics. There, he was favored to win the1,500-metercompetition, a distance slightly shorter than a mile, but he finished in a dismal fourthplace instead. Bannister’s performance was a disappointment for him and his country, GreatBritain. Determined to redeem himself, Bannister postponed his plans to retire from racing andfocused on the ultimate prize—breaking the four-minute-mile barrier.
	3Bannister attacked the elusive milestone with a positive attitude and logical planning. Theamateur athlete decided to use intensive interval training to develop endurance and speed. Forthese workouts, Bannister ran an interval of ten consecutive laps on a quarter-miletrack, aimingfor sixty seconds each lap. In between intervals, he let his body recover for two minutes.
	4By early 1954, Bannister had succeeded in lowering his quarter-milepace to sixty-oneseconds,but he had to shave off at least one more second in order to reach his target. Frustrated by theplateau he had reached, Bannister took a break from training and went mountain climbing forthree days. The rest from running permitted his muscles to recuperate and left him feelingrefreshed. When Bannister returned to the track, he completed ten quarter-mile-long intervals atfifty-nineseconds each. He finally felt prepar
	5As a member of the Amateur Athletic Association (AAA), Bannister joined the AAA team for atrack meet against Oxford University. The event took place on a cinder track in Oxford on May 6,1954. Bannister and his two AAA teammates, Chris Chataway and Chris Brasher, were closefriends and frequent running partners. Chataway and Brasher agreed to help Bannister accomplishhis goal by being his “rabbits.”
	6In track and field, rabbits are runners who enter the race solely to pace a teammate for asegment of the course. Typically, a runner settles in behind the rabbit and allows the rabbit to setan appropriate tempo. Additionally, by running behind the rabbit, the runner conserves about15 percentof his or her effort. When the starting pistol fired, Brasher pounced into the lead, andBannister followed behind his first rabbit.
	7Propelled by the excitement, Bannister lost his instinctive feel for his pace and shouted “Faster!”at Brasher. Brasher, however, remained composed and maintained his current steady but gruelingpace, completing the first two laps in a desirable one minute and fifty-eightseconds. ThenChataway surged forward, leading Bannister at this same punishing rate for another lap and ahalf. At the beginning of the back straightaway of the track, Bannister bolted past Chataway.Bannister said, “I felt that the moment of 
	8Soon after Bannister’s achievement, four other athletes matched his performance. A new mindsethad taken root among runners. Over the years, the record continued to fall. However, the currentrecord, 3 minutes43.13 seconds,has stood unbroken since 1999. Some question whether this
	record represents the limits of human ability. But perhaps there is another Bannister, an athletewho, with willpower and dedication, will accomplish the miraculous.
	34.The words “feat,” “humanly impossible,” and “impenetrable barrier” in paragraph 1affect thetone of the paragraph because they
	E.highlight the idea that only the most skilled runners would be able to run a four-minute mile.F.emphasize the idea that running a mile in less than four minutes was a seeminglyunattainable goal.G.convey the competitiveness among elite runners to consistently set and break speed records.H.show the intensity of the training programs athletes endure in order to achieve their goals.
	35.Which sentence best supports the idea that Bannister needed an alternative to “logicalplanning” (paragraph 3)in order to accomplish his goal?
	A.“Bannister’s performance was a disappointment for him and his country, Great Britain.”(paragraph 2)B.“The amateur athlete decided to use intensive interval training to develop endurance andspeed.” (paragraph 3)C.“For these workouts, Bannister ran an interval of ten consecutive laps on a quarter-miletrack, aiming for sixty seconds each lap.” (paragraph 3)D.“Frustrated by the plateau he had reached, Bannister took a break from training and wentmountain climbing for three days.” (paragraph 4)
	36.Read these sentences from paragraph 7.
	Bannister said, “I felt that the moment of a lifetime had come. There was no pain,only a great unity of movement and aim.”
	The sentences contribute to the development of ideas in the passage by showing that Bannister
	E.knew that he was about to achieve the goal he had worked toward.F.was no longer experiencing personal disappointment from his past failure in the Olympics.G.felt grateful to his teammates for helping him take the lead.H.was satisfied that his training had helped him perfect his running technique.
	37.The phrase “a new mindset had taken root” in paragraph 8conveys the idea that
	A.runners recognized that running a mile in under four minutes was physically possible.B.breaking the four-minute-mile barrier was no longer considered an impressive feat forelite runners.C.runners understood how hard they would have to train in order to run a mile in underfour minutes.D.elite runners entered races in an attempt to break the four-minute-mile barrier.
	38.Which sentence from the passage indicates that Bannister nearly made a mistake that wouldhave cost him the world record?
	E.“By early 1954, Bannister had succeeded in lowering his quarter-mile pace to sixty-oneseconds, but he had to shave off at least one more second in order to reach his target.”(paragraph 4)F.“When the starting pistol fired, Brasher pounced into the lead, and Bannister followed behindhis first rabbit.” (paragraph 6)G.“Propelled by the excitement, Bannister lost his instinctive feel for his pace and shouted‘Faster!’ at Brasher.” (paragraph 7)H.“At the beginning of the back straightaway of the track, Bannister
	39.Bannister’s loss in the 1952 Olympics influenced his decision to pursue breaking the four-minute-mile barrier by
	A.allowing him to recognize his weaknesses and improve his running ability.B.prompting him to take a different approach to his regular training.C.motivating him to prove to himself that he could set and achieve a goal.D.giving him the opportunity to reach a goal no runner had ever accomplished.
	40.How did interval training affect Bannister’s performance?
	E.It helped him learn how to moderate his pace while running.F.It helped him conserve effort when running with teammates.G.It helped him improve his pace and stamina while running.H.It helped him decrease his recovery time after an intense run.
	41.How does the author’s use of chronological structure contribute to the development of ideas inthe passage?
	A.It presents the increasing physical effects of Bannister’s training methods as he prepared tobreak the four-minute-mile barrier.B.It shows the increase in Bannister’s confidence in his ability to break the four-minute-mile barrier.C.It emphasizes the key events in Bannister’s life that inspired him to break the four-minute-mile barrier.D.It highlights the progression of Bannister’s training and details about his successful attemptto break the four-minute-mile barrier.
	The Great Serpent Mound, located in Adams County, Ohio, is a human-made mound of earth thatresearchers believe was created between 300 B.C.and A.D.1100by an indigenous culture.
	Serpent Mound
	Ohio, 1846
	Brush Creek stood low when the museum men camewith their measuring tapes and sketchbooks.It was winter. Fringed with ice,the creek doubled back on itself5as if it had forgotten something.Pa was in Cincinnati, or else on his way home,so Ma told me to lead the meninto the marshy low grounds. It being winter,there was little underbrush to speak of—
	10in the summer there would have beenbriars, poison ivy, biting flies. I listenedfor the swishof a beaver’s heavy tail,the chitter of a chickadee, or the cry of a hawk,but the winter silence of the creek pressed
	15down on all of us like a weight.The humps in the ground were all butinvisible until you were right up on them. The figurewas even less obvious: the sinuous body,the tail coiled three times around,
	20and at the other end, the mouth wide open.In the summer the creek bottom was crowdedwith so much life that you could trip overthe ridges of earth before you sawanything at all. In winter you could climb
	25a tree and get some idea of the whole thing:the serpent’s body undulating, slitheringsilently across the ancientearth. At the mouth end, there was an oval moundas if the snake were about to swallow an egg—
	30as snakes sometimes did in our ricketyhenhouse—my Pa always said, oras if swallowing the sun, one of the museummen suggested, taking notes with his quill pen,an old-style inkhorn slung at his side.
	35I liked that: swallowing the sun,just the sort of thing a snake might do,might want to do. When, later, I told my sister Ruth,she disagreed. It is singing to the sun,she insisted. That is why its mouth
	40is wide open. She said, “Sometimes I thinkI hear it on summer nights. Not swallowing, singing.”
	42.How does the poem’s form contribute to the poem’s meaning?
	E.The use of one continuous stanza and the pattern of the lines mimic the long and windingshape of the mound.F.The uneven line lengths emphasize the variety of ways people interpret the meaning ofthe mound.G.The dashes throughout the poem highlight the speaker’s changing thoughts about thesignificance of the mound.H.The lack of a regular rhyme scheme and meter convey that the speaker struggles tocomprehend the vastness of the mound.
	43.Which lines reveal how the setting affects the speaker and the men from the museum?
	A.“It being winter, / there was little underbrush to speak of—”(lines 8–9)B.“but the winter silence of the creek pressed /down on all of us like a weight.” (lines 14–15)C.“The humps in the ground were all but /invisible until you were right up on them.”(lines 16–17)D.“In the summer the creek bottom was crowded /with so much life that you could trip”(lines 21–22)
	44.Lines 1–2 contribute to the development of ideas in the poem by
	E.suggesting that the men are too busy with their work to talk to the speaker.F.helping establish the reason for the men’s visit and purposeful behavior.G.hinting that the men have hidden motives for studying the mound.H.indicating why the speaker is fascinated by the men and wants to help them.
	45.Read line 28 from the poem.
	At the mouth end, there was an oval mound
	How does the line contribute to the development of ideas in the poem?
	A.It describes a feature of the mound that the men from the museum need to document.B.It introduces a comparison of the body of the mound with the head of the mound.C.It introduces a feature of the mound that has a different meaning to different people.D.It describes a part of the mound that is difficult to see from far away.
	46.What impact do the phrases “all but / invisible” and “even less obvious” in lines 16–18have onthe meaning of the poem?
	E.They indicate that viewing the full size and shape of the mound is difficult.F.They suggest that the location of the mound is unknown to most people.G.They imply that the speaker wants the location of the mound to remain a secret.H.They reveal that the speaker is unfamiliar with the significance of the mound.
	47.What impact do the words “swish,” “chitter,” and “cry” in lines 12–13have in the poem?
	A.They illustrate how lively the mound’s surroundings are during the summer.B.They show how the mound disrupts natural life in the marsh.C.They indicate the variety of wildlife found in the area around the mound.D.They suggest that the speaker prefers the mound’s appearance in winter.
	48.How does the speaker’s interaction with Ruth in lines 37–41convey a central idea of the poem?
	E.It suggests that the most accurate interpretations of the mound come from knowing thepurpose of the mound.F.It emphasizes that there are multiple interpretations of the mound based on feelings andexperiences.G.It reveals the benefit of considering different interpretations of the mound’s significance.H.It implies that scientific study of the mound’s purpose will affect what the mound symbolizesto people.
	49.The poet contrasts the speaker’s and Ruth’s points of view regarding the mound by usingdialogue to
	A.imply that Ruth is worried that her interpretation of the mound will be seen as too abstract.B.indicate that Ruth hopes her interpretation of the mound will be shared by the men fromthe museum.C.suggest that Ruth wants the speaker to agree with her interpretation of the mound.D.show that Ruth has already decided on her interpretation of the mound.
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	A Memory Revolution
	1A high school senior logs on to a computer at the library to double-check the application due datelisted on a college admissions website. Nearby, a librarian helps a group of biology students use adatabase to search for recent studies about mammals. In the past few decades, the Internet hasbecome an integral component of daily life for many people. The seemingly limitless power ofsearch engines made the Internet search extremely common, and today people increasingly relyon the Internet’s vast accumulation 
	A Dependable and Valuable Asset
	2Psychologist Benjamin Storm from the University of California, Santa Cruz, and researchers SeanStone and Aaron Benjamin devised an experiment to study students’ tendency to depend on theInternet for facts. To begin, the scientists divided sixty participants into multiple groups, includingan “Internet” group and a “memory” group, and placed them in front of computers. The Internetgroup was required to use the search engine Google to answer eight challenging trivia questions.In contrast, participants in the 
	3People’s growing inclination to rely on the Internet in order to retrieve information, particularlyfacts and figures, is called cognitive offloading. Canadian researcher Evan F. Risko and Britishresearcher Sam Gilbert, who have written extensively about the topic, say a similar process hasbeen taking place for centuries. In the past, people used resources like encyclopedias to assisttheir memories; however, today the Internet, serving as a vast extended memory, allows peopleto digitally access and retrieve
	Filing Information Away
	4The use of the Internet also appears to be modifying the strategies people use to storeinformation in their mind. Researchers Betsy Sparrow from Columbia University, Jenny Liu fromthe University of Wisconsin-Madison, and Daniel Wegner from Harvard University conductedseveral studies to discover how people efficiently manage their information intake.
	5To begin, the researchers examined how people evaluate which information deserves their effortto remember. For this experiment, participants read forty trivia facts, such as “An ostrich’s eye isbigger than its brain,” and typed the statements into a computer file. Half the participants hadbeen previously told the file would be saved, while half believed it would be erased. Next, theparticipants wrote down every fact they could recall. Those who believed the information would beerased and no longer availabl
	6In another experiment, the same researchers tested the ability of study participants to rememberwhere to access information. For this trial, participants read and typed trivia statements, whichthey saved in folders with generic names such as “Facts” and “Items.” After spending ten minuteswriting down all the facts they could recall from memory, participants were asked which foldercontained a particular fact based on a keyword. For example, “Which folder has the fact aboutostriches?” Overall, participants r
	7As the Internet’s resources continue to expand our “external” memory, some question whetherthe process may cause people to depend too heavily on technology. However, Steven Pinker, aprofessor of psychology at Harvard University, says, “Knowledge is increasing exponentially;human brainpower and waking hours are not. Fortunately, the Internet and informationtechnologies are helping us manage, search and retrieve our collective intellectual output atdifferent scales, from Twitter and previews to e-books and o
	 HOW MEMORY WORKSSensoryMemoryShort-TermMemoryLong-TermMemoryNew InformationAttentionRehearsalRetrievalInformation ismaintained throughrepetition.Some informationmay be forgottenover time.Unrehearsedinformation isforgotten.Storage
	50.The details in paragraph 3 about cognitive offloading convey a central idea of the passage by
	E.suggesting that reliance on the Internet for information is inevitable.F.demonstrating how the methods used to store and find information have changed over time.G.explaining how encyclopedias and the Internet are similar sources of information.H.implying that more information can be understood now than ever before.
	51.How do the details about the experiment described in paragraph 5convey a central idea ofthe passage?
	A.They suggest that the act of repeating information by typing it on a keyboard may improve aperson’s memory.B.They explain that a person will forget information faster if the information is consideredunimportant.C.They indicate that a person may start to forget details when the amount of informationbecomes overwhelming.D.They suggest that memory is affected by whether a person expects to have access to theinformation in the future.
	52.Read this sentence from paragraph 7.
	As the Internet’s resources continue to expand our “external” memory, somequestion whether the process may cause people to depend too heavily ontechnology.
	How does the sentence contribute to the structure and development of ideas in the passage?
	E.It presents a claim about the risks of relying on the Internet that prompted the researchdescribed in paragraphs 2and 6.F.It contrasts a disadvantage of relying on the Internet with the benefits of Internet use thatare described in paragraphs 2and 6.G.It signals a shift from a neutral viewpoint in paragraphs 2and 6 to a presentation of anargument and a counterargument.H.It introduces a counterargument and marks a transition from an optimistic tone inparagraphs 2and 6 to a cautious tone as the counterargum
	53.The study described in paragraph 6influenced researchers’ ideas about memory in the digitalage by
	A.highlighting instances when organizing detailed information made it easier to remember.B.confirming that keywords can be remembered more easily than large amounts ofinformation.C.identifying a shift in focus from remembering specific information to knowing where to find it.D.emphasizing that remembering a basic idea is more important than storing detailedinformation.
	54.How does the diagram provide additional support for the topic presented in the passage?
	E.It reveals why human brains must adapt to obtaining information from the Internet asopposed to other sources.F.It indicates how people can use the Internet to help improve their long-term recollection ofinformation.G.It shows how study participants’ brains distinguished between important andunimportant details.H.It depicts the idea that repetition and rehearsal are necessary to recall information whentools such as search engines are unavailable.
	55.Which evidence from the passage is most relevant to the claim in paragraph 7that “ ‘farfrommaking us stupid, these technologies are the only things that will keep us smart’ ”?
	A.the revelation that most people opted to use the Internet to answer relatively easy triviaquestions rather than relying on their own brainpower (paragraph 2)B.the assertion that the storage of information on the Internet frees people to focus on higher-order tasks such as problem solving (paragraph 3)C.the connection between how people organize information in their mind and their ability torecall that information (paragraph 5)D.the description of transactive memory as an expansive external source that peo
	56.Which sentence from the passage suggests that using Internet search engines may lead peopleto rely less on their own ability to recall information?
	E.“In the past few decades, the Internet has become an integral component of daily life formany people.” (paragraph 1)F.“The Internet group was required to use the search engine Google to answer eightchallenging trivia questions.” (paragraph 2)G.“Their results showed that 83 percentof the Internet group continued to consult Google inthe second round, while only 63 percentof the memory group chose to do so.” (paragraph 2)H.“For this experiment, participants read forty trivia facts, such as ‘An ostrich’s eye 
	57.The effect of the Internet on a person’s memory is illustrated in the passage through thepresentation of studies that
	A.examine how the use of search engines changes the way people evaluate and storeinformation for future access.B.highlight the difference between the capacity of the Internet and the ability of the humanbrain to locate information.C.compare the type of information that can be obtained from the Internet with the type ofinformation that is stored in the human brain.D.emphasize the ease of obtaining information through search engines rather thanremembering it without assistance.
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	PART2 — MATheMATics
	57 QUESTIONS
	IMPORTANT NOTES
	(1)Formulas and definitions of mathematical terms and symbols are notprovided.
	(1)Formulas and definitions of mathematical terms and symbols are notprovided.
	(1)Formulas and definitions of mathematical terms and symbols are notprovided.

	(2)Diagrams other than graphs are notnecessarily drawn to scale. Do not assume any relationship ina diagram unless it is specifically stated or can be determined from the information given.
	(2)Diagrams other than graphs are notnecessarily drawn to scale. Do not assume any relationship ina diagram unless it is specifically stated or can be determined from the information given.

	(3)Assume that a diagram is in one plane unless the question specifically states that it is not.
	(3)Assume that a diagram is in one plane unless the question specifically states that it is not.

	(4)Graphs are drawn to scale. Unless stated otherwise, you can assume relationships according toappearance. For example, lines on a graph that appear to be parallel can be assumed to beparallel. This is also true for concurrent lines, straight lines, collinear points, right angles, etc.
	(4)Graphs are drawn to scale. Unless stated otherwise, you can assume relationships according toappearance. For example, lines on a graph that appear to be parallel can be assumed to beparallel. This is also true for concurrent lines, straight lines, collinear points, right angles, etc.

	(5)Reduce (simplify) all fractions to lowest terms.
	(5)Reduce (simplify) all fractions to lowest terms.


	GRID-IN QUESTION NOTES
	(1)For each grid-in question, write your answer at the top of the grid.
	(1)For each grid-in question, write your answer at the top of the grid.
	(1)For each grid-in question, write your answer at the top of the grid.

	(2)Begin recording your answer in the columns on the far left.
	(2)Begin recording your answer in the columns on the far left.

	(3)Fill in the circle under the box that matches the number or symbol you wrote. Leave the negativesign bubble blank if your answer is positive.
	(3)Fill in the circle under the box that matches the number or symbol you wrote. Leave the negativesign bubble blank if your answer is positive.


	(Answer: –1.5)Negativesign  →Decimalpoint ←
	(Answer: 3.2)Negativesign  →Decimalpoint ←
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	GRID-INQUESTIONS
	QUESTIONS58–62
	DIRECTIONS:solve each problem. On the answer sheet, write your answer in the boxes at the topof the grid. start on the left side of each grid. Print only one number or symbol in each box. Undereach box, fill in the circle that matches the number or symbol you wrote above.
	•  Do not fill in a circle under an unused box.
	•  Do not fill in a circle under an unused box.
	•  Do not fill in a circle under an unused box.

	•  Do not leave a box blank in the middle of an answer.
	•  Do not leave a box blank in the middle of an answer.


	58.How many 5-digit numbers can be createdusing the digits 2, 3, 5, 7, and 8 withoutrepeating any digits within that 5-digitnumber?
	59.
	−=x1471212
	What is the value of xin the equationshown above?
	60.
	()()−−−+−−=654.239.6
	61.Tyler has completed 60 pages in hisFrench workbook. This is 20% of the totalnumber of pages in the workbook. Howmany pages are in the workbook?
	62.
	 y°25°60°30°P
	Four straight lines intersect at point Passhown above. What is the value of y?
	MulTIplEChOICEQuESTIONS
	QUESTIONS63–114
	DIRECTIONS:Solve each problem. Select the best answer from the choices given. Mark the letterof your answer on the answer sheet. When you are solving problems, you can write in the testbooklet or on the scrap paper given to you.
	63.
	If 
	x9=
	and 
	=−y7
	, what is the value of
	()−xxy2
	?
	A.18B.45C.144D.207
	64.
	 PQT70°50°RS
	In the figure above, 
	PQRS
	is aparallelogram. The measure of 
	∠PQT
	is
	50
	°
	, 
	and the measure of 
	∠PTQ
	is 
	70
	°
	.
	What is the measure of 
	∠QRS
	?
	E. 
	60°
	F. 
	70°
	G. 
	80°
	H. 
	120°
	65.
	===+=>MNPQR34570
	Based on the statement above, whichvariable has the greatestvalue?
	A. M B. N C. P D. R 
	66.
	DESSERT CHOICES
	Dessert
	Dessert
	Dessert
	Number of TimesOrdered

	Cookies
	Cookies
	42

	Pie
	Pie
	23

	Cake
	Cake
	47

	Ice Cream
	Ice Cream
	48


	The table above shows the number oftimes that different desserts were orderedat a restaurant. Based on this information,what is the probability of a customerordering ice cream as a dessert?
	E.25%F.30%G.40%H.48%
	67.To make party invitations, Macie could buya package of paper for $10.50, or shecould buy x individual sheetsof the samepaper for $0.15 each. What is the largestvalue of xthat would make buying theindividual sheets lessexpensive thanbuying the package?
	A.60B.65C.69D.70
	68.At 1:00 p.m. one day, the temperaturewas 8 degreesabove zero. During the restof the day, the temperature fell 3 degreesper hour. What was the temperature at7:00 p.m.that day?
	E.
	 −°13
	F.
	 −°10
	G.
	 −°7
	H.
	  °5
	69.A bag contains 75 marbles that are red,blue, or green. The ratio of red to bluemarbles is 15:7, and the ratio of blue togreen marbles is 7:3. If 2 blue marblesare removed and replaced with 2 greenmarbles, what will be the new ratio of redto green marbles?
	A.3:1B.5:1C.15:3D.45:11
	70.A roofing contractor uses shingles at arate of 3 bundles for every 96 square feetof roof covered. At this rate, how manybundles of shingles will he need in orderto cover a roof that is 416 square feet?
	E.5 F.12G.13H.14
	71.What is the least common multiple of 24,6, and 18?
	A.36B.48C.72D.144
	72.One day, the Early Bird Restaurant used15 dozeneggs for 200 breakfastcustomers. At this rate, approximatelyhow many dozen eggs are needed for 300breakfast customers?
	E.20F.23G.25H.30
	73.A cooler contains three types ofbeverages:5 bottles of apple juice, 3 bottles ofgrape juice, and 6 bottles of orange juice.What is the probability that a bottlechosen at random from this cooler is notapple juice?
	A.
	 19
	B.
	 514
	C.
	 914
	D.
	 23
	74.A large circular dinner plate has a radiusof 20 centimeters.A smaller circular platewith a circumference of 
	20π
	centimetersis placed in the center of the larger dinnerplate. What is the area of the part of thelarger dinner plate that is not covered bythe smaller plate?
	E. 20π sq cm F. 100π sq cm G. 200π sq cm H. 300π sq cm 
	75.
	PRICES FORNEWSPAPERADVERTISING
	Page Space
	Page Space
	Page Space
	Price

	page
	page
	14

	$200

	page
	page
	12

	$350

	full page
	full page
	$600


	The table above shows prices fornewspaper advertising. A store purchased 
	14
	pages, 
	12
	pages,and full pages ofpage space in equal numbers for a total of$11,500. What is the total amount of pagespace the store purchased?
	A.
	 pages134
	B. 10 pages 
	C.
	  pages1612
	D.
	  pages1712
	76.
	How many positive odd numbers satisfythe inequality 
	+≤x3892
	?
	E.13F.14G.17H.28
	77.If
	=yx364
	, what is the value of 
	x
	when
	=y3
	?
	A.3 B.4 C.9 D.12
	78.Points X, Y, and Zare on a straight line,and Yis between Xand Z. Length
	YZ35XY=
	, and length 
	=XY20
	centimeters.What is the lengthof 
	XZ
	?
	E.12 cmF.24 cmG.30 cmH.32 cm
	79.Bryana bought 
	134
	yards of cloth at $8.00per yard. If there was an 8% sales tax,what was the total cost of the cloth?
	A.$12.96
	B.
	$14.08
	C.$15.12D.$16.08
	80.
	M113N
	On the number line above,
	 =MN556
	.What is the position of point 
	M
	?
	E.
	 −716
	F.
	 −412
	G.
	 412
	H.
	  716
	81.A United States presidential coin is madefrom an alloy of four metals—copper, zinc,manganese, and nickel—with weights inthe ratio of 177:12:7:4, respectively. Thecoin weighs a total of 8 grams.What isthe weight of the zinc in this coin?
	A.0.28 gB.0.48 gC.0.96 gD.48 g
	82.Jack scored a mean of 15 pointsper gamein his first 3 basketballgames. In his4th game,he scored 27 points.What ishis mean score for the first 4 games?
	E.15F.17G.18H.21
	83.
	A cylindrical oil drum can hold 4,320 literswhen it is completely full. Currently, thedrum is 
	13
	full of oil. How many kilolitersof oil need to be added in order to fill thedrum completely?
	A.1.44B.2.88C.4.32D.14.10
	84.Nicole’s age now is three times Carmen’sage. If Carmen will be 17 in two years,how old was Nicole 5 yearsago?
	E.38 yrF.40 yrG.45 yrH.50 yr
	85.A chemical decays in such a way that theamount left at the end of each week is20% less than the amount at thebeginning of that same week. Whatpercent of the original amount is left aftertwo weeks?
	A.40%B.60%C.64%D.80%
	86.
	If 
	w1−
	is an odd integer, which one ofthe following mustbe an even integer?
	E.
	 +w1
	F.
	 −w21
	G.
	 −w22
	H.
	 +w21
	87.Three students stand at the starting lineof a running track and begin running lapsat the same time. Ann completes 1 lapevery 2 minutes,Jack completes 1 lapevery 3 minutes,and Lee completes 1 lapevery 4 minutes.How many laps doesAnn complete before all three runnersare once again at the starting line at thesame time?
	A.4 B.6 C.12D.20
	88.Simplify this expression:
	()()−−−xx4735
	E.
	 −x234
	F.
	 −x2311
	G.
	 −x284
	H.
	 −x2812
	89.
	PET SURVEY
	Number of Pets
	Number of Pets
	Number of Pets
	Number ofStudents

	0
	0
	12

	1
	1
	16

	2
	2
	7

	3 or more
	3 or more
	5


	Amy surveyed students at her schoolabout the number of pets they have.What is the probability that a studentwho participated in the survey has atleast 2 pets?
	A.
	 740
	B.
	 112
	C.
	 18
	D.
	 310
	90.A large container is partially filled with nliters of water. Ito adds 10 liters of waterto the container, making it 60% full. IfIgnacio adds 6 more liters of water, thecontainer will be 75% full. What is thevalue of n?
	E.14F.15G.26H.30
	91.
	xxx539132+++
	If
	=x10
	, what is the value of theexpression above?
	A.2,539.01B.5,039.01C.5,039.1D.5,139
	92.
	 MPNRST6 cmQ
	R, S, and T are midpoints of the sides ofsquare MNPQ, as shown above. What isthe sum of the areas of the shadedtriangles?
	E.9 sq cmF.12 sq cmG.18 sq cmH.36 sq cm
	93.The Chens spend $5 of every $8 they earnon planned expenses. If the family earns$29,600 in one year, how much will theyspend on planned expenses that year?
	A.$1,850
	B.
	$3,700
	C.$5,920D.$18,500
	94.A pizza shop offers a choice of 3 sizes(small, medium, and large) and 7 differenttoppings. Different pizzas can be createdby changing the size and/or the choice oftoppings. If Cody wants to order a pizzawith exactly 2 different toppings, howmany different pizzas can he create?
	E.6 F.21G.63H.126
	95.
	SURVEY OF CATS PER FAMILY
	Number of Cats
	Number of Cats
	Number of Cats
	Number of Families

	0
	0
	15

	1
	1
	42

	2
	2
	35

	3 or more
	3 or more
	8


	The table above shows the number of catsper family in 100 households in the Blaineneighborhood. By what percentageis thenumber of families with 1 cat greater thanthe number of families with 2 cats?
	A.7%B.10%C.17%D.20%
	96.A wooden box has a square base. Theheight of this box is 3 timesthe length ofone side of the base. If one side of thebase is 3 feetlong, what is the volume ofthis box?
	E.
	9 cu ft
	F.
	27 cu ft
	G.
	36 cu ft
	H.
	81 cu ft
	97.On a bike trip, Rajiv traveled 65kilometers in 5 hours, while Shainatraveled 72 kilometers in 4 hours. Howmuch lesswas Rajiv’s mean speed, inkilometers per hour (kph), than Shaina’s?
	A.1 B.5 C.7 D.9 
	98.Points P, Q, R, and S represent 
	−−3,1, 0,
	and 
	2,
	respectively, on a number line.How many units is the midpoint of 
	PQ
	from the midpoint of 
	RS
	?
	E.1 F.2 G.3 H.4 
	99.There are 1,000 cubiccentimeters in1 liter,and 1,000 cubicmillimeters in1 milliliter.How many cubic millimetersare there in 1,000 cubiccentimeters?
	A.1,000B.10,000C.100,000D.1,000,000
	100.
	2yx +  1
	In the quarter circle above, what is yinterms of x?
	E.
	 −x1
	F.
	 +x1
	G.
	+x12
	H.
	 ()+x122
	101.
	 1458−RMT
	The hash marks on the number line aboveare evenly spaced. What is the coordinateof point R?
	A.
	 740
	B.
	 940
	C.
	 1140
	D.
	 2140
	102.Phan chose an Internet service thatcharges $18.00 per month plus $0.024per minute. Deion chose an Internetservice that charges $30.00 per month forunlimited usage. At the end of the month,Phan’s and Deion’s charges were identical.For how many minutes did Phan use theInternet service that month?
	E.50F.60G.100H.500
	103.
	 Oyxnm4
	What is the area of the shaded triangleshown above?
	A.
	 +mn
	B.
	 −nm
	C.
	 ()−nm2
	D.
	 ()−nm4
	104.
	The decimal 0.06 can be written as thefraction 
	x50
	. What is the value of 
	x
	?
	E.3 F.6 G.12H.30
	105.In a sample of 50 cars at a localdealership, there are 12 red cars and 10cars with backup cameras. Of the 12 redcars, 4 have backup cameras. If a car isselected at random from the givensample, what is the probability that bothof the following are true: the car is notred and does nothave a backup camera?
	A.
	 35
	B.
	 1625
	C.
	 1925
	D.
	  45
	106.
	ANIMAL CARDS
	Number of Cards
	Number of Cards
	Number of Cards
	Picture on Card

	8
	8
	cat

	6
	6
	dog

	5
	5
	bird

	4
	4
	fish

	1
	1
	horse


	The cards in the table above are mixed ina box. Which animal pictured on a cardhas exactly a 1 in 4 chance of beingpicked at random from the box?
	E.catF.dogG.fishH.horse
	107.Which number line below shows thesolution set for 
	22410−≤≤+xyx
	when 
	=y1
	?
	A.
	 023–2–3–11
	B.
	 023–2–3–11
	C.
	 023–2–3–11
	D.
	 023–2–3–11
	108.
	=p14217
	In the equation above, what is the valueof p?
	E.
	 23
	F.3 
	G.
	 143
	H.14
	109.A ball is selected at random from a boxthat contains 7 black balls, 14 green balls,and 21 red balls. What is the probabilitythat the ball selected is black?
	A.
	 16
	B.
	  15
	C.
	1  3
	D.
	  56
	110.At North High School, a survey asked twoquestions, Question Aand Question B.Foreach question, students could answereither “yes” or “no.” Of the 800 studentswho responded to the survey, 720answered “yes” to Question A,and 640answered “yes” to Question B.What is theleastpossible number of these studentswho could have answered “yes” to bothquestions?
	E.80F.160G.560H.640
	111.Raoul is at least 3 yearsolder than Vahn.Which of the following inequalities givesthe relationship between Raoul’s age (r)and Vahn’s age (v)?
	A.
	 −≥rv3
	B.
	 −≤rv3
	C.
	 −≤vr3
	D.
	 −≤rv3
	112.1 sind = 5.6 ricks1 sind = 12.88 daltsUsing the conversion above, how manydalts are equal to 1 rick?
	E.0.43F.2.30G.7.28H.18.48
	113.There are now xcans stacked on a shelfthat holds 36 cans when full. If 4 of thesecans were removed, the shelf would behalf full. What is the value of x?
	A.14B.16C.18D.22
	114.Carlos tossed a paper cup in the air 50times and found that the probability of itlanding on its side was 72%. If he tossesthe cup in the air 150 moretimes, what isthe total number of times he can expectthe cup to land on its side?
	E.72F.108G.144H.158
	THIS IS THE END OF THE TEST.IF TIME REMAINS, YOU SHOULD CHECKYOUR ANSWERS.  BE SURE THAT THEREARE NO STRAY MARKS, PARTIALLYFILLED ANSWER CIRCLES, ORINCOMPLETE ERASURES ON YOURANSWER SHEET. j
	   FORM B
	 SAMPLE TEST – ENGLISH LANGUAGE ARTS EXPLANATIONS  OF CORRECT ANSWERS
	REVISING/EDITING PART A
	1.The question asks for the best way to combine the sentences to clarify the relationship betweenthe ideas.
	A.Incorrect. Even though the two ideas from the original sentences are incorporated into thecombined sentence, the use of the conjunction “while” in the first part of the sentencesuggests that there is a simultaneous but unrelated relationship between the two ideas,which is incorrect.
	B.Incorrect. The combined sentence incorporates the ideas from both sentences, but theconjunction “although” suggests that scientists were allowed to collect data even thoughthere were flyby missions, which is an inaccurate way to express the relationship betweenthe ideas.
	C.CORRECT.This sentence is the best way to combine the sentences because it accuratelyreflects the relationship between the ideas by using the nonrestrictive clause “which allowscientists to collect data about the planet and its moons” to describe the purpose of the flybymissions. (Nonrestrictive clauses are adjective clauses that give additional information abouta word or phrase. They sometimes begin with the relative pronoun “which” and are set off bycommas.) The idea that the missions “have been happenin
	D.Incorrect. The combined sentence uses the conjunction “but” to connect the ideas in the twooriginal sentences. This suggests an adverse relationship between ideas, which is aninaccurate way to connect the ideas expressed in the original sentences.
	2.The question asks for the identification of the sentence that has an error in its construction andshould be revised.
	E.Incorrect. There are no errors in the structure of sentence 1.The clause “who played in theLong Island area at the time” correctly modifies the noun “New York Nets.” “Who” is thecorrect relative pronoun to serve as the subject of the modifying clause because it refers topeople rather than objects or things.
	F.CORRECT.Sentence 2 contains a structural error. The current placement of the clause“where the Nets played for thirty-five seasons” suggests the clause is modifying the term“financial troubles,” which is illogical. The clause “where the Nets played for thirty-fiveseasons” should immediately follow the location, “New Jersey.” A revised version of thesentence might read, “After the team had financial troubles, the owner of the Nets decided totake the team to New Jersey, where the Nets played for thirty-five 
	G.Incorrect. There are no errors in the structure of sentence 3.The phrase “including twoappearances in the NBA finals” is a nonrestrictive phrase that provides further detail aboutthe team’s “sixteen playoff appearances.” The phrase is set off by a comma because it is notessential to understanding the meaning of the sentence.
	H.Incorrect. There are no errors in the structure of sentence 4.The clause “where the teamnow plays under the name the Brooklyn Nets” is a nonrestrictive clause that provides furtherdetail about the team after its move back to New York in 2012. The phrase is set off by acomma because it is not essential to understanding the meaning of the sentence.
	3.The question asks how the paragraph should be revised.
	A.Incorrect. The revisions in this option introduce new errors. The word “spent” is correct in thepast tense because that is the tense used throughout the rest of the paragraph. Additionally,adding a comma after the word “play” would be incorrect because it would separate theprepositional phrase “at the community theater” from the rest of the sentence.
	B.Incorrect. The revisions in this option introduce new errors. The word “did” is correct aswritten in the past tense because the past tense is used throughout the paragraph. Thereis no comma needed after the word “projection” because “so” is not functioning as aconjunction but rather as part of the conjunction phrase “so that,” which does not takea comma.
	C.CORRECT.Changing the word “studies” from the present tense to the past tense “studied” isnecessary to match the past tense established in the paragraph (“spent,” “recited”).Additionally, the comma after the word “emotions” needs to be removed because the words“emotions and motivations” are part of a group (series) of two elements, and when there areonly two elements in a series, a comma is not used.
	D.Incorrect. The revisions in this option introduce new errors. The word “recited” is correct aswritten in the past tense because the past tense is used throughout the paragraph. Also,removing the comma after “times” is incorrect because the comma is needed in order toseparate the modifying phrase “making slight adjustments and improvements to herperformance each time” from the main clause.
	4.The question asks for the revisions that are needed to correct errors in the paragraph.
	E.Incorrect. The revisions introduce new errors. The colon after “wonder” is needed to set offthe question “what is the difference between the two?” from the rest of the sentence. Inaddition, changing the verb “is” to “are” would be incorrect with the use of the singular noun“difference,” which is the subject in the question.
	F.Incorrect. The revisions introduce new errors. The comma following the introductory phrase“To start with” helps with clarity and is needed to separate the phrase from the rest of thesentence. Changing “it is” to “they are” would be incorrect with the use of the singular noun“butterfat content,” which is what the words “it is” refer to in the sentence.
	G.Incorrect. The revisions introduce new errors. The comma following “process” is necessary toset off the nonrestrictive clause “which adds less air to the frozen treat” from the rest of thesentence. This clause is considered a nonrestrictive clause because it provides additional, butnot essential, information about the mixing process. Changing the verb “makes” to “make”would be incorrect with the use of the singular noun “mixing process,” which is the subject ofthe sentence.
	H.CORRECT. Deleting the comma after “gelato” would include the clause “and allow it to meltmore quickly” with the first part of the clause “which enhances the texture and flavor of thegelato.” The word “and” between the two verb phrases (“enhances the texture and flavor ofthe gelato” and “allow it to melt more quickly”) indicates that the two verb phrases share asubject, “which” (referring to the act of serving gelato 10 to 15 degrees warmer than icecream). The two ideas should not be separated by a comma w
	REVISING/EDITING PART B
	Martial Arts for the Mind and Body
	5.The question asks for the best way to combine sentences 2and 3.
	A.Incorrect. This way of combining sentences 2and 3 places unnecessary emphasis oncharacterizing historians, and it does not clearly show the contrasting relationship betweenthe idea from sentence 2that historians do not know the exact origins of martial arts and theidea in sentence 3that historians know that martial arts have a long history.
	B.CORRECT.This option is correct because the word “while” at the beginning of the sentencebest indicates the contrast between the ideas in sentences 2and 3. Sentence 2states thathistorians do not know the exact origins of martial arts (“unsure of exactly when andwhere”). Sentence 3describes what historians do know about these origins (“practiced byseveral different societies for many centuries”). This combination indicates that historianshave a general understanding about the origins of martial arts even th
	C.Incorrect. Starting this sentence with the word “because” indicates a cause-and-effectrelationship that does not exist between the ideas in the original sentences. The idea fromsentence 3,that historians know that martial arts have been practiced for many years, didnot cause the idea in sentence 2,that historians do not know exact details about the originsof martial arts.
	D.Incorrect. The conjunction (connecting word) “and” does not clearly show how the ideas insentences 2and 3 are related. While “and” can be used to combine related sentences, it doesnot demonstrate the contrast between the idea in sentence 2,that historians do not know theexact origins of martial arts, and the idea in sentence 3,that historians know that martialarts have a long history.
	6.The question asks where sentence 10should be moved to improve the organization of thesecond paragraph.
	E.Incorrect. Starting this paragraph with sentence 10would weaken the paragraph’sorganization because it would place a supporting detail sentence (sentence 10)before thetopic sentence (sentence 6).Sentence 6belongs at the beginning of the paragraph because itintroduces the topic—the qualities of discipline, focus, and respect. Sentence 10supports thekey idea of the paragraph, that these qualities can be developed through the study of martialarts. If sentence 10preceded sentence 6, the transitional phrase “f
	F.Incorrect. Sentence 6 presents the idea that “discipline, focus, and respect are importantqualities for everyone to have,” but the example in sentence 10does not directly relate tothis idea. Sentence 10explains how martial arts develop these qualities, not why they areimportant qualities to have. Because sentence 10is not directly related to the idea insentence 6(the qualities are important), it should not follow sentence 6.
	G.Incorrect. Sentences 7 and 8 should not be separated, because the idea presented insentence 8—that “the study of martial arts can provide an opportunity to develop theseskills”—is directly related to the idea from sentence 7—that the skills of discipline, focus, andrespect “are not innate; they must be learned and practiced.” Sentence 10supports the ideafrom sentence 8by describing an example from a typical martial arts class, so sentence 10should not precede sentence 8.
	H.CORRECT.This option is correct because sentence 10logically follows and supports the ideain sentence 8that “the study of martial arts can provide an opportunity to develop” thequalities of discipline, focus, and respect. Sentence 10explains this idea with examples,describing three specific ways that students in a typical tae kwon do class develop discipline,focus, and respect—by “diligently practicing,” “listening carefully,” and “bowing to theinstructor and following directions.”
	7.The question asks for the revision of sentence 12that best maintains the formal styleestablished in the passage.
	A.Incorrect. The phrases “A lot,” “put up with,” “difficult things,” and “do well in school” areworded informally; therefore, this sentence does not consistently maintain the formal styleestablished in the passage.
	B.Incorrect. The phrases “deal with,” “tough situations,” “stay on top of,” and “do well in life”are worded informally; therefore, this sentence does not consistently maintain the formalstyle established in the passage.
	C.CORRECT.This option is correct because it uses clear and scholarly wording throughout thewhole sentence. The phrases “many teenagers,” “encounter challenges,” and “succeed bothacademically and personally” make the sentence’s style more consistently formal than theother options.
	D.Incorrect. The phrases “A lot,” “face problems,” and “keep up with” are worded informally;therefore, this sentence does not consistently maintain the formal style establishedin the passage.
	8.The question asks for the transitional phrase that should be added to the beginning ofsentence 17.
	E.CORRECT.This option is correct because it best shows the chronological progressionbetween the ideas in sentence 16—progressing through levels of achievement “requiresstudents to take responsibility and be accountable for achieving set goals”—and the ideas insentence 17—“students gain confidence and experience companionship with other studentswho are progressing through the ranks.” The transitional phrase “over time” shows thegradual nature of the relationship between the cause in sentence 16and the effect
	F.Incorrect. Though the ideas in sentences 16and 17 are related, “in fact” does not show thecorrect relationship between the ideas. The transitional phrase “in fact” emphasizes an ideaby giving a detail or example of greater intensity, but the ideas in sentence 16—progressingthrough levels “requires students to take responsibility and be accountable for achieving setgoals”—and the ideas in sentence 17—“students gain confidence and experiencecompanionship with other students who are progressing through the r
	G.Incorrect. The transitional phrase “even so” is used to connect opposing ideas, but the ideasin sentence 16—progressing through levels “requires students to take responsibility and beaccountable for achieving set goals”—does not contrast with the ideas in sentence 17—“students gain confidence and experience companionship with other students who areprogressing through the ranks.”
	H.Incorrect. Although the transitional phrase “for instance” connects an idea with a relatedexample, it does not show the cause-and-effect relationship between the ideas insentence 16—progressing through levels “requires students to take responsibility and beaccountable for achieving set goals”—and the ideas in sentence 17—“students gainconfidence and experience companionship with other students who are progressing throughthe ranks.”
	9.The question asks for the sentence that would best follow and support sentence 18.
	A.Incorrect. Though the idea of advancing one’s career is certainly appealing for adults, thisbenefit is not directly tied to “health and fitness” and, therefore, does not supportsentence 18.
	B.Incorrect. While the passage does discuss potential benefits related to discipline, focus, andconfidence (sentences 6and 11), sentence 18is solely related to health and fitness benefitsand should not be followed by a description of “other skills.”
	C.CORRECT.This option is correct because sentence 18conveys that the greatest benefit ofpracticing martial arts is “health and fitness,” and the sentence illustrates some specific waysthat martial arts training helps improve physical fitness—“strengthen their heart, boostendurance, improve balance, and develop muscle tone.”
	D.Incorrect. Some readers may choose this option because sentence 5,sentence 15,andsentence 18discuss the physical aspects of practicing martial arts, but the idea that peoplewho practice martial arts are concerned about their overall health does not provide furtherdetails about the connection between training and health.
	10.The question asks for the concluding sentence that best replaces sentence 23and supports thetopic presented in the passage.
	E.Incorrect. The phrase “the skills needed to progress in rank” is vague, and progressing inrank is not related to the overall topic of the passage, which is the benefits of studyingmartial arts. The topic of the passage is not the “many ways to begin studying martial arts”or how “people can easily discover” the benefits of martial arts.
	F.CORRECT.This option is correct because it best supports the topic of the passage—thebenefits of studying martial arts—by stating two reasons why people should study martialarts: to “experience the satisfaction of achieving goals while also improving themselves.”
	G.Incorrect. Some readers may choose this option because it refers to the benefits of martialarts, but the word “because” and the detail that “enrollment in martial arts courses hasincreased” make this sentence unrelated to the overall topic of the passage, which is aboutthe benefits of studying martial arts, not the number of people who participate.
	H.Incorrect. Although the benefits of studying martial arts are described for both teens (in thethird paragraph) and adults (in the fourth paragraph), the topic of the passage is the overallbenefits of studying martial arts, which include mental discipline (discussed in the first,second, and third paragraphs) in addition to health benefits. Furthermore, the passage doesnot compare the health effects of studying martial arts across age groups.
	READING COMPREHENSION
	Wolves of the Sea
	11.The question asks how the details about Darimont in paragraph 1contribute to a central idea ofthe passage.
	A.Incorrect. Although paragraph 1 includes the detail that the Great Bear Rainforest is aprotected area, finding an ideal location to study wolves is not a central idea of the passage.Additionally, the paragraph does not describe Darimont’s beliefs about the Great BearRainforest.
	B.CORRECT.Paragraph 1 explains why Darimont wanted to consult with Chester Starr, anelder of the Heiltsuk Nation: “When biologist Chris Darimont began to study these wolves, hewanted to confer with local First Nations groups, as aboriginal Canadians are known, in orderto learn what they knew about these wolves.” The details in paragraph 1show that Darimontvalued Starr’s perspective (“What Starr had to say about the wolves changed Darimont’sperception of the animals”), even though it was different from Darim
	C.Incorrect. Paragraphs 1 and 2 show that Darimont did not initially believe that the mainlandwolves and the coastal wolves were different groups. Therefore, the details in paragraph 1donot provide evidence that Darimont chose Great Bear Rainforest because of an expectationthat there were separate groups of island wolves and timber wolves. Instead, he chose theGreat Bear Rainforest for the opportunity to study what he had presumed to be one groupof wolves.
	D.Incorrect. Although Darimont sought out Chester Starr, an elder of the Heiltsuk Nation,before beginning his research, Darimont’s purpose in doing so was not to request Starr’spermission to study the wolves but to learn from Starr’s expert knowledge of the area and itswolves (“When biologist Chris Darimont began to study these wolves, he wanted to conferwith local First Nations groups, as aboriginal Canadians are known, in order to learn whatthey knew about these wolves” [paragraph 1]).
	12.The question asks why the author includes details about the conversation between Starr andDarimont in paragraph 2.
	E.Incorrect. The details in paragraph 2 do not explain why Starr had closely observed the twogroups of wolves. Instead, they convey that Starr believed the wolves to be separate groups(“Starr asked Darimont which wolves he and his team were going to study—the timberwolves (mainland wolves) or the coastal wolves on the islands”), a supposition that intriguedDarimont and ultimately changed the course of his research study.
	F.Incorrect. Although paragraph 1 indicates that Darimont did hope to work with Starr (“hewanted to confer with local First Nations groups, as aboriginal Canadians are known, in orderto learn what they knew about these wolves”), Darimont did not initially plan to study bothgroups of wolves in the area because, as the conversation in paragraph 2indicates, he didnot initially know they were two distinct groups of wolves.
	G.Incorrect. The details about the conversation in paragraph 2highlight that Darimont waseager to learn from Starr’s knowledge of the wolves (“Darimont was intrigued by Starr’sclassification of the wolves as two different groups”), but they do not indicate that Darimontexpected Starr’s help to find the wolves.
	H.CORRECT.According to paragraph 2, Starr wanted to know which group of wolves Darimontplanned to study—“the timber wolves (mainland wolves) or the coastal wolves on theislands.” The author states that the question “took Darimont by surprise,” adding that“Darimont was intrigued by Starr’s classification of the wolves as two different groups.” Theauthor adds that Darimont was initially “hesitant to accept the idea” that the wolves wereseparate groups but ultimately spent years studying the two groups of wolv
	13.The question asks what the phrase “hard biological evidence” in the sentence from paragraph 4conveys about the goal of the research team.
	A.Incorrect. Although the research team followed a labor-intensive procedure, the phrase “hardbiological evidence” refers to the product of their scientific research (the genetic markersrevealed within the DNA samples), not the process by which they collected it. Their goal wasnot to develop a procedure for data collection but to determine precisely how many speciesof wolf were present in the area.
	B.CORRECT.The research team wanted to prove or disprove the theory that two separategroups of wolves were present in the area, an idea that was already supported by theobservations of scientists and local indigenous people. The phrase “hard biological evidence”conveys that the scientists wanted to bolster their observations of the wolves with concretescientific data about the wolves’ biological makeup. The goal of the researchers was to usethe data to prove how many species of wolf were present in the area 
	C.Incorrect. The research team gathered extensive data during their study (“After collectingand analyzing the DNA in 800 samples of gray fur and wolf waste” [paragraph 4]),and theirgoal in doing so was to evaluate a single theory about the wolves: that the wolves hadevolved into two separate and genetically distinct species. The research team did not conductthe study in order to evaluate multiple theories about the diets of the wolves.
	D.Incorrect. The phrase “hard biological evidence” does not suggest that the research teamwas hoping to discover if the new data would provide information that was different fromprevious studies. In fact, the goal of the research team was to use the genetic data tosupplement their initial sources of information about the wolves and their own observationsfrom the field.
	14.The question asks for the most likely reason why the author uses the word “admits” inparagraph 5.
	E.Incorrect. The word “admits” highlights the surprising difference between Darimont’s initialidea and the conclusion he ultimately drew from the results of the study. Though Darimont’sgenetic research did, in fact, verify the field observations of the wolves, this does not explainthe author’s use of the word “admits” in paragraph 5.
	F.Incorrect. The conclusion that Darimont reached was actually quite original, since biologistswidely believed the two separate groups of wolves to be one (“Biologists had always believedthat the wolves that are sometimes spotted swimming between islands and eating salmonare the same wolves that live on the mainland,” [paragraph 2]).The author uses the word“admits” in paragraph 5to emphasize how unexpected Darimont found the conclusion to be(“The distances between the mainland and the islands are small, les
	G.CORRECT.The use of “admits” emphasizes that Darimont found the idea of two species ofwolves “ ‘totallybizarre at first’ ”(paragraph 5)but ultimately proved it to be correct.Paragraph 2suggests that Darimont, like other scientists, “had always believed that thewolves that are sometimes spotted swimming between islands and eating salmon are thesame wolves that live on the mainland.” Therefore, the results of the study were likely tostrike biologists as bizarre, and the use of the word “admits” in paragraph 
	H.Incorrect. Darimont’s team conducted the research that helped him confirm Starr’s idea anddraw the conclusion that the wolves were separate species (“After collecting and analyzingthe DNA in 800 samples of gray fur and wolf waste, researchers could produce hard biologicalevidence that sea wolves had genetic markers that made them distinct from the mainlandwolves” [paragraph 4]).However, the opinions of Darimont’s research team are not describedin the passage, and the word “admits” does not indicate that t
	15.The question asks for the sentence from the passage that best supports the idea that sea wolveshad successfully adapted to living on the islands.
	A.CORRECT.This sentence from paragraph 3describes a significant difference in the diets ofthe mainland and sea wolves: the mainland wolves “almost exclusively eat meat, such asdeer and elk, and teach their young to hunt for land animals,” whereas the sea wolves hadadapted to the point where they derive “as much as 90 percentof their nutrition from the seaand teach their young to dig for clams and to catch fish.” This sentence emphasizes thedietary difference between the two groups of wolves and best support
	B.Incorrect. Although this sentence from paragraph 3describes one technique that the seawolves used to hunt, it does not offer evidence as strong as that provided by the precedingsentence, which explains that sea wolves were able to derive “as much as 90 percent”(paragraph 3)of their sustenance from the sea alone (versus the mainland wolves, which“almost exclusively eat meat” from land animals [paragraph 3]).
	C.Incorrect. Although this sentence from paragraph 3states that “some sea wolves live theirentire life on the islands,” it does not provide strong evidence of the necessary adaptations—namely, how these wolves were able to successfully live their whole lives on the islands.Living on the islands was not necessarily an adaptation in and of itself; the adaptation wasthe sea-based diet that enabled the sea wolves to live on the islands without access to landanimals.
	D.Incorrect. Although this sentence from paragraph 4presents Darimont’s hypothesis that “achange in habitat led to the eventual genetic differences” between the wolves, the sentencedoes not describe any of the sea wolves’ adaptations nor best support the idea that the seawolves successfully adapted to living on the islands.
	16.The question asks how a change in habitat most affected the wolf population of the Great BearRainforest over time.
	E.Incorrect. Although the island wolves learned new hunting techniques (“dig for clams and tocatch fish,” “sneak up on a seal sunning itself on a rock and make a leaping attack from thewater” [paragraph 3]),there is no evidence in the passage that these hunting techniqueswere developed in response to scarcity of prey. The most significant effect of the change inhabitat was not an influence on hunting techniques but the behavior differences that evolvedbecause of the isolation of the groups of wolves from ea
	F.Incorrect. The change in habitat did not cause the wolves to form smaller packs but ratherserved to create distinctive behaviors because of the isolation of one pack from another,eventually causing the groups of wolves to became distinct species.
	G.CORRECT.The change in habitat caused the wolves to gradually become two distinctspecies. Though the “sea wolves regularly swim between islands” and “some salmon-eatingmainland wolves come and go from the islands,” the “sea wolves are full-time islandresidents” (paragraph 3).This behavioral adaptation to their environment caused the seaswolves to “became more isolated” from the mainland wolves; as a result, the two groups“rarely mated with each other,” and “over time the two types of wolves became moredist
	H.Incorrect. Only the sea wolves adapted their diet. They did this not because different foodsources became available in the area but because they were in an entirely different area fromthe mainland wolves.
	Excerpt from “How We Made the First Flight”
	17.The question asks how paragraph 1 introduces the idea that the Wright brothers knew that theirflight attempt was risky.
	A.CORRECT.Paragraph 1 describes the Wright brothers hanging out “the signal” to notify thelifesaving crew to stand by as they attempted flight; the need for lifesaving experts to beavailable in case of an accident introduces the idea that the attempted flight might crash.
	B.Incorrect. The specifics on the speed of the wind by themselves do not emphasize the dangerof the flight. While the brothers admitted that the strong wind posed certain risks, they alsonoted that the windy conditions might make landing safer (“estimated that the addeddangers in flight would be partly compensated for by the slower speed in landing”[paragraph 1]).
	C.Incorrect. A slower landing was expected as a result of the windy conditions, but it was notpart of a plan to increase the safety of the flight.
	D.Incorrect. While the Wright brothers’ initial decision to wait to see whether the wind woulddie down does suggest they were concerned about the safety of the flight, the explanation oftheir decision to proceed with the flight shows that they expected one benefit from the poorweather: “the slower speed in landing” (paragraph 1).
	18.The question asks how the sentence from paragraph 4contributes to the development of ideas inthe excerpt.
	E.Incorrect. The sentence from paragraph 4 does not refer to the challenge of the winterconditions during the flight attempt.
	F.Incorrect. While the sentence from paragraph 4specifically references a previous flightseveral days earlier, it does not state how many attempts came before Wilbur’s attempt onDecember 14.
	G.CORRECT.The sentence from paragraph 4indicates that the Wright brothers had agreed totake turns attempting to achieve the first flight, which suggests their eagerness to each bethe first to successfully fly the machine.
	H.Incorrect. Orville’s trial came about simply because the brothers took turns, which wouldsuggest that there was no greater likelihood of success or reason to be more confident atthat moment than there had been for previous attempts.
	19.The question asks why the photograph mentioned in paragraph 4is significant.
	A.Incorrect. According to paragraph 4,the photograph was not taken immediately after thetethering wire was released but rather after an intervening period during which “Wilbur ran atthe side of the machine, holding the wing to balance it on the track.” The picture was nottaken until “the machine had reached the end of the track,” which occurred after a “forty-footrun” (paragraph 4).
	B.CORRECT. The photograph mentioned in paragraph 4is significant because it provides proofthat the machine did, in fact, take flight: “One of the Life Saving men snapped the camerafor us, taking a picture just as the machine had reached the end of the track and had risento a height of about two feet. The slow forward speed of the machine over the ground isclearly shown in the picture by Wilbur’s attitude. He stayed along beside the machine withoutany effort.”
	C.Incorrect. The photograph mentioned in paragraph 4is described as showing the planemoving forward through the air at a height of two feet, but while the effect of the wind maybe visible, it is not why the photo is significant. Instead, the photograph provides proof thatthe plane is, in fact, moving through the air (“One of the Life Saving men snapped thecamera for us, taking a picture just as the machine had reached the end of the track and hadrisen to a height of about two feet. The slow forward speed of
	D.Incorrect. Although the plane is shown at a height of two feet in the photograph mentioned inparagraph 4,the picture documents only one moment of the plane’s flight and does notprovide proof that the pilot had to gradually increase the height of the plane in the air.
	20.The question asks how the details in paragraph 5 about the uneven nature of the flight convey acentral idea of the excerpt.
	E.Incorrect. Paragraph 5 explains that the rudder was unbalanced and the effect that this issuehad on the flight, but the rudder was only part of the reason for the short flight. The lengthof the flight is not a central idea of the excerpt.
	F.Incorrect. Although paragraph 5 does explain that the equipment contributed to the difficultyof controlling the plane’s flight, the lack of control over the flight is not a central idea of theexcerpt, which is the fact that the Wright brothers achieved a successful flight in spite of thechallenges involved.
	G.CORRECT.The details in paragraph 5 describe the difficulties that the weather conditionsand mechanical issues presented and how Orville’s flight was successful despite the issues.The ability of the Wright brothers to overcome difficult circumstances and complete the firstflight is a central idea of the excerpt.
	H.Incorrect. While paragraph 5 does emphasize the difficulty caused by the wind, it does notdescribe a “gradual change” in the wind, only that it was “irregular.”
	21.The question asks how the sentence from paragraph 5helps convey Orville Wright’s perspectiveabout the first flight.
	A.Incorrect. Although the sentence from paragraph 5refers to the velocity of the wind duringthe flight, there is no indication that Orville felt a sense of frustration with the windyconditions. Instead, the sentence emphasizes the “speed of the machine relative to the air”and presents the equivalent flight length if the machine had flown through calm air (“thelength of the flight was equivalent to a flight of 540 feetmade in calm air”), details thatemphasize the importance of the Wrights’ accomplishment.
	B.CORRECT.In the sentence from paragraph 5,Orville uses the wind velocity and the machinespeed to highlight the distance that the plane covered while in the air and to determine thedistance that it would have flown on a day with calm winds, which emphasizes the magnitudeof the accomplishment.
	C.Incorrect. Since Orville does not suggest in the sentence from paragraph 5how far the planetraveled under the actual conditions of high winds, the comparison is incomplete.Additionally, this statement does not address the reason that he would make such acomparison, which allowed him to describe the flight in more impressive terms (540 feetversus 120 feet).
	D.Incorrect. Unlike the wind velocity calculations made in preparation for the flight, whichmight help in determining the success of future flights, the comparative calculations thatOrville provides in the sentence from paragraph 5help interpret the results of the first flight(by describing how fast and far the machine flew relative to the flying conditions) andthereby communicate its success. The calculations of the first flight's relative speed andequivalent distance would not affect the success of future
	22.The question asks how the sentence contributes to paragraph 5.
	E.Incorrect. The sentence focuses on the “sudden dart” of the plane, which ended the flight.According to the paragraph, this sudden dart was caused by the difficulty of controlling thefront rudder “on account of its being balanced too near the center.” The sentence does notdetail the need for the pilot to have quick reflexes.
	F.CORRECT.The sentence presents the idea that the difficulty of operating the machinebrought the flight to a quicker end than it might otherwise have had. According toparagraph 5,“control of the front rudder was difficult on account of its being balanced toonear the center. This gave it a tendency to turn itself when started.” These sentences showthat one such “dart” shortened the flight.
	G.Incorrect. Although it describes the abrupt end of the flight, the sentence does not describethe shift in wind speed. The word “dart” refers instead to a change in the height, or altitude,of the machine.
	H.Incorrect. Although it includes the detail that the flight ended “a little over 120 feetfrom thepoint at which it rose into the air,” the sentence does not provide an overview of the entireflight’s progression. The sentence from paragraph 5omits the flight’s takeoff and onlydescribes its rather abrupt ending.
	23.The question asks what idea is most clearly conveyed by the words “only,” “nevertheless,” and“finally” in the sentence from paragraph 5.
	A.Incorrect. Although the duration of the flight was short and a successful flight had taken along time to achieve, the words in the sentence from paragraph 5are used to emphasize theremarkable nature of the flight, not the length of time it had taken the Wright brothers to besuccessful.
	B.Incorrect. While it is easy to imagine that the Wright brothers had hope for longer flights, thewords in the sentence from paragraph 5do not relate directly to this sentiment; instead, theydescribe the groundbreaking success of their flight.
	C.Incorrect. While the capabilities of the aircraft were demonstrated during the flight, the wordsin the sentence from paragraph 5apply not only to the machine but also to the efforts of thepeople who designed it, built it, and actually made it fly.
	D.CORRECT.The words in the sentence from paragraph 5suggest that, though the first flightmay not have lasted very long or taken the pilot very far, the Wright brothers accomplishedsomething no one had been able to do before: successfully pilot an airplane in flight.
	24.The question asks which sentence from the excerpt best supports the idea that the Wrightbrothers had to adapt their plans for the flight in order to accommodate weather conditions.
	E.Incorrect. Although the sentence from paragraph 1 mentions the rainy weather and frozenpuddles, it does not specifically explain how these weather conditions forced the brothers toadapt their plans for the flight.
	F.CORRECT.The sentence from paragraph 1 reveals that the Wright brothers adapted bymaking a risk calculation, based on the wind speed, before the flight. The high speed of thewind could cause difficulties in flight while simultaneously allowing for a slower, morecontrolled landing.
	G.Incorrect. The sentence from paragraph 4 does mention wind, but it describes what Orvillewas doing during the attempted flight, not the factors he considered before the flight in orderto adapt the plan.
	H.Incorrect. Although the sentence from paragraph 5mentions the “irregularity of the air”during the flight, the sentence does not describe how the brothers adapted their plans for theflight based on the weather.
	25.The question asks how the use of chronological structure contributes to the development of ideasin the excerpt.
	A.CORRECT.Through the chronological structure, Orville addresses all stages of the flight in away that builds from flight concerns and preparations for takeoff to his experiences duringthe flight and his successful landing.
	B.Incorrect. While obstacles are presented within the excerpt, the chronological structureemphasizes the events that ended in the successful achievement of flight on that day ratherthan how the Wright brothers overcame obstacles.
	C.Incorrect. The chronological structure of the excerpt does not show that the Wright brothersapplied lessons learned from their previous attempts at flight; instead, the structuredescribes Orville’s December 17attempt.
	D.Incorrect. While Orville’s narrative certainly shows a strong need to analyze wind speed, thisidea is not conveyed through the chronological structure of the excerpt. Additionally, thedescription of the first flight on December 17indicates that it did not take place in idealconditions (“We realized the difficulties of flying in so high a wind” [paragraph 1]and “Thecourse of the flight up and down was exceedingly erratic, partly due to the irregularity of theair” [paragraph 5]).
	Excerpt from “The Spirit of the Herd”
	26.The question asks which sentence from the excerpt best explains why Wade reserved PeroxideJim for “emergency work” (paragraph 1).
	E.Incorrect. While the sentence from paragraph 1refers to Peroxide Jim as being a superiorhorse, it does not tell why he would be useful in an emergency. The mention of Peroxide Jim’ssuperiority does not describe the attributes that would make him an appealing choice for usein an emergency.
	F.Incorrect. The sentence from paragraph 10does not describe the actions of Peroxide Jim.The sentence describes what Wade and the horse were experiencing, but it does not includeany reference to how Peroxide Jim was responding to the situation.
	G.Incorrect. The sentence from paragraph 11describes Wade’s experiences and does not focuson the actions of Peroxide Jim. It reveals Wade’s awareness of the danger he was in, but theonly reference to Peroxide Jim in this sentence is the description of the horse having to workharder to run on the stonier ground as they neared the edge: from “the plunging of thehorse,” Wade knew “that the ground was growing stonier, that they were nearing the rocks.”This quotation does not show that Peroxide Jim was the right
	H.CORRECT. The sentence from paragraph 16describes Peroxide Jim’s high level of skill andability to perform in a life-and-death situation. Not only did Peroxide Jim recognize theemergency immediately (“From the flash of the lightning the horse had taken the bit”), butthe horse also proved to have the physical capability (“had covered an indescribably perilouspath at top speed, had outrun the herd and turned it from the edge of the rim rock”) and themental toughness (“without a false step or a tremor of fear
	27.The question asks how paragraphs 1–2contribute to the development of the central idea ofthe excerpt.
	A.CORRECT.The description of Peroxide Jim in paragraph 1indicates that the horse was a fineanimal (“Along with the wagon had come the fresh horses—one of them being Peroxide Jim,a supple, powerful, clean-limbed buckskin, a horse, I think, that had as fine and intelligent ananimal-face as any creature I ever saw” [paragraph 1]).The statement in paragraph 2thatWade’s “faith in Peroxide Jim was complete” supports the central idea of the excerpt thatWade believed in Peroxide Jim’s abilities even before the hors
	B.Incorrect. Paragraphs 1–2 do not emphasize Wade’s high expectations for himself, nor arethese expectations a central idea of the excerpt. The narrator expresses a high opinion ofWade’s abilities in his comparison of Peroxide Jim and Wade, referring to the horse as a“complement” (paragraph 1)for Wade; however, Wade showed complete trust in the horse’sability to save the herd without his help, as evidenced by Wade dropping the reins to allowthe horse to control the situation (paragraph 12).
	C.Incorrect. The paragraphs refer to Peroxide Jim’s ability to handle cattle; in fact, paragraph 2says that “the horse knew the cattle business.” It can be inferred that Wade had thisknowledge as well, but this idea is not the focus of paragraphs 1–2and is not the central ideaof the excerpt.
	D.Incorrect. Wade’s ability to judge a horse’s competence is not a central idea of the excerpt.The event described in the text is proof that Wade knew how to judge a horse’s ability: Wadetrusted Peroxide Jim, and Peroxide Jim did not let him down. The option puts the focus onWade and one of his strengths, when the central idea and focus of the excerpt is PeroxideJim’s abilities and strengths, not Wade’s.
	28.The question asks how paragraph 3 conveys the effect of the setting on the cattle drive.
	E.Incorrect. The riders were not trying to move the herd through the darkness. Instead, thereference to the growing darkness (“overtaken by the dusk”) indicates that the riders hadhalted the animals for the night because moving the herd across the desert in the darknesswould have been much too dangerous because of the sheer drop-off at the edge of thetableland. The riders needed the daylight to navigate the herd safely through the “passdescending to the next lower bench.”
	F.CORRECT.Paragraph 3 describes the land where the herd was as being “as level as a floor”but “rimmed by sheer rock, from which there was a drop to the bench of sage below.” Thedrop was “a perpendicular fall of about three hundred feet”—any animal or person could fallover that edge. It was the change in height, from flat tableland to sheer drop-off, that madethe terrain so dangerous.
	G.Incorrect. The use of the word “desert” in the first sentence of the paragraph does nothighlight the isolation of the setting or indicate that the riders and the herd wereuncomfortable being alone. Instead, the word merely establishes the setting where the actionoccurred: “it lay as level as a floor, rimmed by sheer rock, from which there was a drop tothe bench of sage below.”
	H.Incorrect. The excerpt does not indicate that the steep terrain made it difficult for the herd tomove forward. The herd was not expected to navigate the steep terrain. Instead, the steepterrain presented a danger to the herd that must be avoided. The riders intended to movethe herd safely through passes that descended gradually to lower elevations.
	29.The question asks how paragraph 9 fits into the overall structure of the excerpt.
	A.Incorrect. Wade was alert long before the events of paragraph 9.In paragraph 4,he begansinging to the cattle because he knew that they were on the verge of stampeding. He waseven more alert when he “caught a breath of fresh, moist wind with the taste of water in it”(paragraph 6)and heard thunder in paragraph 8:“The sound seemed to come out of theearth, a low, rumbling mumble.”
	B.Incorrect. Wade and the other riders were not calm; rather, they were alert and attemptingto keep the cattle calm by singing to them. They were as prepared as they could be for whatwas about to happen, as shown in paragraph 1,through the selection of fresh horses and,specifically, Wade’s choice to ride Peroxide Jim in the face of possible danger: “Wade hadbeen saving this horse for emergency work.”
	C.Incorrect. Although Wade’s leadership is implied in paragraph 9(“He must keep them going.He touched his horse to ride on with them”), his leadership is revealed in earlier portions ofthe excerpt as well (“Wade had been saving this horse” [paragraph 1];“Wade began to sing”[paragraph 5]),so this is not new information being introduced in paragraph 9 of the excerpt.
	D.CORRECT. Paragraph 9 describes the lightning strike that made the cattle panic andstampede. The stampede is the main conflict Wade and Peroxide Jim addressed in theexcerpt; and therefore, paragraph 9fits into the overall structure of the excerpt bypresenting the incident that caused the main conflict.
	30.The question asks what the phrase “bore down the flank of the herd” (paragraph 13)conveysabout Wade.
	E.Incorrect. While Wade struggled to see the front of the herd, the words “bore down the flankof the herd” (paragraph 13)are meant to convey the intensity of the situation Wade was in,not the way the herd is blocking his vision.
	F.Incorrect. The sentence from paragraph 13states that the herd was “close on their left” andincludes the phrase “bore down.” Both of these phrases indicate that Wade was trappedbetween the stampeding herd and the steep cliff. Wade and Peroxide Jim were struggling toreach the very front of the herd to turn it away from the edge.
	G.CORRECT. The phrase “bore down the flank of the herd” from paragraph 13conveys theoverwhelming strength of the herd. The herd was forcing Wade toward the cliff. The wordingin the quotation emphasizes the immediate danger of the situation and conveys the ideathat Wade and Peroxide Jim were almost forced over the edge of the precipice by thestampeding herd.
	H.Incorrect. The phrase “bore down the flank of the herd” (paragraph 13)does not indicateanything about the fear felt by the herd. The phrase is about Wade’s position between theedge of the stampeding herd and the drop-off. Wade was aware of the danger the herd wasin if he and Peroxide Jim could not turn the cattle from the edge.
	31.The question asks how the sentences from paragraph 11and paragraph 16develop a centralidea in the excerpt.
	A.Incorrect. While Peroxide Jim’s presence was critical to saving the herd, the details inparagraph 11and paragraph 16do not focus on this idea. The primary idea is that the horsewas so intelligent and aware that he acted on his own.
	B.Incorrect. The excerpt does not tell who trained Peroxide Jim. It can be inferred that PeroxideJim had been well trained and was knowledgeable of working cattle; however, there is noindication that Wade was the person who trained Peroxide Jim, only that Wade knew ofPeroxide Jim’s abilities, respected the skilled horse, and was “saving this horse for emergencywork” (paragraph 1).Because the reader cannot infer from the excerpt that Wade was thetrainer, this idea cannot be considered central to the excerpt.
	C.CORRECT.Wade recognized that Peroxide Jim knew to turn the herd without any instructionfrom him. Throughout the excerpt, Wade exhibited confidence in his horse, Peroxide Jim. Forexample, the narrator says that Wade’s “faith in Peroxide Jim was complete” in paragraph 2.After Wade let go of the reins (paragraph 12),the horse took over, doing exactly whatneeded to be done to save Wade, the herd, and himself: “a big white steer, which the horse,with marvelous instinct, seemed to pick out from a bunch, and to 
	D.Incorrect. The sentence from paragraph 11and the sentence from paragraph 16show thatPeroxide Jim acted skillfully and with the knowledge that the ride was dangerous (“Wade wasriding for his life. He knew it. His horse knew it” [paragraph 11]).There is no indication thatPeroxide Jim was not afraid; in fact, it is likely the awareness of the danger and the fearassociated with that knowledge contributed to the horse’s motivation to turn the herd.
	32.The question asks how the details in paragraphs 14–16help convey a central idea of the excerpt.
	E.CORRECT.Paragraphs 14–16 describe how Peroxide Jim’s “marvelous instinct” headed offthe herd and drove it away from the cliff. Wade acknowledged that without his instruction,Peroxide Jim knew to find the leader of the herd, cut him off from the rest of the herd, andthen lead him to safety, confident that the remainder of the herd would follow. Paragraph 16confirms this: “Whose race was it? It was Peroxide Jim’s, according to Wade, for not by wordor by touch of hand or knee had the horse been directed in t
	F.Incorrect. Although paragraphs 14–16 mention the “rim,” the “cliffs,” and the “indescribablyperilous path,” these details are not the focus of the paragraphs. They are descriptions of thesetting where Peroxide Jim’s able and effective actions saved the stampeding herd, and it isthese actions that are the central idea being conveyed.
	G.Incorrect. Although Peroxide Jim is called “powerful” in paragraph 1,his physical strength isneither a central idea of the excerpt nor the focus of paragraphs 14–16.His success atturning the herd was attributed to his intellect and instinct, not his physical strength.
	H.Incorrect. The excerpt does not suggest that Peroxide Jim anticipated the herd’s stampedebefore the men did. In fact, the excerpt indicates that Wade led the men in singing to coversudden noises that might cause the herd to stampede, indicating that Wade was alert to thatpossibility. Paragraph 7also indicates that Wade anticipated the stampede, as he “checkedhis horse instantly” and “tightened [his] grip on the reins” as soon as he smelled the rain andheard the low rumble of thunder that preceded the ligh
	33.The question asks which sentence from the excerpt best reveals the mood on the drive beforethe lightning struck.
	A.Incorrect. The sentence from paragraph 3describes the setting but does not contain wordsthat create a strong mood. In fact, this sentence shows that while there were dangeroussurroundings, the riders and the herd were “now halted.”
	B.CORRECT.The sentence from paragraph 5describes the riders singing “to preempt thedreaded silence, to relieve the tension” and to prevent “shock” from any sudden noise. Thesewords provide a strong sense of the tense, heavy mood in which a terrible event such as astampede could quickly happen.
	C.Incorrect. In the sentence from paragraph 7,Wade has become aware of a change in theweather (“caught a breath of fresh, moist wind with the taste of water” [paragraph 6])and isseeking to verify it. Even though a rainstorm was one concern the riders had, the wordsdescribing Wade’s immediate reaction to his discovery do not best convey the mood of dreadand foreboding that the men and horses feel just before the lightning strike.
	D.Incorrect. While the words “ghostly” and “still moving in a circle” in the sentence fromparagraph 9create a strange and mysterious image, the mood before the lightning struckwas not one of mystery or suspense. Instead, these descriptive words are used to indicateWade’s faint ability to see the herd moving in the dark.
	A Miracle Mile
	34.The question asks how the words “feat,” “humanly impossible,” and “impenetrable barrier” inparagraph 1affect the tone of the paragraph.
	E.Incorrect. Although paragraph 1 states that “several elite runners aimed to break thatsupposedly impenetrable barrier,” the words “feat,” “humanly impossible,” and “impenetrablebarrier” suggest that the goal was unattainable even for the most skilled runners.
	F.CORRECT.No one had ever been able to run a mile in less than four minutes, and the words“feat,” “humanly impossible,” and “impenetrable barrier” imply that the goal seemedunattainable. These words also reinforce the comparison of running a four-minute mile to“scaling Mount Everest” (paragraph 1).
	G.Incorrect. The words “feat,” “humanly impossible,” and “impenetrable barrier” describe howchallenging and almost impossible running a four-minute mile seemed, and while other eliterunners “aimed to break that supposedly impenetrable barrier” (paragraph 1),the paragraphfocuses on Roger Bannister, not the competition among elite runners seeking to break therecord.
	H.Incorrect. Bannister’s training program is described in paragraphs 3and 4, and the words“feat,” “humanly impossible,” and “impenetrable barrier” are used in paragraph 1to describethe magnitude of Bannister’s goal to run a four-minute mile. Though his training programwas intense, these words relate to the intensity of the goal itself, not to the intensity ofhis training.
	35.The question asks which sentence best supports the idea that Bannister needed an alternative to“logical planning” (paragraph 3)in order to accomplish his goal.
	A.Incorrect. The outcome of the 1952 Olympics, referenced in the sentence from paragraph 2,is what prompted Bannister to seek a new goal: “Determined to redeem himself,Bannister . . .focused on the ultimate prize—breaking the four-minute-mile barrier”(paragraph 2).
	B.Incorrect. The sentence from paragraph 3 does not show an alternative to Bannister’straining plan to “develop endurance and speed” (paragraph 3)and his focus on using logicalplanning in order to accomplish his goal.
	C.Incorrect. The sentence from paragraph 4focuses on details of his training plan, explainingthe “intensive interval training” (paragraph 3)that Bannister used to build his endurance andspeed, not an alternative form of preparation.
	D.CORRECT.The sentence from paragraph 4 explains that Bannister reached a point where hecould not improve his time despite the strict training plan he had created. Taking a breakfrom his training to spend time mountain climbing “permitted his muscles to recuperate andleft him feeling refreshed” (paragraph 4).
	36.The question asks how the sentences from paragraph 7contribute to the development of ideas inthe passage.
	E.CORRECT. The sentences from paragraph 7 show that toward the end of the race, Bannisterknew that the goal of breaking the four-minute-mile barrier was within his grasp and that hehad the focus necessary to achieve it. The sentence following Bannister’s quotation statesthat he did indeed meet his goal, crossing “the finish line in 3 minutes59.4 seconds”(paragraph 7).
	F.Incorrect. The feelings Bannister expressed in the sentences from paragraph 7did not erasethose feelings related to his loss at the 1952 Olympics, which were what drove him to theachievement he was about to make.
	G.Incorrect. While the quotation states that Bannister felt “unity,” this pertains to his running,not to his work with the team. The sentences from paragraph 7capture Bannister’s focus onhis chance to break the barrier and what he was feeling at that moment.
	H.Incorrect. The sentences from paragraph 7express Bannister’s realization that he was on theverge of reaching a goal. The sentences show that in the seconds before crossing the finishline, Bannister was fully focused on the end goal and was not thinking about his training orhis running technique.
	37.The question asks what idea is conveyed by the phrase “a new mindset had taken root” inparagraph 8.
	A.CORRECT.After Bannister ran the mile in under four minutes, it became clear to otherrunners that this goal was within the realm of human ability, and “soon after Bannister’sachievement, four other athletes matched his performance” (paragraph 8).
	B.Incorrect. While the passage states that runners broke the four-minute-mile barrier afterBannister initially broke it (“Soon after Bannister’s achievement, four other athletes matchedhis performance” [paragraph 8]),running a four-minute mile is still impressive and achallenge for elite runners.
	C.Incorrect. Although runners most likely knew that the training needed in order to break thefour-minute-mile barrier was difficult and intensive, the phrase “a new mindset had takenroot” focuses on their belief in the possibility of breaking the four-minute-mile barrier, whichhad been viewed as a “supposedly impenetrable barrier” (paragraph 1),not the idea that thetraining was difficult.
	D.Incorrect. Even though “four other athletes matched his performance” and “the recordcontinued to fall” (paragraph 8),the phrase “a new mindset had taken root” does not refer tothe idea that there was an increase in the number of runners entering races just to trybreaking the four-minute-mile barrier.
	38.The question asks which sentence indicates that Bannister nearly made a mistake that wouldhave cost him the world record.
	E.Incorrect. The sentence from paragraph 4 describes a challenge Bannister faced during histraining period, when he used “intensive interval training to develop endurance and speed”(paragraph 3).Bannister ran laps on a “quarter-mile track” (paragraph 3)and was able tocontrol his pace at this time―unlike during the actual race to break the record.
	F.Incorrect. The sentence from paragraph 6 describes the start of the race and Brasher’s roleas “first rabbit” for Bannister. Bannister was behind Brasher, following their plan for breakingthe record.
	G.CORRECT.If Bannister had begun running faster than the “steady but grueling pace”(paragraph 7)set by his “rabbit,” he would likely not have had enough energy to finish therace. As paragraph 6 notes, “the runner conserves about 15 percent of his or her effort” byallowing the rabbit to set the pace. Bannister had "lost his instinctive feel for his pace"(paragraph 7) in the excitement of the race. If he had given in to his impulse to run fasterand bypassed the rabbit at that point in the race, it would have 
	H.Incorrect. The sentence from paragraph 7describes how Bannister leaped ahead ofChataway, his second “rabbit,” at the appropriate time in the effort to break the record.Chataway had “surged forward, leading Bannister at this same punishing rate for another lapand a half” (paragraph 7)before Bannister moved past him.
	39.The question asks how Bannister’s loss in the 1952 Olympics influenced his decision to pursuebreaking the four-minute-mile barrier.
	A.Incorrect. While Bannister recognized the weaknesses that led to his poor performance in theOlympics and worked “to develop endurance and speed” (paragraph 3), the loss made him“determined to redeem himself” (paragraph 2).The desire for redemption influencedBannister to focus specifically on running a mile in under four minutes, rather than onwinning other races or training for other distances.
	B.Incorrect. Although Bannister developed an “intensive interval training” plan to improve his“endurance and speed” (paragraph 3),he applied a different approach only after his progresstoward a four-minute mile reached a “plateau” (paragraph 4)in 1954. It was his desire to“shave off at least one more second in order to reach his target” (paragraph 4)thatprompted him to take a break from interval training and go mountain climbing for three days.
	C.CORRECT.Bannister sought to redeem himself after “he finished in a dismal fourth place” atthe Olympics (paragraph 2).He thought that his performance “was a disappointment for himand his country, Great Britain,” and he responded by setting a goal to successfully conquerthe four-minute mile, which was considered the “ultimate prize” (paragraph 2).
	D.Incorrect. Bannister’s loss at the 1952 Olympics motivated him to change his training focusto reaching the “ultimate prize” (paragraph 2)of breaking the four-minute-mile barrier, whichno other runner had accomplished. His loss at the Olympics did not present him with aspecific opportunity to reach this goal.
	40.The question asks how interval training affected Bannister’s performance.
	E.Incorrect. The moderation of his pace was achieved through the use of “rabbits,” described inparagraph 6,more than through his method of interval training.
	F.Incorrect. Bannister worked individually during the interval training period and then pacedhimself with a two-person team of “rabbits,” which were introduced in paragraph 5andexplained in paragraph 6.It was the use of “rabbits” during the race that helped himconserve some of his effort, not the interval training.
	G.CORRECT.As paragraph 3 states, the goal of Bannister’s training program was to “developendurance and speed,” which are synonyms of the words “stamina” and “pace.”
	H.Incorrect. Although Bannister “let his body recover for two minutes” (paragraph 3)duringinterval training, this was not the primary effect of the training on Bannister’s performance.Instead, interval training allowed him to develop greater endurance and speed.
	41.The question asks how the author’s use of chronological structure contributes to thedevelopment of ideas in the passage.
	A.Incorrect. While paragraph 4 mentions the “plateau” Bannister dealt with and the break that“permitted his muscles to recuperate,” the chronological structure of the passage focusesmainly on the progression of Bannister’s process over time.
	B.Incorrect. Even though the passage suggests that Bannister’s ability to break the four-minute-mile barrier improved and that he felt “prepared to attempt to break the worldrecord” (paragraph 4),the chronological structure of the passage primarily serves to showhow Bannister’s progress over time led to his success.
	C.Incorrect. The chronological structure of the passage begins with an acknowledgment thatBannister was inspired to break the four-minute-mile barrier by his loss at the 1952 Olympics(paragraph 2);however, the overall organization of the passage highlights his dedicatedefforts over time to break the four-minute-mile barrier.
	D.CORRECT.The chronological structure of the passage follows the progression of Bannister’straining from his loss at the 1952 Olympics to the race where he ran the first sub-four-minutemile on May 6,1954 (paragraph 5).
	Serpent Mound
	42.The question asks how the poem’s form contributes to the poem’s meaning.
	E.CORRECT.The poem is structured as one long stanza. The line lengths throughout the poemand the line indents (such as those in lines 7–10)create a visual effect so that the poemitself mimics the shape of the Serpent Mound.
	F.Incorrect. The uneven line lengths in the poem do not indicate the different interpretations ofthe mound; separate stanzas or other stopping points would more effectively point tocontrasting ideas.
	G.Incorrect. The dashes in the poem lead to further explanation of a thought, not a change ofthought.
	H.Incorrect. The lack of regular rhyme and meter is intended to create a conversational tonerather than show the speaker’s struggle to grasp how large the mound is.
	43.The question asks which lines reveal how the setting affects the speaker and the men fromthe museum.
	A.Incorrect. The words “being winter” (line 8)work to establish the setting, but lines 8and 9do not describe the effect the winter setting has on the speaker and the men.
	B.CORRECT.The imagery in lines 14 and 15 describes how the winter silence makes thespeaker and the men feel emotional heaviness: it “pressed /down on all of us like a weight.”
	C.Incorrect. Although the words “the humps in the ground were all but /invisible” describe howthe setting appears to the speaker and the men, lines 16and 17 do not describe how thesetting affects them.
	D.Incorrect. Although lines 21 and 22 do describe the setting, the lines do not describe how thesetting affects the speaker and the men. The lines describe the setting in the summer, whichis before the men from the museum show up.
	44.The question asks how lines 1–2contribute to the development of ideas in the poem.
	E.Incorrect. The idea that the men are too busy with their work to talk to the speaker is notconveyed in the poem, and, in fact, one of the museum men discusses the oval mound withthe speaker (“as if swallowing the sun, one of the museum /men suggested” [lines 32–33]).
	F.CORRECT. The lines, with their mention of measuring tapes and sketchbooks, indicate thatthe reasons the museum men came were to measure the mound and to draw sketches of it.
	G.Incorrect. There is little indication in the poem that the museum men have a hidden motivefor studying the mound. Lines 1–2present a straightforward description of the men and theirequipment, which emphasizes the men’s academic interest in studying the mound.
	H.Incorrect. While the speaker displays some curiosity about the work the museum men aredoing (“one of the museum /men suggested, taking notes with his quill pen, /an old-styleinkhorn slung at his side. /I liked that” [lines 32–35]),lines 1–2focus on introducing theidea that the mound is a formation that is worth formal study and examination by experts.
	45.The question asks how line 28contributes to the development of ideas in the poem.
	A.Incorrect. Although the museum men are documenting the shape of the mound in line 33,lines 29–32and 35–41focus on what the oval mound represents as interpreted by themuseum men, the speaker, and the speaker’s sister.
	B.Incorrect. While the lines preceding line 28 describe the body of the snake in detail (“youcould climb /a tree and get some idea of the whole thing: /the serpent’s body undulating,slithering /silently across the ancient /earth” [lines 24–28]),the purpose of line 28is tobegin the development of the ideas about the oval shape at the end of the mound: theserpent’s mouth.
	C.CORRECT.Line 28 introduces the presence of the oval mound at the mouth of the snake.The meaning of this oval is of great interest to the museum men and the speaker. Line 28leads to the idea that there is speculation about the oval mound (“as if the snake were aboutto swallow an egg” [line 29],“as if swallowing the sun” [line 32],and “It is singing to thesun” [line 38]).
	D.Incorrect. The speaker does not say that the oval shape near the end of the mound is difficultto see. Earlier, the speaker says that the ridges of earth are difficult to see unless you arenear them, but the speaker does not say this about the oval shape.
	46.The question asks what impact the phrases “all but /invisible” and “even less obvious” inlines 16–18have on the meaning of the poem.
	E.CORRECT.The words “all but / invisible” indicate that a person must be close to see thehumps in the ground, while the phrase “even less obvious” indicates that a person must befar away to see the overall snake shape of the mound.
	F.Incorrect. While the speaker has to lead the museum men to the mound because they didnot know the exact location, the words in lines 16–18are related to the difficulty in viewingthe mound from the immediate surrounding area.
	G.Incorrect. The speaker is willing to take the museum men out to study the mound, so there isno indication in the poem that the speaker wants the location of the mound to remain asecret. The words in lines 16–18convey the idea that the mound is difficult to see.
	H.Incorrect. While the speaker contemplates the significance of certain elements of the mound,the phrases in lines 16–18relate to a viewer’s ability to see the physical shape of the mound,not its deeper meaning.
	47.The question asks what impact the words “swish,” “chitter,” and “cry” in lines 12–13have inthe poem.
	A.CORRECT.The words highlight the sounds of the animals that visit the mound in thesummer: the “swishof a beaver’s heavy tail” (line 12),the “chitter of a chickadee” (line 13),and the “cry of a hawk” (line 13).These words help contrast the quiet stillness of the settingaround the mound in the winter.
	B.Incorrect. While the words in lines 12–13convey the sounds certain animals make in thesummer, the sounds of the animals that live near the mound are a natural part of life in thearea, not a disruption.
	C.Incorrect. The speaker is contrasting the sounds of the animals around the mound duringthe rest of the year with the silence of the winter months, not merely indicating the varietyof wildlife.
	D.Incorrect. The speaker expresses the idea that the mound is more visible in the winterbecause of the lack of brush (“It being winter, /there was little underbrush to speak of”[lines 8–9]).Then lines 12–13describe sounds, not the appearance of the mound in winter.
	48.The question asks how the interaction between the speaker and Ruth in lines 37–41conveys acentral idea of the poem.
	E.Incorrect. While there are many different interpretations of the mound’s meaning, there is noway to determine which of the interpretations is most accurate, and there is no way to knowthe mound’s true purpose.
	F.CORRECT. The interaction references Ruth’s interpretation of the open-mouth shape as aserpent singing to the sun. This interpretation creates a joyful mood. The speaker contraststhis perspective with the idea that the mound is swallowing the sun, which creates a moreaggressive feeling. These various interpretations of a physical shape arise out of what theindividuals feel when they look at the mound.
	G.Incorrect. The speaker does not describe any benefit to considering what different peopleimagine when they see the mound. Instead, the speaker is simply describing differentinterpretations.
	H.Incorrect. Ruth’s interpretation of the mound’s shape is fanciful and symbolic. It is unlikelythat scientific study would change the minds of people such as Ruth about the meaning ofthe mound.
	49.The question asks how the poet uses dialogue to contrast the points of view of the speaker andRuth regarding the mound.
	A.Incorrect. The interpretation Ruth offers of the mound as a snake singing is abstract, butRuth does not seem concerned that it is an overly metaphorical or figurative interpretation.The dialogue serves to highlight that Ruth is firm in her belief.
	B.Incorrect. There is no indication that the museum men are considering Ruth’s interpretationof the mound or that Ruth wants them to share her interpretation. Ruth’s interpretation ismeant to convey an abstract idea, while the museum men would be looking for a firmacademic explanation of the mound. Ruth is persistent in her belief, and the dialogue doesnot suggest that she is concerned with the museum men’s interpretation or findings.
	C.Incorrect. Ruth merely states her interpretation and says that she thinks she hears theSerpent Mound singing sometimes. She does not seek to make the speaker agree with her.
	D.CORRECT.Beginning in line 37, after the speaker suggests the mound is swallowing the sun,Ruth disagrees. The poet uses the word “insisted” in line 39to show that Ruth firmly believesin her own interpretation of the mound.
	A Memory Revolution
	50.The question asks how the details in paragraph 3about cognitive offloading convey a centralidea of the passage.
	E.Incorrect. Although paragraph 3 describes the Internet as “a vast extended memory,” it doesnot discuss reliance on the Internet for information. The paragraph states that the Internet“allows people to digitally access and retrieve much larger volumes of information” andindicates that this benefit leaves people free to focus on “connecting data, learning newinformation, or solving problems.” However, these details about the benefits of the Internetdo not express an opinion about the inevitability of Intern
	F.CORRECT.A central idea of the passage is that the Internet is changing how people retaininformation. Paragraph 3supports this idea by stating that “a similar process has been takingplace for centuries” and that “in the past,” resources such as encyclopedias were used tostore and find information. The details provided in paragraph 3about encyclopedias and theInternet show that people have always used resources to remember information and thatthese resources change over time as people develop new ways to “a
	G.Incorrect. While paragraph 3 does compare the use of encyclopedias to obtain information inthe past with the use of today’s Internet, this comparison fails to convey the central idea ofthe passage that the Internet is changing how people remember information.
	H.Incorrect. Although paragraph 3 states that “much larger volumes of information” areavailable on the Internet than what has been available in previous methods of informationstorage, such as encyclopedias, this fact does not relate to an increase in the ability tounderstand that information and is not a central idea of the passage.
	51.The question asks how the details of the experiment described in paragraph 5convey a centralidea of the passage.
	A.Incorrect. Although paragraph 5 states that participants read the trivia facts and then “typedthe statements into a computer file,” it does not explain the impact of repetition on memory,nor does this convey a central idea of the passage.
	B.Incorrect. Paragraph 5 acknowledges that people evaluate which information is importantenough to remember, but it does not describe the rate at which people forget unimportantinformation. According to the paragraph, information is considered less important toremember if a person believes that he or she will be able to retrieve that information easily inthe future. This does not mean the information is unimportant but rather that it is readilyavailable for future access.
	C.Incorrect. Paragraph 5 specifies the number of trivia facts that study participants were givento read (forty), but it does not describe the amount of information as a factor in theparticipants’ memory performance. According to the paragraph, it was not the amount ofinformation but rather the expectation of future availability that affected how muchinformation participants were able to recall.
	D.CORRECT.A central idea of the passage is that the way the human memory storesinformation is changing because of the Internet. The details of the experiment support thisidea by indicating that study participants remembered different amounts of informationbased on whether they “thought the information would be saved” (paragraph 5).Those who“believed the information would be erased and no longer available” (paragraph 5)remembered 40 percentmore than those who expected to be able to access the informationagai
	52.The question asks how the sentence from paragraph 7contributes to the structure anddevelopment of ideas in the passage.
	E.Incorrect. Although the studies showed, in part, that reliance on the Internet is increasing(“participants recalled the information’s location more often than the content itself”[paragraph 6]),the studies were not conducted in order to determine the risks of Internetuse. The claim in the sentence did not prompt the research described in paragraphs 2 and 6.
	F.Incorrect. While the sentence in paragraph 7 poses a question about the disadvantages ofrelying on the Internet, paragraphs 2and 6 present the study data on Internet use andmemory in a neutral tone (“correctly identifying 49 percentof the folders for specific factswhile remembering only 23 percentof the actual trivia” [paragraph 6]).Neither studydescribes the availability of information on the Internet as an advantage or a disadvantage.
	G.CORRECT.Paragraphs 2 and 6 describe the results of experiments related to the Internet’seffect on memory without commenting on the advantages or disadvantages of relying on thattechnology, and the sentence in paragraph 7presents a questioning viewpoint that movesaway from the neutral perspective of the broader passage. The opinion in the sentence isdirectly argued against in the three sentences that follow it, which present an extended quotefrom Steven Pinker, a psychology professor at Harvard University.
	H.Incorrect. Although the sentence in paragraph 7expresses caution about the possible effectsof the Internet on memory, the passage does not shift from an optimistic tone to a cautioustone. Actually, paragraph 6provides the data on Internet use and memory in a neutral tone.The argument expressed by the sentence is also not elaborated on in the sentences thatfollow, but is immediately argued against by Steven Pinker, a professor of psychology. Thelast sentence of paragraph 7in fact refutes the culled sentenc
	53.The question asks how the study described in paragraph 6influenced researchers’ ideas aboutmemory in the digital age.
	A.Incorrect. The study required participants to organize information into folders, but the resultssuggest that organizing the information did not make the information easier to remember;instead, participants remembered the folder in which to find the information but forgot theinformation itself.
	B.Incorrect. Although the participants in the study were given a keyword, such as “ostrich,”when asked to remember “which folder contained a particular fact,” the study was significantfor researchers because it demonstrated that “our memory is adapting to the Internet age byprioritizing where to locate information even when the specific details are forgotten”(paragraph 6).The study confirmed that participants were remembering where theinformation was stored, because they were able to provide the name of the
	C.CORRECT.The study in paragraph 6 demonstrated that participants were better able torecall where to find certain information than to recall the information itself. This influencedresearchers’ ideas about memory in the digital age: “Overall, participants recalled theinformation’s location more often than the content itself, correctly identifying 49 percentofthe folders for specific facts while remembering only 23 percentof the actual trivia”(paragraph 6).
	D.Incorrect. The study did not examine the relative importance of remembering basicinformation or storing detailed information. It examined the effect of the Internet on theinformation that people remember and concluded that human memory “is adapting to theInternet age by prioritizing where to locate information” (paragraph 6).
	54.The question asks how the diagram provides additional support for the topic presented inthe passage.
	E.Incorrect. While the diagram indicates that the human brain has the ability to maintaindifferent types of memory, the diagram does not show the need for the brain to adapt toobtaining information from the Internet rather than from other sources.
	F.Incorrect. The diagram enhances the reader’s understanding of how long-term memories areformed, but it does not provide details about how the Internet can be used to improve long-term recollection of information.
	G.Incorrect. The diagram provides an understanding of how details that are important to peoplecan become stored because of an effort made to recall them. However, the diagram does notshow how people decide which information is important and which is not.
	H.CORRECT.The diagram depicts the connections that the human brain maintains between thedifferent forms of memory. It also illustrates the idea that repetition and rehearsal areimportant steps in creating memories, as unrehearsed information will be forgotten. Thissupports the passage by highlighting the idea that access to search engines and other toolsleads people to skip rehearsal and repetition steps that create memories, because peopleknow that the information is readily accessible.
	55.The question asks for the evidence from the passage that is most relevant to the claim inparagraph 7that “ ‘farfrom making us stupid, these technologies are the only things that willkeep us smart.’ ”
	A.Incorrect. Whether the participants decided to use the Internet to answer easy triviaquestions varied based on the options that the participants were given during the first part ofthe experiment and, therefore, cannot be relevant to the claim in paragraph 7.Even whengiven the option of using the Internet, some participants chose to recall information frommemory instead.
	B.CORRECT.The assertion made in paragraph 3 that states that cognitive offloading allows for“people’s minds [to be] free for other cognitive feats, such as connecting data, learning newinformation, or solving problems” is relevant to the claim in paragraph 7because it indicatesthat the ability to store large amounts of information within the brain does not necessarilymake someone smart. It also suggests that if people did not have to use so much effortsimply organizing and storing information, their brain w
	problems” (paragraph 3).
	C.Incorrect. The discussion in the passage connecting how people organize information in theirmind and their ability to recall that information focuses on the process of organizinginformation within human memory rather than on how technology helps keep people’s mindsavailable for complex thoughts.
	D.Incorrect. Although the passage provides an accurate description of transactive memory, itprovides no indication of how using such memory would advance a person’s ability tomaintain or improve intelligent thought.
	56.The question asks which sentence from the passage suggests that using Internet search enginesmay lead people to rely less on their own ability to recall information.
	E.Incorrect. While the sentence in paragraph 1 refers to the increase in use that has made theInternet “an integral component” of everyday life for many people, it does not addressmemory or explain the effect of Internet use on a person’s ability to recall information.
	F.Incorrect. Although the sentence in paragraph 2 refers to research that was conducted todetermine how the use of the Internet affects a person’s memory, the sentence simplyexplains one guideline of the study. The fact that the study required one group of participantsto use Google does not indicate whether using a search engine affects the degree to whichpeople rely on their own ability to recall information.
	G.CORRECT.The sentence in paragraph 2 reveals the results of a study that allowed half theparticipants to use Google to obtain answers to trivia questions and initially required theother half to use only their memory to answer questions. The sentence states that“83 percentof the Internet group continued to consult Google in the second round” and that“only 63 percentof the memory group chose to do so.” These statistics demonstrate thatusing Google in the first round resulted in participants in the Internet g
	H.Incorrect. The sentence in paragraph 5 describes a task presented to participants in aresearch study. Although the study was designed to examine “how people evaluate whichinformation deserves their effort to remember” (paragraph 5),the sentence does not indicatethat use of Internet search engines prompted people to rely less on their own ability to recallinformation.
	57.The question asks how the studies presented in the passage are used to illustrate the effect ofthe Internet on a person’s memory.
	A.CORRECT.The study described in paragraph 5examined the effect of computer use on theway people evaluate information, specifically “which information deserves their effortto remember,”and determined that “those who believed the information would be erasedand no longeravailable could recall 40 percent more facts than those who thought theinformation would be saved.” The study described in paragraph 2established that the use ofInternet search engines increases the “inclination to rely on the Internet in orde
	B.Incorrect. Although a difference in the ability of the human brain and the capacity of theInternet to locate information might seem evident, the studies cited in the passage did notexamine the ability or the capacity of either. The studies did not measure what the humanbrain is capable of but rather how memory is affected by the use of the Internet.
	C.Incorrect. While the studies explored the Internet’s effect on the way information is stored inhuman memory, the type of information was not described or compared. Instead, the studiesindicated that location is the main difference between the information stored in the Internetand the information stored in human memory, noting that the Internet has become “anexternal source of the recollections and associative networks that constitute memory”(paragraph 6).
	D.Incorrect. Although it is increasingly common to use the Internet to obtain information(paragraph 2)rather than try to memorize information (paragraph 5),the studies did notexamine the difficulty or ease of obtaining/recalling information using either method.
	   FORM B
	 SAMPLE TEST – MATHEMATICS EXPLANATIONS OF CORRECT ANSWERS
	58.(120)There are 5 choices for the firstdigit, 4 choices for the second digit, 3choices for the third digit, 2 choices forthe fourth digit, and 1 choice for the finaldigit. The total number of possibilities is
	××××=54321120.
	59.(3)
	−=−==xxx14712121471443
	60.(-3.4)
	()()−−−+−−=−−=−−654.239.63.26.63.26.6=3.4
	61.(300)Let xbe the total number of pagesin the workbook. Then, 20% of xis 60.Set up a proportion and solve for x:
	====xxx2010060206,0006,00020300pages
	62.(65)Call the missing angle in the tophalf of the figure x. The sum of thefour angles on the top of the figure isequal to 180°.
	+++=xy3060180
	Since xis a vertical angle with the 25°angle, then xis also 25°. Use that tosolve for y.
	+++=+==yyy25306018011518065
	63.(D)
	()()()()−=−−⎡⎣⎤⎦=+==xxy299279914923207
	64.(E)Find the missing angle, angle QPT, oftriangle PQT: 
	°−°−°=°180705060
	In parallelogram PQRS, angle QPT iscongruent to angle QRS, so the measureof angle QRS is also 60°.
	65.(D)Break the equations apart to eachequal M:
	===+=MNMPMQMR3457
	Pick a number to substitute into theequations, and solve the equations to findthe values of M,N,,PQ,andR.Let M=2. Since all the equations areequal to 2, substitute 2 to find eachvariable.
	=======+=+−====MNNNMPPPMQQQMRRR323234248525372714
	Variable Rhas the greatest value.
	66.(F)The total number of desserts ordered
	is
	 +++=42234748160.
	The probability that ice cream was chosen
	is 
	.==4816031030%
	67.(C)Set up an inequality to comparethe costs:
	≤≤xx0.1510.5070
	Therefore, 70 individual sheets of paperwould cost $10.50, so 69 is the greatestnumber of individual sheets of paper thatMacie can buy that would be lessexpensive than the package.
	68.(F)7:00 p.m. is 6 hours after 1:00 p.m.Calculate the number of degrees thetemperature dropped in 6 hours:
	×=3618
	degrees. Subtract that fromthe starting point (8 degrees) to find the
	solution:
	 −=−81810
	degrees.
	69.(D)The ratio of red to blue to green is15:7:3. Find the proportion of bluemarbles. Add the numbers of the ratio anduse the total sum as the denominator:
	71573725++=
	. 
	Find the proportion ofgreen marbles: 
	325
	.
	Since there are a total of 75 marbles, thenumber of blue marbles is 
	×7257521=
	.
	The number of green marbles is
	×=325759.
	The number of red marbles is
	−−=7521945
	. If 2 blue marbles areremoved and replaced with 2 greenmarbles, the number of blue marbles isnow 19 and the number of green marblesis now 11. The ratio of red marbles togreen marbles is 45:11.
	70.(G)Set up a proportion:
	==xx416396961,248
	b=x13undles
	71.(C)Since 18 and 24 are both multiples of6, find the least common multiple of only18 and 24.Multiples of 18: 18, 36, 54, 72…Multiples of 24: 24, 48, 72…The least common multiple of 6, 18, and24 is 72.
	72.(F)Let xbe the number of dozens ofeggs for 300 customers. Set up aproportion:
	===xxx30015200200450022.5dozen eggs.
	Round up to 23 because you can'tpurchase half an egg.
	73.(C)The total number of bottles of juice in
	the cooler is
	.++=53614
	The number of bottles of juice that are notapple juice (grape juice and orange juice)
	is 
	.+=369
	So the probability is 
	.914
	74.(H)The radius of the large plate is 20 cm.Use 20 cm to find the area of the largeplate:
	()=π=π=πAr20400sqcm22
	The circumference of the smaller plate is20πcm. Use that to find the radius, andthen the area, of the smaller plate:
	()=ππ=π==π==πCrrAr22021010100sqcm2
	Subtract the area of the small plate fromthe area of the large plate:
	π−π=π400100300sqcm
	75.(D)The question says that an equalnumber (x) of each type of page spacewas purchased. To find the number ofeach type of page space that waspurchased, multiply the price per type byxand set it equal to the total amountspent, then solve for x:
	++===xxxxx20035060011,5001,50011,50010
	The store purchased 10 units of each typeof page space. To find the total amount ofpage space purchased, multiply each typeof page space by 10, and add:
	()×⎛⎝⎜⎞⎠⎟+×⎛⎝⎜⎞⎠⎟+×=1014page1012page101page1712pages
	76.(F)Solve the inequality for x.
	+≤≤≤xxx389238428
	The positiveodd numbers less than 28are 1, 3, 5, ..., 25, and 27. There are 14of them.
	77.(A)Substitute 3 for yand solve for x:
	====yxxxx36436341243
	78.(H)Since
	 =XY20cm
	,
	use that tofind 
	YZ
	:
	()====+=+=YZ35XY352012cmXZXYYZ201232cm
	79.(C)Calculate the cost of the cloth beforetax:
	×=×=1348748$14
	Find the tax for $14 worth of cloth:
	×=×=148%148100$1.12
	Add the cost of the fabric and the tax:
	+=$14$1.12$15.12
	80.(F)To find M, subtract
	−NM
	and set itequal to the length:
	−=−=−−=−−==−113M556M556113M556126M436M412
	81.(B)Add the four values in the ratio
	()+++=1771274200
	and use the sum
	as the denominator. Use that to find thefraction of zinc in one of the coins. Thenreduce the fraction:
	=12200350
	Multiply this fraction by 8 to find thenumber of grams of zinc in decimal form:
	×==350824500.48g
	82.(G)Jack scored a mean of 15 points pergame in each of the first 3 games, so heearned a total of 45 points for the first 3games. Use that information to calculatethe mean over the four games:
	+==4527472418
	83.(B)Find the number of liters that need tobe added. Since
	 13
	of the oil drum is full,
	23
	of the drum remains empty:
	liters.×=234,3202,880
	Use the conversion 1kL=1,000Lto find
	the number of kL:
	=2,8801,0002.88kL
	84.(F)To find out how old Nicole was 5 yearsago, find out how old Nicole and Carmenare now.Let N= Nicole’s age now.Let C= Carmen’s age now.
	C+ 2 = 17
	N= 3C
	N= 3(15) = 45 
	(Nicole’s age now)
	N- 5 = 45 - 5 = 40 
	(Nicole’s age 5
	years ago)
	85.(C)Let xbe the original amount of thechemical. It loses 20% after each week,which means 80% of the chemicalremains at the end of each week. End offirst week: 0.80xAt the end of the second week, 80% ofthe amount left at the end of the firstweek remains.End of second week:
	or 64%()=xx0.800.800.64
	86.(G)One more than an odd integer mustbe even.
	One more than
	 −w1
	is 
	w, therefore w
	must be even. Two times an even integermust be even, therefore 2wis even. Aneven integer decreased by 2 must beeven.
	Therefore,
	−w22
	must be even.
	87.(B)Find the least common multiple of 2,3, and 4 — which is 12. So, it takes 12minutes before all three are back at thestarting line. Ann completes 1 lap every 2minutes, so in 12 minutes she hascompleted 6 laps.
	88.(F)
	()()−−−=−−+=−xxxxx4735281252311
	89.(D)Add the number of students for eachcategory to find out how many totalstudents were in the survey:
	+++=12167540
	The number of students who had at least2 pets are the ones who have 2 pets (7)plus the ones who have 3 or more (5).The total number of students with at least
	2 pets is: 
	+=7512
	The probability of a student in the survey
	having at least two pets is:
	=1240310
	90.(E)Let xbe the total number of litersthe container can hold.
	+=+=nxnx1060%and1675%
	Solve each equation for x:Equation 1:
	()+=+==+=+nxnxxnxn1060100103535105503
	Equation 2:
	+=+==+=+nxnxxnxn1675100163434(16)4643
	Now, set the two equations equal to eachother and solve for n.
	+=++=++==nnnnnn55034643550464506414 liters
	91.(B)
	()()+++=+++=+++=xxx539151031091105,00030911005,039.013232
	92.(E)The length of one side of the square is
	6 cm.Since R, S, and T are midpoints,
	then 
	TM,MR, RN,andNS
	are all equal to3 cm.Triangles TMR and RNS are bothright triangles, so the area of one of thetriangles is 
	××=123392
	. The trianglesare congruent, so the sum of the areas is
	+=92929sq cm
	.
	93.(D)Let xbe the amount spent onplanned expense in one year:
	()===xx29.600585829,60018,500
	94.(G)Figure out how many differenttopping pairs are possible. Use 1, 2, 3, 4,5, 6, 7 to represent the toppings andcreate a list of possible pairs:
	1,2; 1,3; 1,4; 1,5; 1,6; 1,72,3; 2,4; 2,5; 2,6; 2,73,4; 3,5; 3,6; 3,74,5; 4,6; 4,75,6; 5,76,7
	So there are 21 different toppingcombinations for one pizza.
	Since there are 3 pizza sizes, multiply thetotal number of combinations by 3 to getthe total number of different pizzas Codycan create: 
	×=32163
	.
	95.(D)To find by what percent the numberof families with 1 cat is greater than thenumber of families with 2 cats, calculatethe difference between the two numbersand divide by the number of families with2 cats:
	or 20%.−===423535735150.20
	96.(H)One side of the square base is 3 ftlong. Since the height of the box is 3times the length, then the height is
	×=339ft
	.
	The volume of a rectangularprism is length 
	×
	height 
	×
	width. Thevolume of the wooden box is:
	=××=V33981cu ft.
	97.(B)Calculate each mean speed:
	====RS65513kph72418kph
	Then calculate the difference of bothmean speeds:
	−=−=SR1835kph
	98.(G)
	 0–2–3–1123PQRS
	Find the midpoint of PQ and RS:
	Midpoint of 
	.()=−−−==PQ132221unit
	The midpoint of PQ is located 1 unit fromeach endpoint, so the midpoint is at 
	−2
	.
	Midpoint of 
	.=−==RS202221unit
	The midpoint of RS is located 1 unit fromeach endpoint, so the midpoint is at 1.The distance between the two midpoints is
	.()−−=123 units
	99.(D)If 1 L = 1,000 cu cm, then 1 L =1,000 mL. Set up a proportion, lettingx= the amount of cubic millimeters in1,000 cubic centimeters.
	=x1,000cu mm1Lcu mm1,000cu mm
	Solve for x: 1,000,000 cubic millimetersare in 1,000 cubic centimeters.
	100.(E)Both x+1and y+2are radii (eachis a radius). So, set them equal to eachother and solve for y.
	+=+=−yxyx211
	101.(C)There are 5 sections between M andT. To find the length of one of thesesections, find the distance between M andT and divide by 5:
	−−⎛⎝⎜⎞⎠⎟⎛⎝⎜⎞⎠⎟÷=+⎛⎝⎜⎞⎠⎟÷=÷=×=58145158285178517815740
	R is 3 sections away from M, so add:
	−+⎛⎝⎜⎞⎠⎟=−+=143740104021401140
	R is located at
	 1140
	.
	102.(H)Let xbe the number of minutes Phanused his internet service in the month.Phan’s monthly charges were 18+0.024x.Since Deion’s charges were the same asPhan’s, set the expression equal to 30 andsolve for x:
	+===xxx180.024300.02412500
	Phan used his service for 500 minutes.
	103.(C)The height of the triangle is 4 units.The length of the base is 
	nm−
	.So thearea is
	()()()=−=−Anmnm1242.
	104.(E)
	=0.066100
	. 
	Simplify the fraction to
	find the answer
	==x6100350so,3.
	105.(B)Create a chart using the giveninformation and use subtraction to figureout how many cars are not red anddo nothave a back-up camera:
	 
	 
	 
	Red
	Not Red
	TOTAL

	Back-upCamera
	Back-upCamera
	4
	6(10-4)
	10

	No back-upCamera
	No back-upCamera
	32(38-6)

	TOTAL
	TOTAL
	12
	38(50-12)
	50


	The probability of selecting a car thatmeet both conditions from the total of 50cars at the dealership is:
	=32501625.
	106.(F)The total number of cards in the boxis 
	++++=8654124
	. Set up aproportion to figure out which card hasexactly a 1 in 4 chance of being picked atrandom. 
	=x2414
	or 
	=x6
	. The dog cardhas a 1 in 4 chance of being randomlyselected.
	107.(C)Separate the compound inequalityinto two pieces:
	−≤≤+xyyx22 and410
	Substitute
	=y1
	into each inequality andsolve for 
	x
	:
	−≤≤≤≤+−≤−≤xxxxxx221233214109494
	The solution is the number line that shows
	that xis greater than or equal to
	−214
	and less than or equal to
	112
	.
	108.(G)
	pppp142172171421989821143()=====
	109.(A)The total number of balls in the box is
	++=7142142.
	The probability that the ball is black is
	=74216.
	110.(G)None of the 80 students 
	(800−720
	)who answered “no” to Question A
	(800−720
	)could have answered “yes” toboth questions. Therefore, the leastpossible number of students who couldhave answered “yes” to both questions,can be found by subtracting the 80 whoanswered “no” to Question A from the 640who answered “yes” to Question B or
	.−=64080560
	111.(A)Raoul is at least 3 years older thanVahn, which can be written as:
	≥+rv3.
	Rewrite this inequality to match theanswer options:
	−≥rv3
	112.(F)Since 5.6 ricks and 12.88 dalts areboth equal to 1 sind, then 5.6 ricks =12.88 dalts. To calculate the number ofdalts (d) in 1 rick, set up a proportion:
	===ddd5.612.8815.612.882.3
	113.(D)The shelf, when full, holds 36cans. When the shelf is half full, itholds 18 cans.
	−==xx41822
	114.(G)The probability of the cup landingon its side is 72%. Carlos tossed thecup a total of 200 times (50 + 150).The number of times the cup lands onits side is 72% of 200:
	×=0.72200144
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